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Topic:- Child Development & Pedagogy (CDP)

1) The full form of SEN is ./ SENSIQI®ET___ Rl

1. Special emotional negotiation / {-I\CI-‘%IG QH\I-‘{HQ’i ﬁ"ﬁﬁl@q
2. Social education needs / HIRIE TIHRH 189

3. Special educational needs / TR TIHRA 1gd
4. Special and exceptional needs / WA 3R TRIRAT Hgd

Correct Answer :-

+ Special educational needs / TE TIH I A1gd

2) The need for child-centered education has increased mainly because: [ qA-Piad Rrem &t
AT H AT Y2Ia: e F1RU1 | 9¢ T/ &:

1. Parents have no time for their children. / ATAT-TOdT o U 3 S & %q qHg :IBQT % [
2. Parents are less qualified. / AT fdr o9 T §
3. Teachers have better qualification. / fRrerepi i aB'FF{ tﬁ"'ﬂ?ﬂ% |

4. Teachers are more equipped to deal with overall development. / fRrefen ET'{UT faera & fere

3fe G Bl

Correct Answer :-

« Teachers are more equipped to deal with overall development. / fT&/% Wﬁm & fam
3 IS B

3) People who are categorized on the basis of economic condition are known as belonging to

a particular fﬁ@ﬁﬂﬁﬁ%%éﬂmﬂmmm%ﬁ
TE R @ e = & S e 2

1. Ethnic group / T qa
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2. Religion / e
3. Class/ an
4. Caste / SIITdl

Correct Answer :-

+ Class/ an

4) Perception of a particular method of teaching is different among learners because: /

fR1er0r 1 ve faRiy vy @Y aon Rrenfiat & i firs @ w4@ife
1. they do not want to learn. /a@@:ﬂq—ﬁpﬁﬂéﬁ%l
2. they don’t like the topic. fa%ﬁwaﬁm%‘l%l

3. perception is dependent on the environment learners are accustomed to. / eRo fRemfa &

iR R R 8, o ot B
4, some of them do not like the teacher. / G_*Iﬁﬁ@ﬁ&@ aﬁm:@ffﬂﬁgl

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / YIRUI Rrenfay &

TfeRor R AR 8, e ol 7

5) What is the primary change that occurs during puberty? / e & SR g are

TR uRad FaT 82
1. Psychological maturity / T aRuwar
2. Social maturity / SIS gy dr

3. Cognitive maturity / TS gRuehdr
4, Sexual maturity / I gRgedr

Correct Answer :-

« Sexual maturity / 1 gRgesd

6) At what age does the newborn recognize the mother’s voice? / & SUH qﬂ\“!l'l?l’ﬁl’-‘l_] ar
D1 AT B UGl 82

1. At birth / S 9
2. At three months / A I@ﬁ R
3. At six months / : 'J:I%:ﬁ R
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4. At nine months / 71 ﬂ’ﬁgﬁ W

Correct Answer :-

« Atbirth/SFH Y

7) Who was a development theorist of the mid-twentieth century who is best known for his
specific and detailed theory of children’s moral development? / Sl ATt & A W Th
fawTa RigiaeR @17 4T ) 9= & Afae foera & s ARy o foga Risia &
fore w7 T 82

1. Lawrence Kohlberg / ¢ Ng Eﬁ’(ﬁﬁ"’f
2. Vygotsky / El'l%"'ﬁ?\‘?fvnf
3. Piaget/ oS

4. Erikson / Eﬁﬁq

Correct Answer ;-

« Lawrence Kohlberg / ﬁﬁﬂfﬁfﬁﬁﬂf

8) Who proposed the “Law of Effect”? / fra= wuTa &1 fFram wfaufea fam?
1. Sternberg / e

2. Fromm / 19

3. Thorndike / ZITT‘TEW
4, Bandura / ET“@QT

Correct Answer ;-

. Thorndike / YTES®H

9) Who developed the first intelligence test? / Wg@'ﬁ?ﬂ geor (a'\‘f) fPua faefa
foan

1. Binet and Vernon / fSFie 3iR o+

2. Binet and Simon / fSFe 3R RH

3. Goddard and Terman / ST 3R HA

4, Goddard and Wechsler / TETS 3R JaweR

Correct Answer :-

+ Binet and Simon ACER 3-?]? R
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10) Preprimary education in India carried out through Anganwadi Centres falls under the

./ YRA H SAFArS! Sl & a1y I < S aral yd-urd i fRram
& fafa St 71
1. Ministry of Social Justice and Empowerment / TS =Ry SIR SifreBTReT Harerg
2. Ministry of Health and Family Welfare / TR 3R URAR om0l HTerd
3. Ministry of Women and Child Development / Tfgen 3R a1a fawr Harera

4. Ministry of Human Resource Development / FTd H1EH o HaTer

Correct Answer :-

« Ministry of Women and Child Development / Il'f%?ﬂ 3R 919 fyera daer
11) Critical thinking is an aspect of: / g1 fia= frH= &1 t& g &:

1. Bias / U&MId

2. Reasoning / ab

3. Belief / faymg

4, Emotion / HIGT

Correct Answer :~

+ Reasoning / dd

12) The judgement of the quality of teaching depends on: / FRrgror ﬂ’ﬁﬁ“ﬁ?ﬂ &1 fAvig
A w ik s s:

1. Developing a relationship / Haell ol fdepd P IR

2. Attainment of information / STHHR] &1 UGl TR

3. Discipline / 3R UR

4, Overall development of student / BE & 9 fap )

Correct Answer :-

« Overall development of student / BE & Y fap W)

13) The abbreviated term ADHD denotes: / Hf&I XTeG ADHD ('E-!Tiﬁ'[ﬁéi') ﬁ'FFI HI gt
&

1. Attention Deficit Hypersensitivity Disorder / &I 3{HId SffraeTRied fdaR
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2. Attention Deficit Hyperactivity Disorder / €T 3{HIq Tfehadm fapR
3. Active Deficit Hyperactivity Disorder / febd 31HTd Tfehae fdpR
4. Aggression Deficit Hyperactivity Disorder/ {TshTH& I UTd HAfehadl fdwpR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder / €I 3{HTd Ffehadl fddpR

14) Which one of the following is not an internal factor of attention? / Frafafea & 3«
ST (AU DT TD AP BRD 81 82

1. Interest / &<
2. Intensity / diigdn

3. Mind set / Ud YRUT (AZS ¥T)
4. Motives / URTT

Correct Answer :-

. Intensity / digdn

15) Which of the following factors did Kohlberg focus on in his theory of morality? /

Flgaatt AU+ Afaepar & Rigia § Fafafes sre! ¥ 9 g R wm= Sfga feane
1. Family influences / URAR UYd
2. Cognitive development / SITHIH® fawra

3. Culture / H@ﬁl

4, Gender differences H%FT 'ﬂE

Correct Answer :-

« Cognitive development / §3HT&® fawmra

16) Which of the following is not an objective of Continuous and Comprehensive

Evaluation? / FAafafd & 3 o1 Wdd Ud o0us Teuid- &7 3e%4 81 82
1. Plan teaching-learning situations. / FRreror_ iRy RUfIDY &1 AierT daR & |

2. Communicate the child’s progress to different stakeholders. / S &1 Ut &) fafie Raure!
EIEGIEIN

3. Map changes in the child’s learning and development. / T2 & T 3R fowr & ufkadHl
T AH{E ST |
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4. Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfdai & 79 4

A U] AT, 1 d SEaR USRi— B gb |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfiai & w= o

Y U] AT, AP d J8R Ue=H HR o |

17) Which of the following is not a risk factor for drug use that is directly attributed to
parents? /

Frafafaa # @ o9 a1 571 ST & fore Sifey $R® A1 & forae fore ardr-fiar wwer
U F ITRGRI SR W12

1. Childhood negligence / STeIARIT ATIRATR]
2. Abuse / Qﬁ'j-aﬁ'l'{

3. Peer rejection / Wﬂ'ﬂﬁ 3[BT

4, Genetic inheritance / 3‘“33'@15 favra

Correct Answer :-

+ Peer rejection / ﬂ%ﬁaﬁm

18) A child realizes that a four-legged animal that neighs cannot fit into her existing schema
of ‘dog’. What process will she undertake to fit this new information into her schemas? / T

= & 714 81T @ fp IR W aran siFa, St & fR=feman €, o & diser emer o
fibe €1 8t HpdT 81 SH T8 TFPRI P! 5H AMTPR H fibe B P g a8 o1 ot ufshan
SUTTI?

1. Disequilibration / SR
2. Accommodation / FHTIS
3. Assimilation / {THHTd

4, Homeostasis / FHRfA

Correct Answer :=-

+ Accommodation / ﬂtsz:hﬁFf

19) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the
Kannada exam he wrote yesterday. What is this phenomenon known as? / waﬁaﬁ STl

P gdien & fore are ford 1A il ereRt & VR 341 39S gRT od e T oS
TIIEHT & PRI BIS AT &1 5H U1 BI 59 ATH | |1 SIdr 82

1. Retroactive interference / t‘[';ﬂ'ﬂ@ SRIY
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2. Retrograde interference / UfCRTIHT A=Y
3. Anterograde interference / SERTHT AR
4. Proactive interference / 3‘@?@ JARY

Correct Answer :-

« Proactive interference / G@T—IH@ JARAY

20) According to Vygotsky, child’s language and thought develop . | aRATEDT
F IR, I I UT9T 3R fa=R faw i ovd B

1. independently of each other, then merge / Th @i‘ T WGa7 gl 91 T U T Jiyfera g
ik

2. independently of each other / Uy @i’ Y WA
3. universally across the culture / It ﬂﬂ?ﬁf&ﬁ R I Y

4. together as child grows / =8 & fd®T™ & a1y

Correct Answer :-

« independently of each other, then merge / Uh g{-ﬁ RESRE E\ION a'l'c{ff MU H ?Iﬁilﬁﬁ_sbl
o

21) Parents who have a lot of rules but support their children to follow the rules, are
adhering to ./ it Aral-fuar 9gq 9 w9919 € Afed o =il B e @1 ure e
»RUTEma e e T STV Hd 2 |

1. Uninvolved Parenting / 3/ &% UreH-uTyor

2. Permissive Parenting / Gﬂﬁlﬁ UTe=-UIyor

3. Authoritative Parenting / 3TIBIRD IaH-gIyor (a{uTﬁ%i%a Eﬁ'ﬁ'ﬂ)

4, Authoritarian Parenting / SffIHRarg! TE-TreoT ( YR R3M aiﬁ"'l)

Correct Answer :-

« Authoritative Parenting / 3TN UTeT-UNur (3rifvefea tRfem)

22) is the desire to act and move towardsagoal. / __ S &
3R T TeT P 3R g B g1 711

1. Perseverance / €@ dl

2. Valour / {led
3, Motivation / OO
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4, Grit/ 99

Correct Answer :-

« Motivation / ORUT

23) Which of the following theorists emphasizes the importance of categorization in the

Iaeﬁar%ning process? [ Fafaf@a RigiaeR # @ &9 ifimw $1 uipar ¥ anffezor & vga W R
?

1. Kohler / Elﬁ%?
2. Bandura / SIgT
3. Bruner /@R

4. Pavlov / EERIG]

Correct Answer :-

« Bruner /a:k

24) Problem-based learning in science encourages learners’ scientific habits of mind.
Which of these options best describes some of the guidelines for problem-based

learning?/ fagm & Twwar-amenia fRien, Rranfiay &1 w91 @1 amfae aneal @) Weed Bt
2159 9§ o9 91 e guw-snuaie Rigia dies & $o ez &1 3fa vl srar g2

1. Reading, writing, listening/ Ug+I, fora, g0

2. Thinking up ideas, using multimedia, making variables/ < 1H11Sd] T SN HRp, TR
R fRI 1 gHgl

3. Asking questions, constructing a hypothesis, repeated trials/ W% &1, e TR &1 AT B3I,
IR-ER URI&0T Al

4. Discussions, a fixed number of trials, cooperative learning/ =af, fRf3a Twem & wtemr, ggart fRremr

Correct Answer :-

« Asking questions, constructing a hypothesis, repeated trials/ %% U&T, Udh URae0T &1 0T T,
TR-ER TRI&0T AT

25) The apparatus used for measuring the span of attention is ./ 3@y fagfa
(FH 3w 3ERM) P AT & e wgew fvar M arar Suswor |

1. Tachistoscope / eIy
2. Microscope / m
3. Telescope / %T'ﬂﬂ?ﬁq

4, Epidiascope / @mﬂ
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Correct Answer :-

« Tachistoscope / ReReY

26) Id, ego, superego is put forth by: / TgdH, (€, WTE (JuaM) a1 ¥ A frad grr wifte
IELRICE

1. Maslow / FTE
2. Pavlov / ﬁaﬁﬁa’

3 Jung/TT
4, Freud / /TS

Correct Answer :-

o Freud / hTIUS

27) The Expectancy Theory of motivation states that: / IR0 & fRygia d sgan (]
fo:

1. People are motivated to do things due to external rewards. / TR&R U Sfdd &1 & & forg Uik
g1 5
2. There is a hierarchy of needs in each individual. / T Sfad & SRe<al &1 U USTIHH gial ¢ |

3. There is a desire in a person to become what he is capable of becoming. / fad =fdd & ag &9 &1
TW1 EI1 ¢ off 96 & W W& g

4. Motivation depends on the desirability of the outcome. / 2IfHURUT URUMH 1 3=81 WR 1R Ham 21

Correct Answer :-

« Motivation depends on the desirability of the outcome. / S1fYDRUT TRUMT Ft gwT R ik Fear 81

28) CANCELLED

Who among these psychologists have developed a theory of personality based on 2 dimensions:
introvertion and extrovertion? / ?ﬁ'ﬂ%mﬁﬁﬂ' # | fraa 2 smammt Gm'li@ Gﬁ?ﬂﬁﬁ@ & ATYR WX
=T &1 TP Risia el fear 2:2

1. Sigmund Freud/ e wras

2. Carl Jung/ a'TIF'f'«TT

3. Erich From/ QﬁEU’TfI

4, Hans Eysenck/ %@[ 311313-I$

Correct Answer :-

« Hans Eysenck/ %ﬁ &ﬂm
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29) Teaching in an inclusive classroom is a challenge for teachers and demands

certain . / GuTasht e ® ugr, Rl & e e g @ ok 39 FAifda
pav k) P AT T 2

1. Habits / wafd
2. Talent / A
3. Expertise / Q&fdl

4. Practice / HWTH

Correct Answer :-

« Expertise / G&fdl

30)  is found to be effective at achieving conceptual change. /
DI IS URadT U B3 A TUTS 91 T g

1. Reading textual materials/ UT3 ST S{ETT TUTc!

2. Labs / TAITRITE

3. Discovery learning / fSH®aRT e

4, Detecting an anomaly / ERUIREIREGIRSHIE]

Correct Answer :-

« Detecting an anomaly / faTie 1 g e

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

A group of five persons or things is a --tet.
1. quadr -

2. sex --

3. quint --

4. octa --

Correct Answer ;-

* quint --
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2) Fill in the blank with the correct option in the given sentence:

Australia is the bigg-- island in the world.

1. —iest
2, --est
3. --ier
4, --er

Correct Answer :-

3) Read the passage carefully and answer the question that follows:

Your schooling is truly important in deciding your career. When you are in Class X, you have to face the board
exams. You also have big dreams about what you want to become and do in your life. You then realize that
suddenly you face difficult questions and you have to make decisions. You need to set yourself realistic goals and
plans to achieve those goals.

One of the key decisions to make at this stage is the selection of subjects in Plus Two and later in a college or
university. The simplest approach would be to choose subjects that you like. Do you think that it will work well for
you? It may not, for obvious reasons.

Which of the following is NOT stated in the passage?

1. You must choose a career that will match the subjects you like.

2. Schooling is an important stage in one’s life.

3. Class X students face difficult questions for making decisions about their life.

4. One of the key decisions to make for students is about the choice of subjects.

Correct Answer :-

» You must choose a career that will match the subjects you like.

4) Read the passage carefully and answer the question that follows:

Your schooling is truly important in deciding your career. When you are in Class X, you have to face the board
exams. You also have big dreams about what you want to become and do in your life. You then realize that
suddenly you face difficult questions and you have to make decisions. You need to set yourself realistic goals and
plans to achieve those goals.

One of the key decisions to make at this stage is the selection of subjects in Plus Two and later in a college or
university. The simplest approach would be to choose subjects that you like. Do you think that it will work well for
you? It may not, for obvious reasons.
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What would be the immediate concern of a Class X student?
1. Making parents happy with good results

2. Deciding what subjects to study in college

3. Scoring well in the Board exams

4. Scoring well in Plus Two

Correct Answer -

+ Scoring well in the Board exams

5) Read the passage carefully and answer the question that follows:

Your schooling is truly important in deciding your career. When you are in Class X, you have to face the board
exams. You also have big dreams about what you want to become and do in your life. You then realize that
suddenly you face difficult questions and you have to make decisions. You need to set yourself realistic goals and
plans to achieve those goals.

One of the key decisions to make at this stage is the selection of subjects in Plus Two and later in a college or
university. The simplest approach would be to choose subjects that you like. Do you think that it will work well for
you? It may not, for obvious reasons.

From the passage, we can infer that:

1. Choosing the subjects that one likes may not be the best approach.
2. Students should study even the subjects that they don’t like.

3. Students should choose subjects that they like.

4. Students should choose subjects that they do well in.

Correct Answer :-

» Choosing the subjects that one likes may not be the best approach.

6) Read the passage carefully and answer the question that follows:

Your schooling is truly important in deciding your career. When you are in Class X, you have to face the board
exams. You also have big dreams about what you want to become and do in your life. You then realize that
suddenly you face difficult questions and you have to make decisions. You need to set yourself realistic goals and
plans to achieve those goals.

One of the key decisions to make at this stage is the selection of subjects in Plus Two and later in a college or
university. The simplest approach would be to choose subjects that you like. Do you think that it will work well for
you? It may not, for obvious reasons.
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What is the passage about? Choose the best answer.
1, Passing the Class X Board exams

2. Making choices in one’s life, particularly in studies
3. Choosing subjects in Plus Two

4. Choosing one’s career

Correct Answer -

+ Making choices in one’s life, particularly in studies

7) Read the passage carefully and answer the question that follows:

A striped hyena, which saw death face to face more than a year ago, is slowly limping back to life at the veterinary
unit attached to a Tiger Reserve (TR) in Tamil Nadu. Beaten up by villagers in the last week of October 2017,
when it strayed into their village, the injured hyena was lucky to be spotted by forest field staff on November 4,
2017.

Though they felt that the animal couldn’t be saved, the forest officials alerted the veterinary officer at the Reserve,
He was not ready to give up on the near threatened species. He took it to the veterinary unit the same evening and
the hyena wouldn’t have known that it was going to be the beginning of a second innings in its life.

What is the passage about? Choose the best answer.

1. A veterinary officer who treated wounded hyena

2. A hyena which is a near threatened species

3. A tiger reserve which has a veterinary unit attached to it

4. A severely wounded hyena which was brought back to life

Correct Answer :-

» Aseverely wounded hyena which was brought back to life

8) Read the passage carefully and answer the question that follows:

A striped hyena, which saw death face to face more than a year ago, is slowly limping back to life at the veterinary
unit attached to a Tiger Reserve (TR) in Tamil Nadu. Beaten up by villagers in the last week of October 2017,
when it strayed into their village, the injured hyena was lucky to be spotted by forest field staff on November 4,
2017.

Though they felt that the animal couldn’t be saved, the forest officials alerted the veterinary officer at the Reserve.
He was not ready to give up on the near threatened species. He took it to the veterinary unit the same evening and
the hyena wouldn’t have known that it was going to be the beginning of a second innings in its life.
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How was the hyena seriously wounded?

1. It was shot and wounded by the forest officials.

2. It was attacked by a tiger in the Tiger Reserve.

3. It was operated by a veterinary officer at the Reserve.

4, It was severely beaten up by villagers for straying into their village.

Correct Answer :-
« |t was severely beaten up by villagers for straying into their village.

9) Read the passage carefully and answer the question that follows:

A striped hyena, which saw death face to face more than a year ago, is slowly limping back to life at the veterinary
unit attached to a Tiger Reserve (TR) in Tamil Nadu. Beaten up by villagers in the last week of October 2017,
when it strayed into their village, the injured hyena was lucky to be spotted by forest field staff on November 4,
2017.

Though they felt that the animal couldn’t be saved, the forest officials alerted the veterinary officer at the Reserve.
He was not ready to give up on the near threatened species. He took it to the veterinary unit the same evening and
the hyena wouldn’t have known that it was going to be the beginning of a second innings in its life.

From the passage, we can infer that:

1. The hyena finally died because it saw death.

2. The villagers killed the hyena by beating it up severely.
3. The hyena could not be saved.

4. The hyena was finally saved and it came back to life.

Correct Answer -

+ The hyena was finally saved and it came back to life.

10) Read the passage carefully and answer the question that follows:

A striped hyena, which saw death face to face more than a year ago, is slowly limping back to life at the veterinary
unit attached to a Tiger Reserve (TR) in Tamil Nadu. Beaten up by villagers in the last week of October 2017,
when it strayed into their village, the injured hyena was lucky to be spotted by forest field staff on November 4,
2017.

Though they felt that the animal couldn’t be saved, the forest officials alerted the veterinary officer at the Reserve.
He was not ready to give up on the near threatened species. He took it to the veterinary unit the same evening and
the hyena wouldn’t have known that it was going to be the beginning of a second innings in its life.
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Which of the following is NOT stated in the passage?

1. The hyena was lucky because it was noticed by the forest staff.
2. The veterinary officer did not give up hope of treating the hyena.
3. The striped hyena belongs to a nearly threatened species.

4. The hyena was in coma for nearly eight months.

Correct Answer :-
+ The hyena was in coma for nearly eight months.

11) Choose the appropriate determiner for the sentence given.

The teacher gave of the students a project.
1. any
2. each

3. every

4. much

Cbrrect Aﬁsﬁrer - |
« cach

12) Which of the following options best combines the given sentences?

Tina likes to party. Sam likes to sit at home.

1. Tina likes to party while Sam doesn’t likes to party.
2. Tina likes to party, but Sam likes to sit at home.

3. Tina likes to party and so, Sam likes to sit at home.

4, Tina likes to party as Sam likes to sit at home.

Correct Answer :-

+ Tina likes to party, but Sam likes to sit at home.

13) Choose appropriate articles for the given sentence:

outsourcing is very common in today’s global economy.

1.The..a
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2. A .. the
3. No article required ... no article required

4. No article required ... an

Correct Answer :-

+ No article required ... no article required

14) Choose appropriate articles for the given sentence:

Arjun wants bookshelf in his room. Then he can organize his books and magazines on
bookshelf.

l.a...a
2.a...the
3. the... the

4, no article

Correct Answer :-

15) Choose the appropriate option that rewrites the following sentence in indirect speech:

The hair stylist said to her customer, “You can make statement with your choice of hair style.”
1. The hair stylist said her customer that she can make a statement with her choice of hair style.

2. The hair stylist told her customer you could make a statement with your choice of hair style.

3. The hair stylist told her customer that she could make a statement with her choice of hair style.

4. The hair stylist told her customer that you can make a statement with her choice of hair style.

Correct Answer :-

¢ The hair stylist told her customer that she could make a statement with her choice of hair style.

16) Choose the appropriate option that rewrites the given sentence in its passive voice.

Pollution from cars and factories is contributing to changes in the environment.
1. Changes in environment from pollution from cars and factories are a contribution.

2. Changes in the environment is been contributed by pollution from cars and factories.
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3. Changes in the environment are being contributed by pollution from cars and factories.

4. Pollution from cars and factories is contributed to changes in the environment.

Correct Answer :-

+ Changes in the environment are being contributed by pollution from cars and factories.

17) Choose the appropriate synonym for the highlighted word in the given sentence.
The leader’s hypocrisy was revealed when he did not practice what he had preached.

1. injustice
2. sincerity
3. honesty

4, deception

Correct Answer :-

» deception

18) Choose the appropriate tenses to fill in the blanks in the given sentence:

Look! There a lot of clouds. It soon!

1, have been... will have been raining
2. are... is going to rain
3. is... will be raining

4. is... is raining

Correct Answer :=

« are... is going to rain

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Many scientists believe the ability to multi-task is a myth.
1. fable

2. lie

3. verity

4, legend

Correct Answer :-
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s verity

20) Choose the appropriate conjunction for the given sentence.
He is sick he wants to go to school.

1, that

2. when

3. because

4. yet

Correct Answer :-

21) Choose the appropriate prepositions for the given sentence:

The survival _____ the circus is due to its ability to change ____ the times.
1, of ... with

2. of ... over

3. from ... for

4, with ... in

Correct Answer :-

22) Choose an appropriate modal for the given sentence:

My husband ______ play piano very well because he's a professional pianist.
1. might

2. can

3. shall

4, may

Correct Answer :-
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23) Choose the option that best explains the highlighted expression:

The old lady gave the children an earful for nearly knocking her over.
1. heard

2. lamented

3. spoke harshly

4, listened

Correct Answer :-

+ spoke harshly

24) Choose the most suitable pronoun for the given sentence:
My brother and I love

1. each other

2. each other’s

3. one another

4, one another’s

Correct Answer :-
» each other

25) Read the sentence carefully and choose the option that has an error in it:

I wait both for your cheque and comments in this regard.
1. your cheque and comments

2. | wait both for

3. No error

4. in this regard.

Correct Answer :-

« | wait both for

26) Choose the appropriate tense to fill in the blank in the given sentence:
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How we get back from the fair tomorrow?
1. are

2. will

3. were

4, was

Correct Answer :-
« will

27) Rewrite the following changing the active sentence to passive.

When campus reopens next month they will require labour initially.

1. Labour will being required by them initially when the campus reopen next month.
2. Labour will be required by them initially when the campus reopens next month.
3. Labour will required by them initially when the campus reopen next month.

4. Labour will been required by them initially when the campus reopen next month.
Cbrrect Anﬁvﬁer - .

+ Labour will be required by them initially when the campus reopens next month.
28) Choose the option that substitutes the given phrase appropriately.

Fights between women

1. Cockfight

2. Bullfight

3. Street fight

4, Catfight

Correct Answer :-

« Catfight

29) Choose the right tag:

She dances gracefully, ?

1. isn't she
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2. is she
3. does she

4. doesn't she

Correct Answer :-

» doesn't she

30) Choose the right tag:

Sneha isn’t in trouble, ?
1. can she?

2. isshe?

3. does she?

4, hope not?

Correct Answer :-
* isshe?

Topic:- General Hindi(L2GH)

1) TR Tiia favs & afeh
FTad! Fgdl W g,

T gorept B o @t
SUTl & $O Ped! ol
e W U ard Hraa,
"3d ¥R g g faur,
U YR & T BT

# off 51 Y i gATar 17
M- 95 W61 i,
TeA P WST A W T |
1, onfia, $19 Hax 22
3T Y& I T ST W
i @i oX 1T &t |1
UE Far A @i 7
Y@t §5 32 B A |
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T Y& oI fohor q&l
Tl 3T 9Ol § TSR |
fg, g & Ha saHSHY
IE O1d 998 § 6P |
IV TE1 Y 1 TR T H,
TATAATH FTWR T |
i, arfla, o1 Har 872
JUYH U= $ TGP A1 IS T U FT IR da15:
W=A- Ui’ T AT B-
1.9d

2. U<l

3. fazor

4. 3qu

Correct Answer :-

T oft o1 ) 7fte g 1
M- % e s,
Ted I @STae W ¢ |
ST PP 39 T 31T W
i @i W B At |
U e ) @i §
Tt 35 33 & A |

T [P o fonvor awedt
ot ST uof & TSR |

Page- 22



fog, I & THd sHSHY

€ STd §1g | |A% |

ST XE1 P BT WR a7 H,

PATATYPI PTIWRE |

e, anfid, $19 Wer 32

IUdad TR B UgHY A TR 7T UY BT SuT dargd:
- il P reR s W@ &2

1. BT B

2. TM-TMpR

3.7

4, pefdhR
Correct Answer :-

o ISP

T oft 571 Y 7fie YT 1
M- a8 et e,
Ued I WSl de W & |
e, onfia, ®iF Har 82
ST PP 39 U+ ST W
St @i TR BT et |
UE par A @i #
Tt 35 3 B A |
Tl Y o fopvor ot
at 371 uof | TSR |
fg, g & Ma susH
@ ST 4§ W TR |
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1 TE1 YB BT &R T H,

PATAT P PTWRE |

e, orf, B GR 22

IYY T BT UGHY A T Y T BT IR FaA1gA:
ULH- "I BT WId U BT HIAT {69 U $1 Gids 872
1. 3l

2. AGPR

3, Rl

4, TARRa

Correct Answer :-
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e, s, e R 2
TG T BT UGHT A1 T Y Y BT IR Fa1gA:
W=~ TR e & forg o F § wie-an sfide sfua 32
1. Sgt afet

PREENGIRE|

3. Y-l Jdg

4, B YR 87

Correct Answer -

. PHYRD?

# oft o1 Y 7 g 1
M- ¥ 8T R,
Ued & WeTde W 2 |
g, srfia, $19 Ge &2
TST P& I = ST W
St Wi oR B et |
U Har A @ia
gt 35 S B A |
AT Y e fnwon gt
Tl 3 gof ¥ R |
fg, gt & ia sagar
€ ©Td g8 & T |
Tt 381 I BT TR T 7,
FAITAYH FTWRE |
IR U= B UgdH? A1 I T WY HT IR da153:
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U= UEli¥ & ‘UTed & WS a¢ W 8’ Ufed | MY W5 ‘ured’ &1 o o giar g2
1. FETge

2.7

3. ueft

4, e dryT

Correct Answer :-

. BT I

IUYF U B UGHT A1 D T Y BT 3R 154
- e ® e faemar & Fur 9 361 82

1 guY
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2.9
3. Plc
4, T

Correct Answer :-

IUY U= B Ugd? H1Y IR ¢ 0 $T 36 da1ga:
- TR H S ek e 5 ¥ &1 33 w U 82
1,74

2. %

3. 9%
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4, T

Correct Answer :-

T oft w1 Y 7ira g 1
M- ¥ 8 i,
TCA Y& WSTde W ¢ |
e, orfia, P19 Yar 32
T PP I T+ ST W
S Wid UR BT & |
U Far A @ 7
P! I3 343 & Jelt |
AT PP o fmvor it
ot 31 uof & TSR |
&g, gt & i swsaR
T ITd 98 § T |
Tl 381 Y& BT WX a1 H,
BT A Y HTRE |
i, enfia, $19 Gz 32
IUdE UL B UgH A2 IR T WY BT IR gargd:
TEH- TR H 3TY Rheg afes & ared 32
1. ¢ TR IEA areit

2. 71at

3. Sleit

4. qgb!

Correct Answer :-
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& oft 51 Y 7fta g 1
M-TER 9E 1 e,

A @ @STae W ¢ |

g, enfia, $19 G 82

BT PP 39 U+ ST W

St @i TR BT &t |

U Gar A @ d

ot 3o AR B A |

T [P o fohvon aid

gt 3 uof & B9 |

fibg, gt & id sugHY

€ SiTd ¥g | | |

TS T@1 b B TR I E,

el WY YA BT IR E |

a, enfla, $i9 Hex &2

IUYT RS B UgDY - T T WY BT I% 9a153:
- e 7 3MQ 2req Y 1w ard giar @2
1. T4t

2. RAT

3. dgH
4. 7dd

Correct Answer :-

. Fdl
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10) @R Ma favg & afesit

FTad! Fgdl W g,

foe gt & o @t

IUdl  $O Hedl St

T W TS T[lmd e,

“gd W afe g3 faum,

U AR & W T

# oft 571 3t wire g 1

MR 9% vet e,

T Y& TSTac W § |

1, anfia, B9 Gaz 82

IST F 39 U1 ST W

St @id TR BT &t |

TE par A @i §

T IS 3T & el |

T P oI fevor et

Tl 37 ol § BB |

fg, T & Hd saHSHY

TE WA T | 9w |

ST Y€1 P BT TR I H,

PAITAYD PTRE |

JRIF U P UeH -iId G T ¥ HT IR qaq13:

U~ UG el A @il 7
H! 86 S 8 A1

31 UfSTal BT % F1 3?2

1. Y dTHEd

2. Toh-Yob! are

3. Ufél 1 sreid

4. Faf=mtor

Correct Answer :-
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11) @R Ma favg & afe=it
Fad! Fgdl o g,

foe geret & o Bt

IUdl A O Heal wrdr

€ W TP TaIS Hiae,

“ad TR afe g3 faura,

U AR & W T

# oft 571 1 7 g 1
TM-TTHR 6 Ve e,

T @ @SIAE W ¢ |
i, anfia, 9 G 22
3T P I T ST W

St @id TR BT &t |

T par A @i §

IH I3 S 7 A |

T & oI fevor aet
Jelt ST ol & TEaR |
fg, TP & Hd sAHSHY
TE WA T | WY |

IS TE1 Y P1 &R T 4,
PAITAYD PTRE |
IUYR YIS BT UgHR 19 U T U HT 3R Id134:
A - "Gl 7 D! BT ¥R | HT aredy 572
1. 98 3UAI ¥ fogg T8

2. g Ifid T T

3. 39! ufaen qui g

4,98 IS & foTT AR g2

Correct Answer :-

. g 1fia T @
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Teet g1 R O BT
IUdl & TS Hedl it
¢ W TS T W,
"3 TR ufe g faura,
U YASR & AU B

# oft o1 1 wira AT 1
- 9% I8 e,
TP WSTaE R T |
3T YF 3 T ST W
S @id 9% BT &l |

i par e @la #

Tt 93 33 7 A |
Tl PP o9 o et
Tl 3T 9of & AP |
fog, g1 & Tid SHSHR
€ STd §g | | |
I 351 Y F1 @R T 4,
TATAA YD PTRE |
Tfia, anfid, 1 Yar 82
IUYF TR B UgHR A9 IR T WY BT SO daTgd:
W - Y[ P e TITe 82
1. UGl &I e T

2. Gl R SATUSH IR
3. S foRoT o1 wf ureR
4, IH1 & TH W

Correct Answer :-

. S fHRuT 1 wRf Ut

13) TR ia favg & afeh
Fradt SE ST g,

feat gor@1 HR A B

I A FO Byl At
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€ W TP T e,
"&d A ufe gel v,
3T YR & HUH1 BT
# off w1 B i gATar 1”
M- 9 v R,
Ted & WSTae W § |
i, anfla, B9 Hex 82
BT P I T+ ST W
St Wi UR BT & |
U9 Far A @i §

gt 35 33 B A |

T Y& o9 fepeor gt
gl 3 gl ¥ B |
forg, Yt & Tita IAsHY
3G T4 ¥g § §APR |
I 761 P T TR T,
PATAT TP STWRE |
i, onfia, $19 e 22
IUT YRR B UgHR A1E TR T WY BT IR 9aTgd:
T - ! & M SASH [HH SR A 38 o1 82
1. T & HRUT

2. b & HRU

3, §1g & BRI

4. 38 & HRU

Correct Answer :~

. TR P HRU

14) TSR e favg & afeh
JaTaelt ggedt oIt g,

Tt gor@T HR a1+

IUal ¥ $© Fgdl At

< IR T e e,

“ad W afe g3 fawma,
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3T YR & U1 BT
# off w1 Y e gATar 17
M- 7§ T8 s,
T [P TSTaE W ¢ |
i, anfta, ®i9 Gz 872
BT PP I T ST W
S Eid oX BT &t |1
UG par e @id §
Yot 85 3 & A |
T} o9 fepvor gt
Fell ST o & TSR |
frg, I@! & Tfia IasHY
€ STd g | | |
[ Y81 @ BT @R I F,
AT IPI PTWE |
ia, orfia, B9 Hax 872
I T B UGHT A9 T T Y BT IR GAZA:
TR ATd BI- T AT GredT 82
1. TAsR & Ul & Titd
2. W & Tta

3, Yol & Tid

4, fopzort & 7iia

Correct Answer :-
. IR & qUH| & T
15) MR i favg & afest
W el &l €,

e gamr R AR Bt

IUAl A O Hedl At

€ W TP TS Hil,

“3q R afe g3 e,
AU YASR & UAI BT

# oft o1 Y wive AT 1
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TM-TTHR TE T6 e,

e & TSTaE W ¢ |

i, anfld, B9 Hax &2

o1 P IH T+ ST W

S Eid oX 1T &t |1

T par A @i &

T IS 3T & el |

T PP o Fhor aRielt

el ST Ul § TS |

g, I & Ha saSHY

@ ST g | §HR |

ST Y€1 P B TR I H,

PAITAYH FTRE |

1, anfta, B Gex &2

SUYE TR BT UgHT Y IR T Uy BT 37X a5
- It 98d gU SUdl § Tl $O Ded! Wl 82
1. Fg H¥E & forg

2. T §ohl A & g

3. % @al g & forg

4, 70 T & ferw

Correct Answer :-

. T gehl B & forg

16) TR B Telt GUET R Bt AR & 53 F Yo It Fiust F 57 ot § ok gurht & are O=Y gRer
Y giuS & g9 el 8, fhg GRer & exdu A 98 IA AR 81 UTdT| §9 91 $I Ab? §¥ Yeed § Yo
Pt geART Sl 81 SR 3R WRY 9UT 3T @17 IS TR TR U I3 &1 FH ST V IV 3! et
TS [ 98 To-Ted: A1 IR I ISP 3R HSFM T TR F v YT w1 | SO swf 39 ara a i
& R ©1 W 54T §, Wal-UdT 8, SHE e U FFRIR T8 Faddl, JAaid TR Bl GH-FAM & a1
U2 U 1 WY A agiar GUET 1R TR TeR W @ AT JRE R guTh & Hae ) auf @ gee
gt g% 5 IR SuA SraETH SR FEATHT BT ggaT A B FIg 9371 IFA e a1y © fh 59 7% @ B
TATE, TSUTST el a9 P I o Tl (0T | IH T TH | g+t ggarit 8 @ 78, Wiw-ura faRrest
aﬁaiﬁif?m IR YREW U AW T@A M| Siefa: STD SUGT B Akt IST o 747 3R YRer™ Pt v F
T a

T & AR B faiva g7 8 fF v & war i oM & aravg 9 el @ ufasiy a9 & Ry 98
Heal afews gAfato § Ry svar @ safe ag frgen & ward- < $13 9 a1 O 108t B 31 o0 §
A & a9 W TgaT & W1 IR a7 8- “dl gH Ht | e TR a1

UG TR B UGHT 14 T T UY $T IR ga1ga:
V- SR YRGIT ¥ I $eal Per U1

Page- 35



1. G B AUS! & T8 At

2. YA 3T T8 Tl

3. e IRFEH U1l

4. RGN A STl g5 uSt o g it 2

Correct Answer :~

o RGN ST Igar Ul

17) TR Ft Telt GUFT R Bt AR & ST A GRa™ i AUST § 57 Al § SR Ut B AR Wi GRerd
H UL § 7 o1 B, fhg WWer F §aT @ 98 I/ AR & UTd1| 39 T B A6l I geed | gXer
B g gl §1 SIER SR URY TUT 3T AT IUSP ANT W UY I61C € | S U1 A I S+ ey
B3 1% 98 Be-Weds A1l R B IHA 3R HSHM H HIER $1 WE YT ¥l | 38 s9i g ard of At
o YR =9 A 35T 8, Wal-diaT 8, SHP ¥ W AR T8 Fadat, Fafe SR Bl @H-HHAM S e
T2 gU &1 IR) #Y agivar QU w SR TR i 3@ 371 QRO 3R quTht & dae 9t Tl @ qee A
3ol g8 1% WY v A SR FeARdl F1 Igar A7 B WA Jo1l IUA e Iy o fF 59 T@ W B
TTATCI, TSUTET A8l aF P 3 A Tl (0| SH T THS § Fa-i1 ggATHT g o 715, Hivl-HTa fRrest
aﬁmﬁﬁaﬁm IR} YRS U AR 7@ | 3ia: IS SUG! BT deit I3T & 747 3R FRe™ P U §
T M &

W F AT P faiwan g8 & fF vt & war o SR & arayg g i 3 nfawiy a9 & faymr T8
HaT gfewd GAAT0 A YT T 8 SHfere 98 frgen & wara- «Hl HIE I O R S T S a0 S
A & AT | TedT & HId IR ST 8- <dl g9 Y T aRg I’ I

I T BT UGB A YD T WY BT IR JaAT3:
UL YRS B Tedl [$ad Ube gt 82
1. QUi I IR A Y

2. fgen I it I 9
3. SUD| IS H ST A A

Correct Answer :-

. fHgen ol fiuu e ¥

18) Wi & Telt GUTRT MR F1 AR & ST W W 3t FUSt A 57 F1elt 8 3R GUTER B AR WY R
31 ZuSt A g9 a1 ¢, forg JRe™ & T¥dEY | 98 39 UR 81 UTdll 39 9T &I AR R et d GIad
Pt FgATH B T 1 SR 3T AR 9UT 3T T SUP INT W UY IS 1 57 U A I S ety
ES 1 98 Bo-Fed: a1l IR 3 ISP R YseH § SeR 91 v YieT W 39 $uf 59 a1 @t ft
% WRST T91 W 54T &, WAl-UTaT 8, SHE g U PRI T8 e, e SR B WH-FAM & a0
U2 U 1 WY A agivar guIht oz TR FeR W TE@ar ATl JRE SR guTh & Hael @Y wal @ geea #
g+t g5 5 IR o= uu SR ggeTl @1 agan A $t T 3371 IF e aiY ot f5 o9 g [ B
TATET, TS 8] 9 TP I o7 A6} FAS | IY T AT H Fa-11 g g af 78, Wiw-ura faRred
aﬁ@‘s"l’ﬁ_ﬁ?ﬂ?ﬁﬁwwmwﬁw1m:mﬁwﬁmﬁ%ﬁwﬁwaﬂ?waﬁ§h@ﬁ
T A &

ey & I 91 a2 g5 § fF Fivd & war o oM & aravg a8 5t & wfawiy a9 & fayme =&
Beal afews GA-AT # [y Svar @ safee ag frgsn & ward- <ol ®I 9t 9 IR S1uS B 3 T
A & wrara H TgdT & WY SR &A1 ¢- <dl g ot ) v AR a1
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SUYH TR DY UgHR A1 U 7T ¥Y 1 IR qa1sd:
WS- GRe 5w ara o fayr swar un

1. ufa=ny R o |

2. Wl Pl qlea #

3. HUSIH ST A H

4. I Y geen o o

Correct Answer -

. oy TS o= A

19) WY B Telt GUTH IRY B AR & S T JRe™ i St # U Wt & 3 GUrh B AaRa R gRe™
B SISt A g i1l B, fhg YRe™ & swaaT § 98 S9 AR e UTdTl $9 U ®I Ao I Yo § gIad
B ggard gt 81 SR SR R TUT 3 AT 3P AN WX U o1 &1 3 AT § SU Sad! ey
B3 1% 98 Be-Feds A1l R I IHAM 3R HsHM # SHTER 31 e YT T8t | 3 sof 59 ara o it
o IR 91 W 35T 8, WT-UidT 8, SHP U U (RIS e, 9aie SR B WH-HHAM & A
T U 1 WY B Igiar JUET 1R IR ToR W T AT RS AR T F Tl ) a=f @ gee #
gal g5 15 WY S SuHE SR geAndt ®1 gear A7 B WA FoTI IEA i Iy o fF Wa Tw W B
TTTCI, TSUTGT A1 dd dP S A -] [0 | SJ T THIH A Fa-i1 ggATT gt o 78, Hi-HTa faRrest
aﬁﬁr"iﬁ?ﬂ? IR} YREM U AR T@A AT Sica: STP SU! B Aei IST o 747 3R FRe™ Pt v §
ST &M S

e & I 91 fagivar g8 8 fo vt & Sar o o & aravg a8 feefht @ wfa=iy &9 # faym 8
Pl gicw TR § fayr BT 8 3afee a8 figsn & are- <o SIS 9 a9 9% F0S Bt S S
& waTe W TEaT B 1Y IR a7 8- “al g9 ot T arRa aR 99 1

IUYe TR B! UgHT 1Y U U UY BT IR qd183:
U=H- YRS & aRT & wan faiwar 4

1. 98 UAM 37R FeAm 9 SXar il

2. 98 fopadt 1 oft arosit Sio & s <ar |

3. g fopedt & wfcrier &R o faeyr e o

4. I8 R\ T S5t o |

Correct Answer :-

. g ot & ufereney o # faym =1gY owar |

20) Wi T Tt GUFET R Ft AR F 3T A e &1 givs! # 5w et § o Jurht & ar= 9= WRe
F1 ISt § g a1 ¢, fig IR F T T 98 I UR 781 YAl 3 9T B AR N Yoo A GIa
P} T B B1 SR 3R WRY 9UT 3T 9NT ISP AN WX UY I3 & | 5 U1 A I FaN ey
gs 1% 98 Be-Wed A4l TR B SHAH 3R USHH H SHTeR $t e YT vt | 39 swi 39 ara «f &t
% QR ¥ | 54T B, Wiar-gia 8, U 4e¥ W PRI e fawdl, Sefd TR & @E-HHE S A
T2 gU &1 R 3 aghra qurlt w sreR o it vt 311 GReM ok quiiht & Heaul @) Taf @ gee o
ga-t g3 fo5 IRY 3rue 3ruH™ SR gAY &1 ggar an @t A 91| I 76 a1y o [P &9 9w xR Bt
TN, TSUTIT -6l a9 TP IH ° o] FAT | W T HHIS | ga-t gg-rH g1 af 15, Wid-ura favred
ﬁﬂ')"&"f'\%ﬁ"ﬂ? IR} YW T 7o) 7@ @71 Sdad: STP SUG] DY Uit IST & 77 3R YR P vt §
AT TS
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Yo & 9z ot faiuar g5 8 6 Fust & wiar v o= & aragg a8 e 9 ufawny &9 & Ry =381
BT gfcn GATTAT0 # faym Hea ¢ safe a8 frgen & wara. «off $is |l a1E aR FUS! B S @0 &
qi» & TaTa | TedT $ 91y IR 3aT 7- <l g i 9 A R g 1

STG T B UGHR A1 TS T T4 F1 IR Ja133:
Y- GG B R goeer & ) ag-arH gt 22
1. gUFT T diea g

2. QUM & e & S 7 o= J

3. AUSI A ST ¥

4. W 3} g5f & HROT

Correct Answer :-

o Uil W S AU d 3= A

21) WY P} gelt GUET IR A AR F S A W I FuS F fou e B ok urht F) AR Ry JReM
T ZNuSt A g9 W €, g e & 58T | 98 39 UR €1 UTdTl 39 g1 B B ¥ e A GRod
Pt TR ST §1 TRIER SR WY TUT 3T AT ITP TR U WY I & | T9 91 | I ga-11 SHTevant=
g3 % a8 Be-wes: Aa11 IR & IFaH R WsH™ A SeR 9 uge YireT 3§ 39 swf 51 ara @t &
& gRe™ 91 ¥ 54T &, Wrar-dial 8, 3P dg) WR AR A8 srawdt, Safe SR ® WH-suH & ad
U2 BU &1 R T agRar YU 1) Sr1eR Fo ot 3@ 371 R R GURH & daul @1 Tl ¥ geed o
Tl g8 15 IR U9 AUH 3R FEATT F1 9aa A4 @1 Ad 961l SuA TS a1y o fF oa dF W BT
T, TSUTTT Tl 9 dF 34 A T81 e | I/ 1 FHrel A ga-1t ag4Ar! 8 ot 18, Wis-yid favres
ﬁﬁ‘f"%ﬂ? IR} YRS TX 9% 7@ 97| Sida: STS vUa) 31 Uit IoT o 797 3R TR 31 SuS §
T T &

e F T P fawwar gg & fF ot & wan R 91 & aravg 98 it 3 ufomiy a9 & Ry =8
Heal gfep G-I § Iy Svar @ sufee a8 frgen & wara- «off $15 | are 9R SUS! S 3 & §
b & aTd A TeaT b T1Y IR gl 8- <l gf f W aRa IR 9 1

IUYT TR BT TgHR AT T 10 UY $T 3R Id153:

- <ot g9 Wt T A IR TG F DIH-1 YT FADal 82
1. STAIHT

2, &l

3. ST

4,39

Correct Answer :-

. IATHEYN™

22) Wi Ft Telt GUTT IRY B AR F T W Yo o sust F 5w et 3 3R gurht o ara 9= gres
Pt FUSt A I W 7, fhg WRe™ & sI4U | 9% SW AR 81 UTaTl §9 e B dd? ¥ gee A GRa
@1 g gl 81 STeR 3R WY dT 3T AHT IWS AT WX Y IoTd & 1 §9 g | SN ga-il erany
B3 1% 98 Be-Feds A1l R I IHAM 3R HsHM H SR 31 e YT vt | 3 swf 59 ara o ft
o YR =9 @ 5T 8, WaT-giaT 8, P A W FARIRT TE Faha, TP TR FI @H-HAR P A
TS BT A1 IR A agiar JUTT 1= S1eR Ao W T AT RS SR GUTT F Hael 1 Tui @ gee §
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ga1 g8 fb WA S SMUHT iR FIEATHT HT Jgar o DI Wid doT1 I e 9y o b Fa 76 W ot
TATC, TSUTST Aol a9 9P I A Tl (AT | S¥ T THS § Fa-i1 ggrT g ot 718, Wi-HTa fRredt
av‘ra‘sﬁ%a‘m? IR YRR W TR T@A 11 3ia: ITH 3ual B ASH IT & 77 3R e 3 st &
T Em &

W F Ala Fi faRiva g8 & fF vt & wan i 9 & arasg 98 it 3 ufosiy a5 & faymr T8t
Heal afes garafor § fiyme svar 2 sufe 98 fgen & Jard- «off SIS 9 arE R SUS T 3T T S
AP & AT | gedr & 91d IR &l §- <dl g9 WY I aRg IR I )

JULT TR DI UGHR AT UD T T BT ST gargd:
URH- ATA TS GeTav &1 341 3f giar 82

1. 99 ISHI

2. Tfriey o

3. (UG BT

4. STEAT BT

Correct Answer :-

o 3MHIT BT

23) R F1 vt GUTRT 3R 31 IR F =X A W BT SNUST H Y A | R gurh F AR IR W
FI FUS A T A1 2, g W & AT A 98 I UR TE U1 5 9T Bl AP I Jee A JRa™
Pt IR Fiel 31 SHIER SR WRY TUT 3T AT IS TG U WY I &1 59 9T | I ga-11 SATevan=
B8 [ 98 Be-weas Aarl IR 3 ISP SR YsH H SeR 9 v e 3w 39 swf 59 aa ot At
& e =@ 9@ Year 8, Trar-dlar €, 3ud 98 W FREn 76 sradal, seie SR $f OH-$HE & e
TS §U &1 Wi ot agiar Jurht = srmer o o waar 411 GRe ok gunh & deul ot ot ¥ geet &
ga-il g% 1o WY U SrauH 3R agAndt 1 agar aF @1 | 11 I i iy ol fF o 7% W B
FTATT, TSUTST TS 99 9P I = el (| S & JH § ga-11 geAr 8 af 1, Wis-H1d farredt
B dgl A M TR YRS W ToR 3@ a1 3idd: TP Sudl o1 Aelt 33T o 747 3R GRey &1 siudt &
AT TGl

W & 9T i fAgwar g8 § fF Fiudt & wen Ry oM & aravg 98 et & wfemny a9 & Ry =&
Par afew gAf=aio & Ay s § gl ag figsen & gara. <o $1E I a9 9R st &Y e §
b & AT A €edT & WY IR <l 8- “dt g4 o |t 9rg IR {1

IUYa TR BT UGS A U T ¥Y F1 IR 9d153:

- ORI Y aghar § Fr arad 82

1. R P Ig

2. R B iR

3, IR Pt Wt

4, W]} Pt TEat

Correct Answer :-

. Ri 1 eruffi
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W v Gurh A B AR F R A W 1 v § v A @ ok gurh B AR R e B
Ut # g o 2, fbg Yo & 38y & 98 39 AR T8 uranl 39 geHT &) do I goed d qRe ot
FEATH BT & 1 TATER 3R TRY TUT 3 AT SHS TRA TR UY IoTd & | 39 ¥eAT F I Fa-1 STy g3
ﬁ?asly;;wﬁw WY Y IHFHM 3R UgHM A TR B wiRg yYftrept v 1 3/ wf 39 ara &) ft fos
IS o | TgdT ¢, Wrar-diar 8, 3ud W W AR 78 srasdl, safe SRR @) @H-99M & |9 ue
BU &1 WY &) agiar gurht wR SmeR Tor o Tar o471 RN 3R Ul F Fdd) 5 vt ¥ gee o 3ot
Bs 1o WY 39 SUAT SR IR T el O+ & 6Id §aT1 0 M6 Sy o fh 59 9% [ S S,
TSUTEIT 8} 9 TP I 7 181 A1 I/ T FATS § Sa-it aearH1 81 Y TS, HIN-HId for1ed) &) w8l /@
12 W YR TR TR I@A 71 Siad: IS vual Bt Ah SoT & 747 SR TRer™ $1 3t § omr e &

Y™ & i ot faviva g8 § & vt & war iy o & aravg 98 fadt 3 ufo=ity o= & fayre =6t
Hedl gfe QAT H fIyr BT 8 gafe] a8 frgen & ward- <o ®1S At a1 IR SUS! S 3T a0
P & 9aTg W TeaT $ HIY I 3T 8- “al gv +ft W aRa IR 9 1

SRR TIRITR B UG A U T Uy &1 IR Ja133:

- IR1 BI fpw Spaman

1. guTt

2. SR

3. a

4. HIYd

Correct Answer -

« O

25) WY @t et GURH R B AR F X T YW B Fiust A U At § o GUrh @1 IR IRY Grem
) SIUS! # g oI 2, fhq GRae & XaU 9§ 9 SU HR eI UTdT| $H HeHT B aed §Y Heow § 9Rar
Pt FARI Sl §1 SR 3R AR TUT 3T AN IS TR TR U I3 &1 T ST A I g1 et
BS [ 98 Be-Bed? A1l 1R & P 3R HedM # AR 1 v YfieT 78| 38 $wf 59 ara & it
& JRem™ 99 & Ygar 8, Wia-dial 8, SHe J8t R PR 98 Fawdl, Tefd TR B @F-eam & ad
TS BT 1 WY B agiar U 1R TRIER TeR W T ATl RSN R T & Hael Y T=f @ geea #
Zal g 5 WY S SuHT SR geAdt ®1 ggar A @ 9 FoTI I9A i Iy o fr Wa Tw W B
TTATT, TSUTGIT Al a6 9P I oA -] [0 | SF T THIS H Fa-i agATHT g o 718, Hiw-HTa faRrest
aﬁw"i&%ﬂ? IR YREH U A9 TE@A M| Sia: STP SUG! B A IST o 747 3R FRe™ P oS §
3T & &

e & A 9 fagiva g8 & % vkt & war R M & aravg 98 it @ ufawiy a9 # fyr T8t
Frar gfew gaf-aio # fayra srar & gafre ag firgsn & Jare- <t 15 9 a9 9R FUSt S ST T e
A & SaTd H gedr & °Id IR ¢aT 8- «dl g9 Y T aRg aR g9 )

IUYer TR BT UgHR 1 U U UY BT IR TA183:
- MR GRS TR R Aok I@+ T2

1. TReM 9 yforeny o & frg

2. YRENT ¥ 1Y g & fore

3. I9B! gl B & fog

4. 39 Ut & der o1 saferg

Correct Answer :-
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26) Wi P Tt GUTR R Ft AR F T W &1 ggs! # 57wt B oM Jurht &1 ar= 9= qWew
T St F g a1 ¢, fhg IRe™ F FEAY T 98 I AR 781 UTaTl 3 9T B @) ¥ e A GRa™
P gEaTH B 21 STER 3R WY 9T 30 @RT IUP IR W UY T34 81 59 U A I Ta-1t ety
§s % 98 Be-wesms a1l IR 3 IHaH iR WSHH § oeR ot e YfieT 3§ 39 swi 59 aa ot &
% TRe™ 99 ¥ 54T B, WAt 8, 3P T8 W AR T8 Fawdl, e SR B WH-6uE & ara
T2 5T &1 WY B agiar guTht oz sreR e W e o7 JRe ok gyl & Hde Y T=f @ gee #
ga-l §5 1o W 3 U 3R IR BT ggar a4 BI Fd 9811 39 e a1y ot fop o d& P &1

E AT, TSI A8} 99 aP I o -Te] FIeH | IH T FAS § a1t gg-r g af T8, Wd-uTd faRest
aﬁaﬁ%&rﬁ? WY PRI TR TR IWA 11 3 TP Fa) @1 A I3T & 77 3R e Ft it &
ST &M S

W F Tl ot faiwar a5 § fF sivst & war R o & amasyg a8 fasdt & ufo=ny o o fayre =8
Al g YA B AT Pear § gHie ag fAgsn & Hard- <ol $IE 9t a1 aR Ut B 1 a0 g
d & SaTd | Tedr &A1Y IR ol 8- “al g WY T arg IR FHng 1

Iude TR P UG T TS T 7Y BT IR JaTgd:
TA- RN 7 PI- a1 B e Ty ot R

1. QU BT ARA DI

2, STIAT 3R TEATH PT S&aAT A B

3. IREN I AR $I

4, GG B IGATH B Pt

Correct Answer :-

o 3T 3R TEATH BT Fcei o ol

27) Wi Tt el GURR IRY Bt AR & ST ¥ YW o FuSt # R57 ot B ok gurht & arA 8= gres
Pt FNUSt A T AT 7, fhg TR & TIEY | 98 SW AR Tl Ul 59 e B dP? [ Yoo A YR
aﬁmﬁsﬁt%lw W TUT 3 TNT ITP AN TR UY I610 @ | TF g1 A I S+ ey
B3 1% 98 Be-Weds Va1l AR &I IHu 3R HsHM T TR $1 7 YT vt | 3 swf g9 ara o At
o GRE =9 | g1 §, WA-0iaT 8, ST Ae¥ W PRI TE ST dl, SafP TR B @H-HHA $ A
TS U &1 MR Bt agiar GUTH ux S1eR e W 7@ o7 JReM R T F Hael ) T=i @@ geedt §
31 g8 15 WA 3 SuH 3R agAndl F1 agar a7 @1 W JoT1 39 e a1y o fF 59 9@ W B
FATEIT, TSUTCIT &l 99 T I A7 T8t FIeH | I/ T 6t # -1 de-rH g @ 718, Hio-ura faRTedt
a%mﬁﬁé}#nﬂﬁwwmmﬁwmaiaﬂ:w%mﬁaﬂﬁﬁhwﬁwaﬁ?mwaﬁgﬁuﬁﬁ
3T & S

W & ARA P fawan gz 8 6 3t & oan i oF & arasg 9 feedt @ ufasiy a9 & Ry T8
Pl afew gAYy $3a1 € Safie a8 Migen & ard- < B3 O @R aR SUS! B 31 & &
P & waTd  Tear & 1Y IR &aT 8- «<al g7 ff T arg IR g 1>

JU TR BT UGB A9 YD Y WY BT SR qa15:

- YR &1 TS A TUhl & Aeht B9 IaTHe & T

1. gurh

2. SR

3, WY
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4. GZaY

Correct Answer :-

28) AR # Telt QU IR A AR & S | We™ FI U # 5T e B ok urht F) AR IRY e
F1 FUST A gH 41 &, g YRa™ & 538U € 9§ S AR g1 Urd1l §9 U1 &I da) N oo | gRa™
Pt FEARI S F1 SRR SR WY TUT 3T TRT ITS TNT U UY IS &1 TH AT H I Fa! Sty
B3 5 9% Be-wem: a1 IR o Ipa™ 3R yeH™ § SR @t g YfAet w8t 39 sl 59 ard ot <&t
% YR o9 ¥ g1 8, Wial-UidT 8, SHS dg¥ W R 98 gawdl, Faid TR B TH-FHA & ard

7S §U &1 RY 9 agRen Jurt = SR T oft @@ o1 IREr ok gunh & del @ wdl @ gewt A
Zal g5 5 WY U IUWT R FEAN BT dgar 9 B W 9371 WA WS a1y w F o9 a9 g B
AT, TSUTE T 79 F 39 9 781 A I/ o Toe § a1t ge=r &) @t 78, Wiv-ye fRed
ﬁﬁﬁé?ﬂ? IR} YREM TR A9R @A AT Siea: STP oudl B Aol I8T o 77 iR qRard Bt wiust &
3ITT & &

We F IR F1 fagva g8 8 & vt & sen fow o & aravig a8 felt & vfasiy o= & fayr =&t
Fell afews AT # fayra ST § safie g frgen & ward- <ol 1S § arF aR S!S 41 @ g
A & STaT9 § TgdT & 1Y IR GaT - “df g off T 9rg IR qndi

JU TR BT UGHY A4 YD Y T BT IR Ta1ga:

WL - MR BT Uell TRE B ST 7 ) 5T ol 82
1. SeAHl & S W

2. e B FTST H 3T T &

3, ST

4. WHIRF I

Correct Answer :-

¢« RIPIARIRI

29) R $I Ual GHRT BRI BT AR F I F Yo BT U d 5y a1l § o B ARA WY PR
& giraS) 7 g4 e 8, fbg TR & ewady & 98 39 AR 81 UTdT1 §9 g1 Bl dp) §¥ Joed § YRa
P geAnd gl 81 SHIER 3R WY TUT 3T TN IUS TN TR U I3 &1 39 91 A I ga-1 et
£ 5 98 Be-pe® a1 IR &1 IHUM 3R HepM A SR 91 ugE YiieT w6 38 swf g9 ara ot ot
o YR o9 @ 7T 8, WAI-UIdT 8, IHP g U (RIS Farpal, waih SR B WH-HHAM & A
T BT WY B Igiar GUET TR TR ToR W T AT RS R GUTT F Tl Y a=f @ geea #
Za1 g5 5 R o SuH AR geAdt ®1 gear A @ 9 JoTI IEA i Iy o fF Wa dw W B
TTIC, TSUTET Al dd dP S A -] (0| SH T THS H Fa-i1 agATHT g1 ot 718, Hi-HTd faRrest
aﬁmﬁ%ﬁmﬁﬁwwmwﬁamm:mw&aﬁﬁwﬁwsﬁvwaﬁ@u@ﬁ
T & &

e & 9 P faivaT g8 8 fF it & war R M F arasg 9 el @ ufa=iy a9 & Ry T8
PRl gfew g0 A YT ST & gafene a8 figen & 9ara- «W FIS It aRa TR 0SS am S
A & AT ® TedT & HIY IR SaT 8- «dl g9 WY T aRg IR g 1>

UL TR B Ugehs -1 U T U BT 3w gaT8a:

WH- TR H 3T GeTa¥ 176 qie a1 HT Fa7 3 ghar g2

1. Mg o
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2. SEdl ol
3. GHTBIAT
4. ST &A1

Correct Answer :-

. Reg s

30) MY Pt gelt Ut IR} Bt AR & ST A W B U # U ot @ iR gurht B AR R oM
FI Zudt # g9 Wl g, g e & ewaT & 98 39 UR 781 UTdTl 39 9T Bl de ¥ Yo d GRor™
P FEATH Bl 21 STER 3R URY TUT 3T TRT IHSP INT W UY I3 & | 37 TS A IH Za-11 ey
B [ 98 Be-Bess A1 R B IHAM 3R HSHM # SR 1 7@ YfHeT €t | 38 swf g9 ara &t it
o YR B9 | T84T 8, Tial-UiaT 8, ST Te¥ W FR1=N T8l Fasdl, Saih SR $ WH-$HH & A
TS BT 1 WY B agiar GUTT 1R TR e W T AT [REM R guTT & T 3 w6 ¥ geed #
Za g5 5 WY SR U SR ggAndt ®1 ggar A @ 9a JoTI IEA i 9y o fF 5a 7w |
TATT, TSUTET 61 99 P 34 oA -Tal (0| SF T JH H Fa-i1 ag-THT gl o 718, Hiw-HTd faRTest
aﬁﬁr%ﬁﬂ?ﬂﬁwwwa"@ﬁW|m IS S| Bt Aeit IT o AT SR YRe™ B At |
T Em

TN F IR @t faivar g5 3 for vt & wien fow o= & arasyg 9 foedt & wowiy ot # g =&
Har gfep gAHAT § Ry s 8 safie 98 frgen & wara- <o @15 9 aRg IR NSt B ST e 3
A & wiaTd | Tedl & |Id IR gaT 8- «dl g9 WY T aRg IR I 1>

UL TR B UG -9 U T WY BT IvR IaTga:

- U TR &1 3 e 8 Ao g2

1. GHEI BT 4T

2. Ia P qgaadl

3. YRET Bt el

4. TR T ufer=iy

Correct Answer :-

- IRET P HEEH

Topic:- Social Science (SSC)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This
was quoted by: / "T® URGISHT Quf ®U | Ut Iexaqul wfafafyr it 8, st ve wrnfire araravor
3 FGelt 71" U8 $ GRT Sy T T Um:

1. William Kilpatrick / faferad fraufes

2. John Dewey / Sii Siat

3. John V. Michael / 59 df. AB®A

4. Stevenson / ¥ia=g=
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Correct Answer :-

« William Kilpatrick / faferam fatfes

2) Constructivism as new philosophical approach for curriculum designing focuses on: [ UIGUshH

e & R Tv enife cRev F sud WRaaEe W oF $id s 2
1. Intrinsic motivation of the subject/ f[AWT &t 3fidep ffHURON

2. Delayed punitive mechanism / [dei[eid S8T&e YOIl

3. Extrinsic motivation of the learner / Ri&ff &1 arer siftmRon

4, Immediate reinforcements / depTel HET'.%WUT

Correct Answer :-

« Intrinsic motivation of the subject/ {dwT @ 3iaR® RO

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing
students an authentic, real-world context for learning? / P 9T 3iftn™, 3id:fwy § ofiv wfpy,
B-FE R A R e S Fwar g, e ol #i Wiew & R e umitne, arafas gl
wef wer frar wrar 82

1. Experimental / IR
2. Curriculum Based / TTGUSHH 3TN
3. Project Based / RIS TR SR

4. Rote Learning / Y0 SHfERTH

Correct Answer :-

« Project Based / URAISHT TR SfTETRT

4) Which among the following is an example for institutional credit? / oA I s
TRINTd §RT & feT T IETevor 82

1. Moneylenders / HIgP R

2. Primary Agricultural Credit Societies / mufﬁasqu-fﬁrw BSIEIGE
3. Traders / SR

4, Landlords / STHIGR

Correct Answer :-

 Primary Agricultural Credit Societies / mufﬁmqﬁm BIEIGEI

5) Which is not a quality of an evaluation tool? / 1% ¥ & T1 U6 gei® IUSHV B TH Iurawl
TR 8?
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1. Validity / JefaT

2. Practicability / SATdgTR@dl
3. Objectivity / fsgara

4. Subjectivity / TfdduREHdl

Correct Answer :-

« Subjectivity / AfGIUREIT

6) ;
Match the following :
1. Poona Pact A, 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
3. Simon Commission €.1932
4. Gandhi Irwin Pact D.1927

! WFAleiEd &1 AT il

1. 97T FASIAT A. 1925
2. ¢ Tad dad § | B 1931
3, WIgHA AT C. 1932
4, Te-gyTas gAgiar | 01927

1. 1-A,2-B,3-C4-D
2. 1-C,2-A,3-D,4-B
3.1-C,2-A,3-B,4-D
4. 1-D,2-C,3-B,4-A
Correct Answer :-
» 1-C,2-A,3-D4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of

the following? / 331 &1 IgTHI A Udell FHeafer R afaw geaiy U g & A Fa1 wgamnd! §2
1. Lava /94l
2. Locolith / ey

3. Plutonic rock / @% EFEE]
4. Dyke and Sill / ST3% iR R@
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Correct Answer :-
+ Dyke and Sill / 313% 3R i@

8) The method which provides a certain degree of reality and concreteness to a learning
situa%ion is known as: / 98 faf¥r &t erfRrm fRufa &) arafawar ik wyerdr verM $wdl 8, 38 A= Fer
EIGIEGH

1. Lecture-Discussion / TRSH-Tl
2. Field trips / & e
3. Dramatization / FTC®HT FTUTAR

4. Demonstration ;’EIE'R’T:[

Correct Answer -

« Field trips / &3 Gdeq

9) Who among the following started the Home Rule Movement in India? / YRd | 'EﬂTl d

Jigra fraferfaa o & foad gRT 3= favar war ar?
1. Annie Besant / T dde
2. B.R.Ambedkar / &, 3R, 3{TSHT

3. Jawaharlal Nehru / STaT8R &1l 183

4. Subhas Chandra Bose / ﬁﬁ-ﬂﬁfﬁi—@hﬁ

Correct Answer :-

« Annie Besant / THI 8¢

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? / Cap|

TRt Uie a0 A S Aars & el uftar @ arege vad 32
1. Meerabai / ﬁ\'{lﬁ'l'sf

2. Chaitanya / ERE)

3. Tukaram / PRRTH
4. Andal / 3[Gd

Correct Answer :-

+ Meerabai / Iﬂm
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Who was the first surveyor of archaeological Survey of India during British rule? / farfe=r

M & SR HRATT PRI TIEUT BT Ul JI&urddl pi- UT?
1. Alexander Cunningham / Aol Hi-TH

2. James prince / o filg

3. James Fergusson / ST Thig&

4. Dayanand Sahni / GITHG et

Correct Answer :-

+ Alexander Cunningham / Jeidolex HI-aH

12) Who founded the Swaraj Party in 19237 / 1923 H TIRTS UT] B RATHT fHT= 12
1. Motilal Nehru and C. R. Das / Hidl @Ta ﬁ%‘& AR . 3R, T

2. Gandhiji and Jawahar Lal Nehru / Tiefish 8iR SIdlgr olcl 913'5

3. Subhash Chandra Bose / gHTY Tg a1

4, Sarojini Naidu / RIS BRI

Correct Answer :-

« Motilal Nehru and C. R. Das / Bl &Tel "8 3R &I, 3R, a9

13) Who is the exponent of Jurisprudential Inquiry Model? / faftrema Sedh o Alsa &
ufaures S 82

1. Bill Gordon / f&e 7181

2. Richer Suchman / R=R ga#4
3. James Shaver / ST ¥/aR

4. Hilda Taba / &S] drel

Correct Answer :-

« James Shaver / 9= QR

14) Who was first elected to the British House of Commons? / fsife=r Beld3d 3P HIHT B

R wew ued 59 g7 I A

1, Jawahar Lal Nehru / Sldlg¥ did ﬁgg
2. Mahatma Gandhi / H&TeT Tl

3. M. G. Ranade / TH.S. IATS
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4. Dadabhai Naroji / GIGTHTS RISt

e S

+ Dadabhai Naroji / muﬁﬁi’l\‘:ﬁ

15) Capital of Ancient kingdom of Avanti was: / 3l & YT HTHTSg @1 T ot
1. Vallabhi / GeeTHt

2. Pataliputra / ql?ﬁﬂﬁ

3. Vidisa / fafe=m

4. Ujjain / 3ol

Correct Answer :-

- Ujjain / S50

16) For what action in Freedom Movement is Usha Mehta known? / Saa=dT Gﬂﬁ’lﬁﬂ' A fey
H1d P forg Sur Agdr 9 STl 82

1. Participating in Round Table Conference / TMeas TR H W A & fo

2. Running a secret Radio during Quit India Movement / HRRd Eﬁ?ﬁ 3ITEIE & GRH TP Hﬁm
EGIE

3. Captain in Azad Hind Fauz / 3(STTE fég ®iel § W a4 & fag
4, Captain in Indian National Army / HRRI 81 1 F B

Correct Answer :-

« Running a secret Radio during Quit India Movement / HRd Blal 3icled & R TH ﬂﬁm

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? /

AFAGTR Dt URis Afee WIS i didt 7 f5d 92 & Raame as18 a$i?

1. Mughal / HTcl

2. Adilshahis of Bijapur / STolTYR & SMfGa=Ma!

3. Afghan / ST

4. Nizamshahi of Hyderabad / §SRTSTG & [SoTH=ITg!

Correct Answer :-

 Mughal / HITcT
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18) The coin Rupiya was first issued which ruler? / 3UdIl IGESD '\‘l@ﬂ'&!ﬁ' fPg e A
Y faar Ut

1. Humayun / 8919,

2. Babur / &6l

3. Sher Shah / R 8
4. Akbar / Aphe

Correct Answer :-

« Sher Shah / RR T8

19) The cardinal objective of setting up a Social Science laboratory in the school is to: /

e A Wi s waRTITe R 39 &1 TE 3T &

1. Preserve and transmit the art and artifacts to the future generations / el 3R Rreasfadl o1
TRI&d BT 3R ufdsy o1 difed! da ugar

2. Create an artificial environment for recreational activities of students / BT &1 ARG

fopareperdi o forg Ueh PP ardraR v S

3. Extend additional space for group activities and project works IWW 3R gk
BTl o forg Sified ®IF &1

4, Translate the theoretical postulates in to concrete experiences / ﬁar%?ﬁ SRS BT 3
YAl | 3dIg HIAT

Correct Answer :-

« Translate the theoretical postulates in to concrete experiences / Jgifaw sfieromst o1 3
Ml H 3IdIE BT

20) Two or more people learn or attempting to learn something together is known as: / arar

3if¥re N1 U a1y $ WRad & a1 e &1 v #34 §, 39 A ser e g:
1. Learning by observation / 3fadiies1 gRT T

2. Learning by doing / frargeres siferry

3. Collaborative learning / A fed® HfTH

4. Team Teaching / &oi1g fRr&or

Correct Answer :-

« Collaborative learning / d1fg 3fferTH
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21) Which one of the following is not included as a function of Summative Evaluation? /

Fafafes 3 & e qeaied & U o1 & © U H e T8l 82
1. Promoting / TcdTg
2. Selecting / 994
3. Diagnosing /Fem
4. Crediting / 99 &1
COrrectAnswe,- - e
- Diagnosing / FAgH

22) Which of the following is not a basic principle of Project method? / FrufeiEa & & =ur
ufeaiern faft &1 v ga Rigia 781 872

1. Validity / deT

2. Activity / TTfafafer
3. Utility / ST
4. Purpose | e

Correct Answer :-

« Validity / dedl

23) Which of the following is the process of pinpointing the learning difficulty of a learner of
a learned material and to suggest remedial measures? / FofaIf@a # 9 Wiﬂ'@?gﬁaﬁ TP
Rrgmeff Y Wrea F HfETTE &1 L Tar T 3R STARTHS SUTH BT YT 31 BT Uihar g2

1. Projective technique / G&H dd=iid

2. Norm-referenced testing / HI-dh T utemr
3. Diagnostic testing / AT Ttefor

4. Criterion-referenced testing / AIGS HaiHd fafe

Correct Answer :-

« Diagnostic testing / 7&T-d TH&0T

24) Which of following steps is not invelved in Inquiry Method? / W—Wﬁﬁlﬁﬂ'ﬁﬂ'm
TRUT M T 32

1. Encounter with the problem / JH¥T 6T HIHAT HRA]

2. Formulating an explanation / Ud WSO IR HRAT
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3. Data collection and verification / J= TUg 3R FEmT=
4. Classification and consensus / GHfRUT 3R Tl

Correct Answer -

+ Classification and consensus / R0 3R FaGqwAfd

25) Which among the following is not a technique for ensuring reliability of a tool? /

oo o & o fayaeioar & g #3 @ aeie T8 82

1. Odd-even method / T fawe fafy

2. Split-half method / e ffYy (Ruee-gie Aus)

3, Test-retest method / TE1&01 G7.-u & fafey

4. Criterion-referenced method / AFGE Haid A (hIScRE-RbEs AUS)

Correct Answer :-

« Criterion-referenced method / ATFGS Ygfid fafdr (ﬂ?l's?.'ﬁ'qq-ﬁ'qﬁ"{@ ﬁﬂ’s’)

26) Assessing social relationship among members in a social group is termed as:

/ T FTHIRTS THE § TS & Sta ArTfore Hae & e o! A ser srar @:
1. Projective technique / gadt ab-i®

2. Case study / P TS

3. Sociometry / THTSH

4. Observation / {d@IH

Correct Answer :-

« Sociometry / U

27) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 A URa #

TS T I<UTG (Sieruh) T I &1 R forat wfa=ra ur2
1.43%
2.31%
3. 29%

4. 18%

Correct Answer :-

* 29%
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28) Gandhian Plan was advocated by ; /Tl"ﬁﬁa'l'cﬂ 'd"fﬂ:ﬂ_m
ude Fgriiearmaran

1. M. N. Roy / A& X1
2. Jayaprakash Narayan / STOUDTR] ARTIU
3. Narayan Agarwal / TRTIUT AU

4, Jawaharlal Nehru / SIdTg< ¢l :IEH“

Correct Answer :-

o Narayan Agarwal / TRTIU] 3T

29) National Forest Commission was established in the year . RT@T[F SITART ST TITTAT
GL o gg At

1. 2003
2. 2005
3. 2002

4. 2004

Correct Answer :-

« 2003

30) In which clty was the first Automated Teller Machine (ATM) installed? / WYH

fees o AR (Faenferd wore \Rfe) (udiew) fora wrge & wifud &1 e <t
1. Chennai/%lﬁé
2. Delhi / faeeit

3. Calcutta / el

4. Mumbai / Hﬁé
Correct Answer :-

+ Mumbai ﬂ{ﬁé

31) Which of the following factor is not the geography factors influencing population distribution? /

Frafafae A ¥ F9-91 SRS THE faaRor S guifad 34 arar fiid $R® T8l 82

1. Soil / HaT
2. Water / UTH1

3. Climate / SIcfaryg
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4. Industrialization / SEIfiHROT

Correct Answer :-

« Industrialization /Gﬁ?fl"ﬂm

32) FAO stands for /UGBTI E__ Bl

1. Food Aid Organisation / |0 S e m m

2. Food and Agricultural Organisation / [0S TS GiideR &rrfhﬁ@lm
3. Federation for Agricultural Output / e[ BR TUHeR 313 cqgc
4. Federation for Agricultural Off take / Tev=H B TidhedR 3 ¢h

Correct Answer :-

« Food and Agricultural Organisation / TS © W Gﬂf&l'E@I'QH

33) politics is based on the idea that religion is the principal basis of social community. /

 reifa e RER W anuria @ R we ariie wver o1 ue sy R
1. Regional / 8519

2. Communal / SUGIRI®

3. Local / ®ITH1

4. Social / AT

Correct Answer :-

« Communal / TTUSIAH

34) Who said that, ‘As far as the nature of legislature is concerned it is such that there are
restrictions only so far as procedure is concerned. But in substance there are no restrictions, no
limitations on the sovereignty of the legislature or parliament.’ /W Wﬁi CHIGED faenfeT
P uPpfa BT 3aY B, O wfady Faa uferar & weuf A &, Afe arafawar & Ry ar dae #t
HYYAT IR PIg Ulade T8l §, B WA 78 g1

1. Acharya Kripalani / mm

2. Purnima Banerjee / Qﬁﬁ:l'[ el

3. N.V.Gadgil / T3.d1mefa
4. Durgabai Deshmukh / Qﬂh’l’g%ﬁ'ﬂﬂ'@

Correct Answer :-

« N.V.Gadgil / T.81.TMS e
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35) Who can confer civil and military awards on individuals for their services and achievements? /

Jarsn 3R Iuatrl & forg sufdral &) AFR® iR T RIEPR B UeH H IHdl o2
1. President / YU

2. Prime Minister / GUTAHAT

3. Cabinet Minister / Bfa-e HAT

4, Chief Justice / T R

Correct Answer :-

« President / QTE'EIﬁT

36) Who was the first social scientist to make a systematic study of bureaucracy and described it as

rational and the most efficient form of organisation? /mﬁmﬁm 3IAY B dTet 3T
T THET 3R WIS BT HaH HIE FU Id a1 Ugdl ATHID 9711 i A2

1. Karl Marx / ®Te] HToH
2. F. W. Taylor / Uth. S&3, TR

3. F. W. Riggs / U, ¢, R7g
4. Max Weber/ Ho JaR

Correct Answer :-

. Max Weber/ HeRI 9aR

37) Who was the first Chairman of Planning Commission of independent India? / ¥ HRd &

IS TN & UgS Siede HI U2
1. Morarji Desai /Iﬂ?'RTSﬁ aﬂ'ﬁf
2. Lal Bahadur Shastri / SITel §51GR Tl

3. Pandit Jawaharlal Nehru / UfSd SaTexerd "8
4, Dr. Rajendra Prasad / B1. IoI TS
Correct Answer i
« Pandit Jawaharlal Nehru / Gf&d STargRera B
38) Who is the founder of Bhartiya Jana Sangh? / YR SY & HRITTP B 82
1. Gopal Krishna Gokhale / THITd Cal Trad
2. Shivaram Rajguru / RraRm XTSA[S
3. Shyam Prasad Mukherjee / T9TH UdTq W

4. Sukhdev Thapar / ﬂ@%a YR
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Correct Answer :-

+ Shyam Prasad Mukherjec / R0TH TG H@ol

39) Who will officiate as President till the new President is elected in case the office falls vacant and

the Vice-President is not available? /ﬂgtrﬁ’rmhtra?ﬁaasﬁ aﬁ'\'mgtrﬁ'ra?mﬁsﬁ
ot fufa o e wgufa & fraffea 89 7@ wgofa & S d ol ad sy

1. President Secretary / Wﬂﬁa

2. Prime Minister / TYTTHA

3. Executive Secretary / EI?ITEEI'TR& gk
4, Chief Justice / H@W%ﬂm

Correct Answer :-
» Chief Justice / BT L2l

40) The monetary assistance provided by the government for encouraging the production in an

economy ./ IrfeeaT & I D1 UicHIed B & [ TRSR gRIT & TS Hifgs
UG gl

1. Tariffs / RIS (RW)
2. Subsidy / JSTIRTIAT (FioTS!)
3. Quotas / PHIeT

4. Embargo / R gfaa e

Correct Answer :-
« Subsidy / BRI (FoHS])

41) When was the National Rural Livelihood Mission launched? / '\‘T@'ﬂ JTHIOT 3TSitaT = &
= Topar Tar un?

1. 2001
2. 2010
3. 2002
4. 2011
Correct Answer -
« 2011
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“Explain the concept of Forests” — this question helps us to know the achievement of which of the
following objectives? / "I B JAURTIT P1 ARSI Y 1" — e U4 &1 fuferrad A 9 fod Igxa
P IUATR A | HEg PRl 82

1. Skill / I
2. Creating / ST pT
3. Analysis / fazarSoT

4. Understanding / 99

Correct Answer :-

» Understanding / 9

43) The Golden Age of the Guptas is said to be the reign of which ruler among the following? /

e & & 5T e & ME=eTa $I Tl ©1 Wl g T ST 82

1. Skandagupta / W’}H
2. Chandragupta Il / T I
3. Chandragupta I / It |

4, Kumaragupta / @HRIW
Correct Answer :-

« Chandragupta Il / D&t I

44) Who was the founder of the Holkar Dynasty? / HEEEERINCE P HRITUP B A?
1. Bana Misra / STOT fH8r

2. Malhar Rao /[ HegR X4

3. Baji Rao  / &TSit Xd

4. Madhav Peshwa / AT¢/d U@

Correct Answer :-
« Malhar Rao / HeBR 4

45) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India
and Pakistan is located near which among the following? / 110 fraiier ddl arafds Ads uifer=E
TS (TodiTe), St WRe SR uifdear & e wifee ge1 31 8, Frafiiaa 3 & frad free Rad?

1. Shakshgam / R[&TH
2. Siachen Glacier / TR TRER

3. Sir Creek / TR PIH
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4, Srinagar / FTR

Correct Answer :-

« Siachen Glacier / frTRIA T@RRR

46) Which of the following organisations brings out independent reports on the violation of human rights

all over the world? / Fmferfaa # & wi=-a1 Winew ¢t gf~ar & aFaitieRi & Iwee R wWda
e wmar 22

1. UNESCO / - 1%b!
2. Amnesty International / T Se9d
3. International Humanitarian Law / &m@'ﬂ' A4 BT

4. UNDP / guASIdl
Correct Answer :-

« Amnesty International / THET SeHTHd

47) Which of the following is not a type of Urban Local Government? / Fafrfea A s dive
TSR B UG RGP 761 82

1. Zilla Parishad / Toram uRug
2. Notified Area Committee / @mﬁ & |t
3. Cantonment Board / EIERIEIE]

4. Town Area Committee / h¥dl REREIN)
re— (R
+ Zilla Parishad / e ufkwg
48) External criticism is applied in: / STET 3M@EAT___ W @1 &1 WTdl 81
1. Experimental research / URIM® SHUM
2. Quasi experimental research / 31¢f U SIEeA
3. Historical research / g1 srdem™

4. Phenomenological research / ST STHUH

Correct Answer :-

« Historical research / UfQgTRI® SIHY™
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What is not true about Hasan Gangu Bahmani? / 91 TI"IEFFFﬁ F IR | T 9T Hﬁ%’

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole
of Deccan up to the river Krishna with its capital at Gulbarga. / 3711 Id 3Rd MR &
ST BI WSt adh thart T, Foras et & sroeit Toemii & Ty Feon Tt 9 I
Gah FIRTTeId T

2. He was a Turkish officer of Devagiri. / d Sl & Te ol MUBERT A

3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. xsmﬁqaanﬁ,a%mﬂ
U & TR A

4, He founded the empire in 1437. / 3B 1437 H TS &1 RITYAT B |

Correct Answer :-
« He founded the empire in 1437, / 381 1437 H HIHTT &1 RITYA] Bl

50) Which among the following organization is the best example of an agreement between
Oligopolists? / FEfIEa # & PH-w1 WTeA sniieR (@fifermuiftres) & fa e
A BT TG 3T IS8T 62

1. GATT / Siiuciel
2. OPEC / SfIqig it
3. WTO / Ssegdiaft
4. WEF / SsU%

Correct Answer :-

. OPEC / 3iitiist

51) Which one of the following ocean currents does not occur in the Atlantic Ocean? /

Frafafaa # & SH-9 7sTarR 4RT siedifes ATENR d 781 gl 82
1. Peru current / U HRT

2. Canary current / BRI URT

3. Gulf stream / 7% K19

4. Brazil current / SITSTS HRT

Correct Answer -

« Peru current / TR YRT

52) In which State of India is the Ranthambore Tiger Reserve located? / TUT?-N-ﬁ?E'IETR

frord vRa & fPa T A fRE 82

Page- 58



1. Uttar Pradesh / STR U&=

2. Madhya Pradesh / A% oL

3. Himachal Pradesh / [gHTad Ug s
4. Rajasthan / ITSTRITH

Correct Answer :-

« Rajasthan / ST

53) CANCELLED

Which is associated with Sufi Saints? / @I TT '\‘I'?Iﬁ"\‘lﬂjf'\q Hafdd 82
1. Sangha / 99

2. Mandapa / HSUT

3. Synagogue / HIOARTS

4, Kanjah / Gl

Correct Answer :-

« Kanjah/ EEl

54) When is 'National Education Day' celebrated in educational institutions at all levels across the

country? f%ﬂT mﬁmﬂwﬁwﬁ%mﬁﬁ 'W@'ﬂﬁl&l’lﬁﬂ'\q' WH:I'I'CITGI'IT‘!T%?
1. 15" September / 15 RIT¥aR

2. 12" October/ 12 3SR

3. 14" November / 14 FTdeR

4, 11** November / 11 FdsR

Correct Aﬁswer :-

« 11" November/ 11 Ta&R

55) Which among the following is a wildlife trade monitoring network? FPafrf@ad s ar
TS I-Uvilg AR FIRE Aead 82

1. TRAFFIC / ¢f%pe
2. UN-HABITAT / gu-gdiee

3. PETA / UeT
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4. DISS /f&9

Correct Answer :-

« TRAFFIC / ¢theh

56) Which year British transferred the capital of India from Calcutta to Delhi? / fraaf # fafewra
YR D1 AU Fadmr & et wuraiaia o ot

1. 1912
2, 1930
3.1911

4. 1900

Correct Answer :-

« 1911

57) The pointer or arrow of the magnetized needle of a compass indicates which among the

following? / U feIT® (H¥IRT) F gafbd g3 1 gas a1 9k Fafafaa § 3 @
A sare?

1. Geomagnetic North Pole / W FTRI gd
2. Geographic North Pole / HHTifeTeh St gd
3. Magnetic North Pole / ﬂfﬁﬂ'q IRl ¢gd

4. Magnetic South Pole / e 19 GIar0l ¢d

Correct Answer :-

» Magnectic North Pole /W 3T gd

58) Which type of weathering is caused by Ice Crystal growth? / feazai &t '\“I@@ (GRS
forved W) & faer™ & SR fFd PR &1 3ue gidr g2

1. Cavernous Weathering / Ha-g e
2. Biological Weathering / Sifde sruer

3. Chemical Weathering / J-IH® 3{U&d
4, Physical Weathering / ifde Suem

Correct Answer :-

« Physical Weathering / Hifdd 3dem
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59) Bessemer process has been used in which of the following industries? / AR ufepar &1

Iua Frafefa & | fora o o fear mar g2
1, Fertilizers/m

2. Aluminum / Q?ﬂ'ﬁﬂﬁ'qq
3. Steel / SHTd

4, Coal /WT

Correct Answer :-

« Steel / SHId

60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the
following national park/bird sanctuaries? KﬂTﬂaﬁu:faFl, Th quiurd yarit vl Frafafea # 9
fru wgia Sem/ueh srvaRvy o1 Fafie Srig® 82

1. Vedanthangal bird sanctuary / 3GTiTdl G&ft SHaR0G

2. Keoladeo national park / haciiad AP LM
3. Ranganathittu bird sanctuary / SHIYCE U&T SUARTY
4. Sultanpur bird sanctuary / el U&T SHTRTY

Correct Answer :-

» Keoladeo national park / acicd AP I
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PROFESSIONAL
¢ orofassionl EXAMINATION BOARD
@bgé%rrndinotion Middle School Teacher
Eligibility Test - 2018
1st Mar 2019 9:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) The full form of SEN is ./ SENSIQI®ET___ Rl

1. Special emotional negotiation / {-I\CI-‘%IG QH\I-‘{HQ’i ﬁ"ﬁﬁl@q
2. Social education needs / HIRIE TIHRH 189

3. Special educational needs / TR TIHRA 1gd
4. Special and exceptional needs / WA 3R TRIRAT Hgd

Correct Answer :-

+ Special educational needs / TE TIH I A1gd

2) The need for child-centered education has increased mainly because: [ qA-Piad Rrem &t
AT H AT Y2Ia: e F1RU1 | 9¢ T/ &:

1. Parents have no time for their children. / ATAT-TOdT o U 3 S & %q qHg :IBQT % [
2. Parents are less qualified. / AT fdr o9 T §
3. Teachers have better qualification. / fRrerepi i aB'FF{ tﬁ"'ﬂ?ﬂ% |

4. Teachers are more equipped to deal with overall development. / fRrefen ET'{UT faera & fere

3fe G Bl

Correct Answer :-

« Teachers are more equipped to deal with overall development. / fT&/% Wﬁm & fam
3 IS B

3) People who are categorized on the basis of economic condition are known as belonging to

a particular fﬁ@ﬁﬂﬁﬁ%%éﬂmﬂmmm%ﬁ
TE R @ e = & S e 2

1. Ethnic group / T qa
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2. Religion / e
3. Class/ an
4. Caste / SIITdl

Correct Answer :-

+ Class/ an

4) Perception of a particular method of teaching is different among learners because: /

fR1er0r 1 ve faRiy vy @Y aon Rrenfiat & i firs @ w4@ife
1. they do not want to learn. /a@@:ﬂq—ﬁpﬁﬂéﬁ%l
2. they don’t like the topic. fa%ﬁwaﬁm%‘l%l

3. perception is dependent on the environment learners are accustomed to. / eRo fRemfa &

iR R R 8, o ot B
4, some of them do not like the teacher. / G_*Iﬁﬁ@ﬁ&@ aﬁm:@ffﬂﬁgl

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / YIRUI Rrenfay &

TfeRor R AR 8, e ol 7

5) What is the primary change that occurs during puberty? / e & SR g are

TR uRad FaT 82
1. Psychological maturity / T aRuwar
2. Social maturity / SIS gy dr

3. Cognitive maturity / TS gRuehdr
4, Sexual maturity / I gRgedr

Correct Answer :-

« Sexual maturity / 1 gRgesd

6) At what age does the newborn recognize the mother’s voice? / & SUH qﬂ\“!l'l?l’ﬁl’-‘l_] ar
D1 AT B UGl 82

1. At birth / S 9
2. At three months / A I@ﬁ R
3. At six months / : 'J:I%:ﬁ R
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4. At nine months / 71 ﬂ’ﬁgﬁ W

Correct Answer :-

« Atbirth/SFH Y

7) Who was a development theorist of the mid-twentieth century who is best known for his
specific and detailed theory of children’s moral development? / Sl ATt & A W Th
fawTa RigiaeR @17 4T ) 9= & Afae foera & s ARy o foga Risia &
fore w7 T 82

1. Lawrence Kohlberg / ¢ Ng Eﬁ’(ﬁﬁ"’f
2. Vygotsky / El'l%"'ﬁ?\‘?fvnf
3. Piaget/ oS

4. Erikson / Eﬁﬁq

Correct Answer ;-

« Lawrence Kohlberg / ﬁﬁﬂfﬁfﬁﬁﬂf

8) Who proposed the “Law of Effect”? / fra= wuTa &1 fFram wfaufea fam?
1. Sternberg / e

2. Fromm / 19

3. Thorndike / ZITT‘TEW
4, Bandura / ET“@QT

Correct Answer ;-

. Thorndike / YTES®H

9) Who developed the first intelligence test? / Wg@'ﬁ?ﬂ geor (a'\‘f) fPua faefa
foan

1. Binet and Vernon / fSFie 3iR o+

2. Binet and Simon / fSFe 3R RH

3. Goddard and Terman / ST 3R HA

4, Goddard and Wechsler / TETS 3R JaweR

Correct Answer :-

+ Binet and Simon ACER 3-?]? R
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10) Preprimary education in India carried out through Anganwadi Centres falls under the

./ YRA H SAFArS! Sl & a1y I < S aral yd-urd i fRram
& fafa St 71
1. Ministry of Social Justice and Empowerment / TS =Ry SIR SifreBTReT Harerg
2. Ministry of Health and Family Welfare / TR 3R URAR om0l HTerd
3. Ministry of Women and Child Development / Tfgen 3R a1a fawr Harera

4. Ministry of Human Resource Development / FTd H1EH o HaTer

Correct Answer :-

« Ministry of Women and Child Development / Il'f%?ﬂ 3R 919 fyera daer
11) Critical thinking is an aspect of: / g1 fia= frH= &1 t& g &:

1. Bias / U&MId

2. Reasoning / ab

3. Belief / faymg

4, Emotion / HIGT

Correct Answer :~

+ Reasoning / dd

12) The judgement of the quality of teaching depends on: / FRrgror ﬂ’ﬁﬁ“ﬁ?ﬂ &1 fAvig
A w ik s s:

1. Developing a relationship / Haell ol fdepd P IR

2. Attainment of information / STHHR] &1 UGl TR

3. Discipline / 3R UR

4, Overall development of student / BE & 9 fap )

Correct Answer :-

« Overall development of student / BE & Y fap W)

13) The abbreviated term ADHD denotes: / Hf&I XTeG ADHD ('E-!Tiﬁ'[ﬁéi') ﬁ'FFI HI gt
&

1. Attention Deficit Hypersensitivity Disorder / &I 3{HId SffraeTRied fdaR
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2. Attention Deficit Hyperactivity Disorder / €T 3{HIq Tfehadm fapR
3. Active Deficit Hyperactivity Disorder / febd 31HTd Tfehae fdpR
4. Aggression Deficit Hyperactivity Disorder/ {TshTH& I UTd HAfehadl fdwpR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder / €I 3{HTd Ffehadl fddpR

14) Which one of the following is not an internal factor of attention? / Frafafea & 3«
ST (AU DT TD AP BRD 81 82

1. Interest / &<
2. Intensity / diigdn

3. Mind set / Ud YRUT (AZS ¥T)
4. Motives / URTT

Correct Answer :-

. Intensity / digdn

15) Which of the following factors did Kohlberg focus on in his theory of morality? /

Flgaatt AU+ Afaepar & Rigia § Fafafes sre! ¥ 9 g R wm= Sfga feane
1. Family influences / URAR UYd
2. Cognitive development / SITHIH® fawra

3. Culture / H@ﬁl

4, Gender differences H%FT 'ﬂE

Correct Answer :-

« Cognitive development / §3HT&® fawmra

16) Which of the following is not an objective of Continuous and Comprehensive

Evaluation? / FAafafd & 3 o1 Wdd Ud o0us Teuid- &7 3e%4 81 82
1. Plan teaching-learning situations. / FRreror_ iRy RUfIDY &1 AierT daR & |

2. Communicate the child’s progress to different stakeholders. / S &1 Ut &) fafie Raure!
EIEGIEIN

3. Map changes in the child’s learning and development. / T2 & T 3R fowr & ufkadHl
T AH{E ST |
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4. Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfdai & 79 4

A U] AT, 1 d SEaR USRi— B gb |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfiai & w= o

Y U] AT, AP d J8R Ue=H HR o |

17) Which of the following is not a risk factor for drug use that is directly attributed to
parents? /

Frafafaa # @ o9 a1 571 ST & fore Sifey $R® A1 & forae fore ardr-fiar wwer
U F ITRGRI SR W12

1. Childhood negligence / STeIARIT ATIRATR]
2. Abuse / Qﬁ'j-aﬁ'l'{

3. Peer rejection / Wﬂ'ﬂﬁ 3[BT

4, Genetic inheritance / 3‘“33'@15 favra

Correct Answer :-

+ Peer rejection / ﬂ%ﬁaﬁm

18) A child realizes that a four-legged animal that neighs cannot fit into her existing schema
of ‘dog’. What process will she undertake to fit this new information into her schemas? / T

= & 714 81T @ fp IR W aran siFa, St & fR=feman €, o & diser emer o
fibe €1 8t HpdT 81 SH T8 TFPRI P! 5H AMTPR H fibe B P g a8 o1 ot ufshan
SUTTI?

1. Disequilibration / SR
2. Accommodation / FHTIS
3. Assimilation / {THHTd

4, Homeostasis / FHRfA

Correct Answer :=-

+ Accommodation / ﬂtsz:hﬁFf

19) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the
Kannada exam he wrote yesterday. What is this phenomenon known as? / waﬁaﬁ STl

P gdien & fore are ford 1A il ereRt & VR 341 39S gRT od e T oS
TIIEHT & PRI BIS AT &1 5H U1 BI 59 ATH | |1 SIdr 82

1. Retroactive interference / t‘[';ﬂ'ﬂ@ SRIY
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2. Retrograde interference / UfCRTIHT A=Y
3. Anterograde interference / SERTHT AR
4. Proactive interference / 3‘@?@ JARY

Correct Answer :-

« Proactive interference / G@T—IH@ JARAY

20) According to Vygotsky, child’s language and thought develop . | aRATEDT
F IR, I I UT9T 3R fa=R faw i ovd B

1. independently of each other, then merge / Th @i‘ T WGa7 gl 91 T U T Jiyfera g
ik

2. independently of each other / Uy @i’ Y WA
3. universally across the culture / It ﬂﬂ?ﬁf&ﬁ R I Y

4. together as child grows / =8 & fd®T™ & a1y

Correct Answer :-

« independently of each other, then merge / Uh g{-ﬁ RESRE E\ION a'l'c{ff MU H ?Iﬁilﬁﬁ_sbl
o

21) Parents who have a lot of rules but support their children to follow the rules, are
adhering to ./ it Aral-fuar 9gq 9 w9919 € Afed o =il B e @1 ure e
»RUTEma e e T STV Hd 2 |

1. Uninvolved Parenting / 3/ &% UreH-uTyor

2. Permissive Parenting / Gﬂﬁlﬁ UTe=-UIyor

3. Authoritative Parenting / 3TIBIRD IaH-gIyor (a{uTﬁ%i%a Eﬁ'ﬁ'ﬂ)

4, Authoritarian Parenting / SffIHRarg! TE-TreoT ( YR R3M aiﬁ"'l)

Correct Answer :-

« Authoritative Parenting / 3TN UTeT-UNur (3rifvefea tRfem)

22) is the desire to act and move towardsagoal. / __ S &
3R T TeT P 3R g B g1 711

1. Perseverance / €@ dl

2. Valour / {led
3, Motivation / OO
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4, Grit/ 99

Correct Answer :-

« Motivation / ORUT

23) Which of the following theorists emphasizes the importance of categorization in the

Iaeﬁar%ning process? [ Fafaf@a RigiaeR # @ &9 ifimw $1 uipar ¥ anffezor & vga W R
?

1. Kohler / Elﬁ%?
2. Bandura / SIgT
3. Bruner /@R

4. Pavlov / EERIG]

Correct Answer :-

« Bruner /a:k

24) Problem-based learning in science encourages learners’ scientific habits of mind.
Which of these options best describes some of the guidelines for problem-based

learning?/ fagm & Twwar-amenia fRien, Rranfiay &1 w91 @1 amfae aneal @) Weed Bt
2159 9§ o9 91 e guw-snuaie Rigia dies & $o ez &1 3fa vl srar g2

1. Reading, writing, listening/ Ug+I, fora, g0

2. Thinking up ideas, using multimedia, making variables/ < 1H11Sd] T SN HRp, TR
R fRI 1 gHgl

3. Asking questions, constructing a hypothesis, repeated trials/ W% &1, e TR &1 AT B3I,
IR-ER URI&0T Al

4. Discussions, a fixed number of trials, cooperative learning/ =af, fRf3a Twem & wtemr, ggart fRremr

Correct Answer :-

« Asking questions, constructing a hypothesis, repeated trials/ %% U&T, Udh URae0T &1 0T T,
TR-ER TRI&0T AT

25) The apparatus used for measuring the span of attention is ./ 3@y fagfa
(FH 3w 3ERM) P AT & e wgew fvar M arar Suswor |

1. Tachistoscope / eIy
2. Microscope / m
3. Telescope / %T'ﬂﬂ?ﬁq

4, Epidiascope / @mﬂ
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Correct Answer :-

« Tachistoscope / ReReY

26) Id, ego, superego is put forth by: / TgdH, (€, WTE (JuaM) a1 ¥ A frad grr wifte
IELRICE

1. Maslow / FTE
2. Pavlov / ﬁaﬁﬁa’

3 Jung/TT
4, Freud / /TS

Correct Answer :-

o Freud / hTIUS

27) The Expectancy Theory of motivation states that: / IR0 & fRygia d sgan (]
fo:

1. People are motivated to do things due to external rewards. / TR&R U Sfdd &1 & & forg Uik
g1 5
2. There is a hierarchy of needs in each individual. / T Sfad & SRe<al &1 U USTIHH gial ¢ |

3. There is a desire in a person to become what he is capable of becoming. / fad =fdd & ag &9 &1
TW1 EI1 ¢ off 96 & W W& g

4. Motivation depends on the desirability of the outcome. / 2IfHURUT URUMH 1 3=81 WR 1R Ham 21

Correct Answer :-

« Motivation depends on the desirability of the outcome. / S1fYDRUT TRUMT Ft gwT R ik Fear 81

28) CANCELLED

Who among these psychologists have developed a theory of personality based on 2 dimensions:
introvertion and extrovertion? / ?ﬁ'ﬂ%mﬁﬁﬂ' # | fraa 2 smammt Gm'li@ Gﬁ?ﬂﬁﬁ@ & ATYR WX
=T &1 TP Risia el fear 2:2

1. Sigmund Freud/ e wras

2. Carl Jung/ a'TIF'f'«TT

3. Erich From/ QﬁEU’TfI

4, Hans Eysenck/ %@[ 311313-I$

Correct Answer :-

« Hans Eysenck/ %ﬁ &ﬂm
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29) Teaching in an inclusive classroom is a challenge for teachers and demands

certain ./ GuTasht e ® ugr, Rl & e e g @ ok 39 Aifda
TR P ATTTH T 2|

1. Habits / wafd
2. Talent / AT
3. Expertise / Q&fdl

4. Practice / HWTH

Correct Answer :-

« Expertise / G&fdl

30) is found to be effective at achieving conceptual change. /
DI IS URadT U B3 A TUTS a1 T g

1. Reading textual materials/ UT3 ST 3{ETT TUTc

2. Labs / ARG

3. Discovery learning / fSH®aR] e

4, Detecting an anomaly / faTie 1 g T

Correct Answer :-

« Detecting an anomaly / faTiel 1 U ST

Topic:- General Hindi (L1GH)

1) B ATl B FT g, 3T UG A I A
TE BT SHTEH AU T, 9 YA SSTd el aa

AT TR I B, S T 98 = 3t
HI P 61 18 Y, 3R TH HY 31T, F&T 9ot

6® 3T 9o 7 A YD), 99 To=1 ¢ SHieT Tat
T I $S T 79, 5 B 0 FS T Td
3l aT1d Pl &) 91 A, TO oY Sk R Fo AT
TP B JT-3:T & Yl B, 39 TH YT I R ad
& firgw 1 giar §, W gere R 7d
&9 U =11 SR R, o S edT BT UR A
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B AT 3, 3ruaT ¥R, Sft WR AR Gaas @d gb
&4 €93 §92 ool gel, wol &t arolt gR T

34 T 3R TRTAT T, 3ATETG T§ $b1 ATt

B &Y 99 U 3R W4, 9 3R auE dts Td

U TSI $1 UgH A Y@ S a1l U= $T 3@k darsel
UL g4 Al Bt /1 gt | BiY &1 o ared 82
1. Suad a1 9 B

2, 4 9 FId J ofid &

3. Y-gW BT IR BHls THIF T8 USar g

4. IRTAF A EA ¢ |

Corred: Answer :-

. Suded A W B

2) &9 Tl B 71 g, 3T 98T Hot a8t g
Tl BT ST WY 99T, §9 Y SS1d vl 7al

T FH e Hoft, S a7 a8 7t ool

| e g1 36 T, SR TH 4 1Y, 1 a4

e 3R wd? Ua 3 U@, 99 ge-T § guiae ga

T ¥ TP $O I T, I BT S0 Fo T T
S aTd BEl, g1 a1 g, PO Ed ok i g T

TP B YU-§:T & Yel &I, 59 TP Y19 4 e ad
79 Argw ot g &, o< gerer R 9

BH TS 20l S W, & SrRAwerdl & U 9d

T A R, ra 3R, St WR R gae? Wd g
B EHd §Hd 3l Tgl, WUl &t arelt R T

379 ST 3R URTAT T, STAIG T6 $ ard

79 %99 99 ¥ 3R %99, 9 U IRA dS I

Iude IR I GGHR Ai1d UL T+ aTel U3 b1 Ik syl
URA: i F IR a9 HI & &2

1. S R & R a8

2. S Q-4 XEa

3. 5 §X BT0 H W W50l ol

4. S BN gE H G B & |
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Correct Answer :-

. GBI g A A 3gd el

3) TH SIaT @1 T E%I, 3T T§1 bel a1 aet

TR} BT ATETH TTY Fell, 89 Yo IS4 el 9a

3TT g Ieer HY, 3T a7 98 T 3l

9 FEA o1 76 T, 3R GH I 1Y, 5T 7at

9 oiiT a9 wa ¥ UBY, 99 9@ & gHfee 9a

1 ¥ ISP PO T TR, 5 B U oo Ry T

&l a1 g, & 1 G, T 79 iR R e A

TS Y YE-5:T & Yl 31, gU T YT A N aa

& firgw ot givar #, o< gerer aR 9a

U U PRI SRR, & SAw e &7 YR I

T 9 ¥R, Sraar 3R, it W R gaey /a g
TH 594 §Hd TS Tg1, UI0il 1 areit §R =t

37d 37T IR URTAT T, TG I8 Tb1 aTad

BH WY g9 3 3 WY, §H 31U 9= dis 7

Iued TN B USHR ) IS W1 arel U= $1 I« ad1su|
W=A: S @ g SR g g1 & e $a i 82
1. SRI-AT Ot §

2, BHHR IR AA ABY

3. G I RG

4, SgR DI TRg

Correct Answer :-

. THPR AR TS AHR

4) &9 YT B 791 A, 3T YT Hl J81 7
TRl T SHTTH 1Y T, §H YA ISTd ofgl aat

T gH Seard B, 3T a7H a5 I el
|9 FEA € T8 T, 3R TH Y Y, HET 7

fore 3 wa? 7 A Yo, a9 9o § safoe ad
W A TP FO AT TQ, T B U $ R ad
1 91 e, & 91 G+, O e ok R g Ag
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TP B YU-§:E@ & Yl B, gA TP HTT | g o

7 firaei 9t gfoar 8, Wow gerer wR 9a

T TS FRIF SRR, & SRTGadl &1 UR 9d

TH AT R4, S9AT Rd, o WX R GaH? A gb
T EHd §a TSt LT, WToi o arell §R T

e AT 3R URTIT T, SHTETG T Tb aret

T WY 99 2 3R W4, B9 30 a9 S T
ITYR TEII B IS A1 U W1 9T U= B I« ga13¢|
UL Tt & Sf A aret 99 A | BT Wre 1Y o Sare
1. 3HIG T

2. & HId &

3. gHS &1

4. QI T

Correct Answer :-

. GHS @I

5) &H YAl BT 1§, TS g1 bl Gl aat
TN BT SHTTH WY =T, B Yo S wie aat

3T TSR Ieatrd Hoft, 3T a9~ 5 7at ofeht

|9 BEd €1 78 Y, 3R GH BY 31T, BEl 9

forw S It W 3 U@, 99 ge & g 9a

T & BT $S T T, T B U T ey 9

g 9T B, gl a1 i, PO w9 SR it po Y
TP TN UU-3:9 & Hel B, 59 TP Y9 | g =d
&9 Pras o g #, WeS gerek WR T

TH TS PRI 3% W, & SRIGadT &1 YR 99

FH T e, STAT Ied, S WX AR GAPL A 9P
T 9 §HA ST g1, Wil @1 qroit 3% gt

379 39T IR TRTAT T, TG I8 $b1 ard

BH Y 99 ¥ i T, §H 3UA I dts Td

IU TN B UGHR A IS WA a1 W= BT Ik garsy|
URA: GH TS A 3 S uR & arend 82
1. T A PIS Tl
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2. B W 3 B
3. 384 B!
4, 99 B el

Correct Answer :-

. TSO R 3fHeE B

6) & dlarl B 71 g1, 3Tl TG Bl a8l a9t

TR BT TR | T, T Y SSTA STel 7t

JTT g I Y, 3T T7hx 98 T 3ivft

WA BT 1 36 T, 3R JH B4 Y, Hel ot

g ok aa 79 3 U@), 99 gaT § safee 9

ST & IHPT O T T, T B 30T P g a9

e &), A A TN, PO od IR R o AT

TP B JU-§:T & Yel B, 59 TH YT A e ad

&4 firaint 9t ghar &, o= gerer WrR 9a

BFH TS PRI SRR, A Gl &7 YR T

TH A 33, SroaT 3R, oft WR o gaey @ g

T U GUd 3T TgT, WU &1 aTon g1} It

T SATAT IR TRTIT T, SATATG g b ard

&9 WY 99 ¥ 3R W4, g9 U o dls I

ITLTF T I UGHR 19 IR W1 9T IR BT IR T3¢
T Sfiqe § Wi P9 SINPRS HIid 81 qaelt 82
1. Faa og 39 TR grg & off e vEd €

2, I §d AU GERI BT HHle IS 5

3. el o 37U g @l b e a2

4, I0aq Tt

Correct Answer :-

« Iugad @uft

7) TH G B FT G, 31T T§1 bl a1 et
T BT SHTETH 1Y =T, 59 Y& SS1d wigl aat
ATT FTHT Iy F, 3T T 98 =a onft
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[ BB ol T8 Y, 3R gH HH 1Y, Pl aat

g it 9@ 7 A U@, a9 T § 9o 9d

T A IR $O T Td, 5 B o o e ad

31 a1 Fel, &) a1 G, $O 5 SR R g A

TP T YU-3:T F Yl F1, g9 T Ha | e aa

& firaw T 1 gfar 4, W gere ur 9d

T U PR Y W, & swaar &1 UR 99

T U 3R, 3rqur IRa, Sft 1R R gae | gb

T EA g 3T g, IO B areht g Tt

& AT SR URTAT 1, TG Tg b ATt

U §9 A 3R ¥4, 39 3R v ds Td

IUYe TR B USH} A IS W1H aTe U=H o1 I« qars|
T S & 98 9H & 916 IS YIS aRT R HXA 82
1. 91d

2. Har

3. R
4, BN

Correct Answer :-

8) TW 1Al &1 &1 §¥I1, SITS 981 Hel q81 aat
TR BT SATAH WY AT, BH YT ST oref 7at

31T FIHR I BT, AT I7h 98 T 3 it
E Hed o1 76 TG, 3R T 4 1T, Fel 9d

5 3iiT I Ha ¥ USl, a9 9o & g9ty 9d
T ¥ IHDT $O 0 I, I BT AU $O Gy T
3 1A Fol, & I N, PO o AR R PO AT
TP B JU-§:T & Yl o1, 59 TP Y19 9§ e ad
70 gt 3t gfar 8, o< geret wR 9w
BH TS Tl S W, & SrIwerdl & HIR 9d

TH T (R4, SMTAT 3, S WX B GAPL 9o g
T G owd SISl o1, WU &1 Tl B 9t

3 SAYAT I YRTIT AT, SATATG I8 FHA AT
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B9 Y |9 9 3R ¥4, 39 U I dis Id

IUe U B USHR A IS W1 aTe W= o1 I« Fars|
T A $ol W fohd g ugad 82

1. @l pIRE

2. B B RE

3. G B RE

4. I B RE

Correct Answer :-

. A Bl dNB

9) TH ATl 31 &1 &I, TS g1 el qg1 et
Tt BT SITETH AT T, §H Yd ISTd Wel g

3TY FHH I HY, ATY g7 98 T 32ff

[ FBA 81 T8 Y, R TH H4 MY, Fgl 9t

e 3T I a3 UBY, a9 9o & gaieg 9d

S ¥ BT $O T I, 5 BT 40 $O Ry 7w
1 91d B, 3 91 G, DO §H SR R po AT
TP B YU-§:@ & Yl &I, §9 TS Y9 A g ad
0 gl 9t gfar 8, o geres WR 9d

B U =l SY IR, & SrEwedl BT YR g

B AT IR, raHT IR, St W R GaAP? WA g
T 5 o 3Tl Tg1, Wil P! qreil g% Tt

3 3{UAT ¥ URTAT T, SATAIG T8 $b ardl

79 w90 99 3 3R WY, 79 I SR dls I
SUYF TR Bl UgHR - IS W aTd U=H BT Ia qa1gu|
U= dlam $el A o & of fra = ¥

1. 3G P TRE

2. AEHM & 16

3, T 1 aRE

4. QI B aE

Correct Answer :-

hd

. DI RE
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10) &9 SIaTH] 31 1 g, AT Tg1 Ba 981 94
HI BT ST TTY T, §H Y& IS4 STef g

T DY Seer Boft, 3T a7 95 = st

W HEd 81 T§ T, 3R TH $N ATY, Bl ot

5 ofi Ta> 74 & YD), a9 To & Sak 9a

T A ISP FE I T, 5T Y U O 3w 7
31 9T FEY, 3 9T G, O §9 SR R pu A
TP B JU-§:T & Ycl B, 59 TP Y9 | e ad
&4 Prgwt &t g 8, o< gerer W 9a

T TP PRI R R, & e aal 1 4R 99

BH AIF R4, 3TAT IR, St HR B Gae? @d g
TH T $9a TS TET, WTon &t arelt g Te

I AU SR URTIT T, TG ¥@ b ATt

B9 ¥ §9 4 i %99, §H 30 aRE dts 9o
JULE TR BT UgHN A1 IO M a1 W= FT Iw aarsgl
U 39 U $1 Ifed e aargyg?

1. BS-AdT

2. BIHHERI

3. URN- 3R

4. E1amI BT gt

Correct Aniswer t-

. dari P EE

11) &9 A 3 1 gwN, TS 98T B 98T 94
T BT ATAH ATY e, §9 Yd ISTd wgl 9al
T TR IeAT B, S T7R 98 T 3+
HT P 81 78 Y, 3R TH I 3TY, Hel 9

e 3 e wa A UB), 99 To ¢ Suie Td
T A IFT $ T T9, W B 0 5 few T
<l aTd Pl &1 91 G, TO 7Y oIk IR po AT
TP B JO-3:T & Yol B, 39 TP YT I e aa
& frgwinl ot gfoar 8, Waow< gerer wR 9w
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BH U it ST WR, & SRIGerd BT UR 9d

U A ¥R, S| TRa, oft W R gas /E g

T FA T 3T g, o Y Aot g T

379 37U IR URTAT T, SHTATG I8 $b aTd

BH @Y 99 A 3R W, Y U gRA die Td

IR URITT B UG A1 U W11 a1 U= BT IR qarsu|
WA: qlar1 @I fBHt ara &1 a1 =81 gran

1. TGl

2. b

3. T A B T

4, HleT

Correct Answer -

12) TH AT © T 5w, TS 981 Hd dol aal

TR BT TR FTY T, §9 YW SSTA T8l 9l

T TR IeeT B, ST a7 98 g S

A HEd §1 Tg 7Y, 3R TH HH 1Y, Bgl Tc

e 3 7o wa 3 UB), 99 9o § TR 9

T W SHPT TO (AT Td, T BT UAT T GY T

31 974 Fel, &1 914 Goil, PO vd SR R PO AY

TH T GU-g:W & Yl I, 56 TP YT | g 7

& Pirawi 1 giar 3, Wow geres WR 9d

TH TS R SX W), & ST 3T YR 9d

BH U TR, SUAT ¥, O WX B GADT A gb

T S WA 3Tl g1, WU 1 Tl g% et

37 ST 3R TRTAT T, TG T8 FH+ a1

U a0 §9 3 SR ¥, B9 U g als 9d

ST TR BT USSR 19 T 1 T U BT IR TS
TR oY Sl 81 @ 3 frft RRRawidt wr oft 7 gera 82
1, YF-gled

2, EUL-UT

3. AHd
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4, WG WR

Correct Answer :-

.« WG AR

13) &9 AT 3 7 gN, AT T§T Hed 981 9
XA BT HTAH ATY T, §9 Y ISTd 95l 9al

MY T Jearr B, i a7 a8 T 3t
T 81 8 T, 3R T HH 1Y, FEi a9

{3 i aa? 7a A YB), 99 Ie1 ¢ st ad

T IF1 $O T I9, 5 B S o e ad
3t 97d e, &1 AT e, PO B R i pu A

TP P YA--W & el B, g P U9 A N aa
&0 e 3t gl 8§, o gerer R T

BH U& I S W, & SHwBedl &1 HR 9d

Y AT IR, AT IR, St HR R o WA g%
FH EHd 5 TS TET, W10 Bt aTeil §) T

3 YT R YRTYT T, 3ATAIG g $b ATl

TH Y 99 3 i WY, g9 31 gRA s T

I T B UGB A1 IS W1 dTed UL Pl S} a5y |
UL: 39 Baar & SR faredt oft famm & war o &1 Rigft 32
1. Teid 61 61

2. §1d B3 BT

3, SR B BT

4. B g DI

COI‘.I‘ECt AIISV.'IEI' =

» Tad @ BT

14) 9 ia=l B I g, AT UG B q§1 I
T BT ST 1Y T, BH Y SSTd e aa

3TT g I Bt 3T a7 98 T 3ieft
e B 81 78 T, 3R TH Y 1Y, FEl 9

fore ofiv =l wa A U, 99 go= & safee ad
ST ST B O, o P o o g =
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31 91 P81, &1 91 Gohl, O 59 SR R po AT

TP B JU-3:T & Yol o), 59 T ug @ N =aa

7 fira @ gfar &, W= gere W Td

U U PRIl R R, o SRIwedT &1 UR 9d

B U 3R, 3w ¥Rd, St WR R Gas Wd &

T 39 9 a1 T, wroi ot areft 3R 7@

319 3T 3R URTAT T, SHTATG T§ b1 ATt

U 49 3 Y T4, 5 v R as Td

IUYE U B USHR A IS W1 are U=H &1 Ik Farsu|
T St el G1aT B & d HHR A &1 Hed 364 62
1. 3fTA-STd X5 B 1

2. B BT FRA B |

3. JTcdid BRaA gl

4. PO NS PO ad g

Correct Answer :-

- PONE PO A g

15) &9 gl 31 71 g, TS 98] Bl g8l 9d

TN BT STAH HIY T, T YT SST4 el 7t

Y FdHR Jear B, S s 95 ad onft

WS e o1 18 TG, SR gH A 1Y, Fel aat

fo ok e 7 & U, 9 To @ safe a9

T W IS $O T e, 57 &Y 30 $3 feu 7a

1 91 g, 31 91 G, PO E SR R po AT

TS TR GE-§:@ & el I, §H TS UIT | g 7

0 Pt 9t gfar 8, o< gerer wR 9w

TH TS PRI Y WR, & SRIB e $T YR 99

TH T Ted, STAT Ied, S WX B GAPL O g&

T A GUd 3T TgT, WU &1 aTon g% 9t

31 AT SR URTIT T, TG T8 $b ardd

79 %99 89 ¥ 3R W99, 9 30 gRMA a9

ITYH T B UGH A4 Y@ 14 a1 U= BT Sk g1z
TU: B A TR M B ITRT 3R M B 3G 9 R 98 AT F) Bel 82
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1. Torer I 1 3iR kg g8 1 Uil & |
2. 399 @ G QT ¢

3. SN Off 781 eI B |

4. T RR 781 gamar g1

Correct Answer :~

. Torer Seor 1 3R iR gu BT udie B

16) el ot T A fafira enfe aads, unfife Tqert, fafia urars wugt, fafire dwpfaal iz snfaal
o1 divelt @ 39 guTe @ fafaerdr sgad €1 afg fAfauarsit ara foosdt of T # fafte enfife qaw,
yfife Twerar, fafir wrars wagl, Al Sepfaal siv st @) dieght @ Su wa ot fafduar sed
B gfe fafauamal arer 31 31 a1 31 SR d1 R T 980R IQTe<YT 3R PIS 61 of Adbdl| WRa § g &
U Wt g7 T B W T AR TEd & 1 WRd # FOIRY HTUTE, 31T~ 31T T UTH, 3{el-3aT
TR 3R TRE ORE Dt Tepia g@- @l frerdt 81

AT faUTe SR Aeita: ST & wie fae & Rigia & sgar o wad fibe g ¢ 98! igr @
gt 8 | wgel @ Rigr 1 & o enffer &0 | avast w1 il 81 snffe avast @ waer ® et i
TS ) UTeT ¢ 1 sfaeT O i Awsl Sarevvr & R onfife w0 & Tud 1e 7 onffe u A FUeik e W
o= a1 ¥ saferd fpar Sirar ut aifer e SfR wifed & el W USIU®R $TaH §) & | TrTRe
fafaear &1 woFifa W givoms &9 aral ) ik sxar 8, s Fefafea 8 s s s R MmR war g %
R St TATRoIS Uga & f5| &9 # dd 8 1 9fe TN SuH 39 B fAfRry A @ & 9 o o

T fafaear &) = urHT g 8 oraT § | rear et wgera @ @i @) {6 ave @ 9w aa 2
et wHer Bt 7R W WRER Bt Sut ufaieal gl 81 afg Bt agera @1 7 3t A6t axie | 7
STaT ® A SHR TS Fae ge e 21

YR & W T & Yarias s Sifd aawat 9+t 3t TP AR THS S HTY & YR W IR JE1 o
Tier ot 41| f5aft Bt uar T 7 o gresmdt A # it arawr 8t afe g die F wy v i
wifer ar auf srawt faefya g3 off 59 a1 W snerfva g 76 el safe & o fw onfay & gom 81 orsh
AT & YHTT & HRUT R HRA § ST aTelt TRGRI DI SGRATG! Aol &I qgiad Hiiw | Hfiw di
3eyfae Rigm o1 wraer 38 @1 39F srarar Mfyar 7 off U A SrrEwar am &1 e fear g9
Tq 14l A oS g @l § S sl hem &1 90 R Y far 59% uivond e ¢u- o e @ 81 98
39 91d Qa1 gt & b &% 00 & A1 IWR % A 3 & o St o & a8 €1 wwre e i By
T W ATHERY ST €1 Ao BT ST Haad gial & | TSl WRe A [ & 4 8% 7' &1 ufafeiie
WHR A T #) a1 21 SR a0 Fe Jod ¢ % YRd 98! A1 § U widaa a9 a1 81

IR TR & UG I U Y U 6T I& aargu|

E: ST & ite e & Rigia & ouR, wue § #14 Rier 8 urar 82
1. S @RI B

2. S e e &Y

3. MIRE

4. S PR §1

Correct Answer :-

. ST e fbe B

17) feft oft gume A fafirm enfife auds, unffe aaemat, fafis wers aag!, fafis Swpfaal e ot
B HiveH B 39 JHTS B fafderar wed €1 afe Rfaearst o 43 @1 919 & 918 qF YRd | dgav
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TIETER0T 3R B e 81 FhelTl URa F g & @t weft ger ol o 7 ard | Ted 81 uRd |
TR UTUTE, SIET-3(ERT W UTH, HTT-3E MR 3R 8 a8 o Gepid g@ &t fhrerdt 21

[ furer 3R erifa: S1id= & wite faer & Reia ¥ saR St 9@ fbe a1 ¢ o8 Rigr e
urat 81 A9 @) foigr 181 & o snffe & u & was! w3 gt 81 onfife araet & W # Fan =
uTe &) urar 31 sfaer § 1 el Serevur § Rl anfife w0 A Wuw e 3 onffe v & 6k [T W)
e o | T gferd famam wmar Ut arfes e ofR =ifek & Wil WR TSRS R STaH 8 9d | ArTire
fafaerar &1 Toifa W oo 9 9l R Rk sar g, s Pefifea §: e s s w R svar g &
AT 3(Y-t YTATOI® UgdTH ®f fbd U 8 Ad & | i @1 31U+ 31Ty &1 ARy A+ @ & of 09 |
[T fafaear oY T U= Gieea of S 81 Io-dT e THer B Al $f fhy 9 ¥ U $ed 8
forelt Tpera 1\ R WER @t St ufafsan gt 81 o ot aqera ot wiv # wgh a8ie & 7
ST & d 39 IeHIfG Jad g4t 2l

YRA & U= U & garfos ot i srawit g+t At SUF SR THTS B BT & YR IR IR TIE o
qier T o1 faeht & g 7 § o ot wuTer d St srawn | Afea wHg daq & @y e ot
i qut e faehia g3 o 59 a1a W snutiva @ 13 et safds &1 o= fvw wnfar & gam 21 aiish
EPHA P UHME P $RUT AR YR H M 9l IWPRI B IeRarc! et #1 acterd it & 1t ah
myfrep R&T BT Braer I @ TS rardr DNfear 7 o 9 A SAREwdr BaM ®1 B el 59
9 gTal A oS g al § SIEwar BaM &1 90@R R (a1 5370 UiRond 3 ¢E- o fa @ 8198
T 919 A vaT Toren 2 &3 0 &g Ja1 SuR o urH o ¥ o St onfa & Y €1 wwre b e il @y
T H AR ST € A BT el Haad BT & 1 TSl HRT A FHS & aHT 8% & &1 ufafie
TPR A ¢ P fiaar 81 SHfT 89 $8 9od & 1 YRd Het A1 # U diedd 9= 6T 8|

JURIFR T B UGS A1 U@ T Y FT IR gaisy |

w=: foedt wamer A fafra @nfa, o iy enfifes Wi & @Rl &1 &= @gd 82
1, O famr

2. TS &1 fafaerar

3. 3ITRIT FT fIHT

4. TSI =T

Correct Answer :-

« A ot fafdgar

18) famdt oft et A fafirs e qads, anftfe waer, fafim yrog awgEl, fafte vpfoay v sfom
P Hieght ®) 39 JuT™ @t Ay sga 71 afe Rfavast are 3w 91 99 9 9 @ IR | /R
TETER0T SR BIS &1 &1 FbaT| YR F g & amrt weft g onf o am=e ard | T 81 YRd |
BUIRI HTHTE, S-S W UTH, A= TNH 3R a8 g o Gepla 3@ &1 frerdt 21

HrHTRS fAuTer 3R Ao S & Hite e & Rigia & surR o wad fipe giar ¢ a8 Rigrte
urat 8 1 age ®) foigr 81 & o enffe & u & was! w3 gt 81 e aaet & e # S =
oI 81 arar 81 3foera ¥ 39 vl Seevr & i snffe w1 R Wuw e 3 anffe ¥ § iR e R
e o | T gwerd famam wmar ot arfes e ofiR xifekt & Wil WR TSGR STav 81 9d | HrTford
faferar @1 T W oRoms &9 el w R srar g, s Pofif@a 8 s sw e w R a2 &
T 39t AT UgdrH ®f fhd U H dd & | gf @i 3Mu+ MU &l AR AFA v g ar gad d
[T fafaear &) v o iR of Sirar 81 Iear e THer @ Al $i Py ave ¥ i Hed §
Tt T &t 7 uR WRER Ft Hit wfaftrar gt 81 i 5 wgera ot wi #) 9@ oS & 7
STd1 @ ) SHY e gad sl 21

YRA & WA U & garfas ot i srawt g+t Bt SUF SR THTS & ST & YR R IR Ig! o
qler T o1 faedt & v 78 § fop ot wurer & it srawan | Afea wwg dias & w1y e ow

wTfer T aof sraw [y Ria g8 o 59 a1a W smeniva § b freft safdy o1 o fasay snfy & gan 81 sidish
TPUG S TUTE P RO 3R UG H 39 aTell WHRI o1 Igrarc! Hifaal #t adtaq aifte & ot a@
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i RgT ST wraer I8 @1 3HE JHardr Hifsyr 7 o THe # SRREwar Bam 1 1 fearl g9
Tq g1al A oS gu ol # sInewar oM &1 9a@R 7 a1 5w ufvom s 3un @ fra @ &1 9w
wmﬂmm%%ﬂﬁﬁaﬁuﬁmammﬂmﬂm%ﬁﬁmﬁﬂmﬁélmﬂamaﬁaﬁ
T H GTEERT 31 € didds BT SHd! A a7 €1 TS HIRA A HHIS S AU 8% a1 T Ui
WPHR A T@7 ) fraar 21 3R a0 8 9od ¢ 1 URd T8 A & U9 e s eT 8|

UG T FT UGHT AT YD T U BT SR Jarge|

WR: 3 = A Aelgd WHE, ATRi® T § FHWR THE TR 1 ST 82
1. e-AyRo

2. % gl

3. MNH

4, 3R

Correct Answer :-

19) <t off wurer | faftra snffe qads, anfife ager, ffim urors TuE), fafirs Jxpfoal ot o
aﬂ:ﬁqmﬂaﬁwwaﬁﬁﬁmﬂﬂ%%lﬁﬁﬁwﬁmﬁ%ﬂaﬂmﬁmﬁﬁmﬁaﬁm
IeTERVT 3R HIg &1 &1 ApaTl YRa F gfrar & e i gr ul & 4+ ared @l ved 81 URa &
BRI UTHTY, 3IET-3@T W UTH, 3ATT-3(aT RIS Si¥ a8 ae & Uhid ¢uq &I fired! g1

HraTRre fRAvTe 3R Ieif: S & Hite e & Rigia & surR ot wa@ fve g ¢ a8 Rigr e
uret 31 ageat @ foigr veH & R snfife = @ axawt wxet gt 81 snfife avast & wae § Sar v
T B ara @1 3foer ¥ U9 el Semevr & R snffe w1 A uw e 3 anfie T § $eik @ ®
e foram | e suferd favan wimar ut arfes Famea ofR ekt & il W ThIRIeGR S1ad g 9d | HrTiie
fafaerar &1 werFifa W afvomg 9 a6l w ik s g, o il §: s s w Rk sxar g fo
T it TrTfore geeE @ 5w U H ad §19fe @i oA s ) AR arA aa E A A o
[raTfores fafaerar o1 uan o Giee 8 Srar 2 1 e et Tyerd @Y Al 6 5y @ 9 i w5 §
et wHer 3t 7T IR IReR 3t St ufafear gkt 31 afe fewdt wger 3t 7 o a8t afte & A
AT 8 o 599 YeiTd 99d g9 81

YRd & Ui Ul & gaifas o) Sfa crawr s+t <t 39d SR 0 S o1 & YR W 9R Tig! &
Sier T 41| fohelt &t uar 981 & T Yeemdt WA # it rawr o8t afe gy diee & Wy v
SiTfer a1 avf e fasie g & 39 919 W enenia § 6 el sufdy o1 o= foy oy o gan 81 sidsh
BT S WUTE S FRUT R YR H 3 a7t IRBRI BT IgRaATS! Hforat a5 agiaa it I it i
yfee g $T Braer 8™ @ 38 JHardr Hifsar = off Tue # SAREwar Bam 1 G farl 39
[ Tl 3 DS g€ A # e war bam &1 TR o1 a1 39S uRum 3F 3E1 ® e R &1 18
T 91 © UdT et @ 1 9% 08 A A SR R e oM E R FH R F S ¥ sue S T B
I # WISIGRT A1 81 dlbds BT 3R9el Hadd gidT & | SIS HRd A JHISl & U 8% 991 T Uldiitea
TIPR T 3@ ) fraren 81 SORIT 60 $8 Wod § I URa adl wrgA & o diead 99 w81

SUYH TR $ TGP 4 T8 TT U= P IR Tarsu|
T T TRaP! W U 61 Fel ST I e 82
1. Mg o

2. TR H

3. gAS |

4. P H
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Correct Answer :-

. AN H

20) &t oft wwrer A AR enfdfes aads, anfife ageral, At s wuE), Rt dwefal sty wfoal
! Hise &) 39 g @ fAfdear sga €1 afg Rfquarst ad 3 @) 99 @) ) 9 yRa | SR
TGN 3R B A 81 Wl WRa A A & arvw wift F@1 uHl B A T A 38 81 HRd A
BRI HTHTY, 3-SR WM U, SIET-3eT WS SR 7RE dRe & TP d o1 &! fedt 81

HTATRD fUTSrT 3R Ireria: ST1E & ®ite e & Riga ¥ SuR o gad ftbe g @ g8 Rigr e
Trar 81 age @1 Rier 81 & o snfife v & wrawt s it 81 onffe araet | W A S v
UTe g1 Tt g1 sfoera O U as! Iarsvur ¢ o snfife v @ wud e 7 anfife wu @ sueik [T w
e o | T sEferd fapar simar ot aifes SaTee 3R wifek & Sl IR TSIRIeR S1aH 8 | | |HTe
fafaerar &1 Toifa R oiome 9 araf ® R s 8, o Fefafea §: e su s m iR swar g %
T 3ot e ugE @) b U § 9 €1 afe i ero 3y ) fafke wea wre @ @ 2 A
AT fafaerar @) o= o= giRed 8 rar 81 AT [PU TS 3 A7 S P9 ave 9 U™ I 8
et WHEr &t AT WY WRER St St ufafear g 81 afe et axgers &1 7 o w6t aiie | 7
1T 8 @ SO e e a9 21

YRE & WA FUf & garfas ot Srfd srawit g+t B 39S SR 0TS & 1 & TYR R IR I1E! o
dier war 41| 5t Y uar 7€) § o et W # St arawr oAt @fe gug dian F 91y v
ST ar 9ot srawt fasia g3 o 59 919 W enutia 8 5 foht sufes o1 = forw onfa & gom g1 it
BTG $ TUTT S FROT R URG F 31 qTelt TRBRI 31 IJeRaAwS! ferat &1 agraa it & fere i
3myf~re RI&m $T Braer S8 @ 3H$ sremar Mfsar 3 o Fu # Srewdr am &1 i el 59
|9 gTal A eSS g @il & Snewar oM &1 THE@R X (G411 53900 U 3 ¢u- of fa @ 8198
T a1 A va T § 5 v 09 & AdT IHT B ATHE oM § ot St onfa A €1 v S aw @y
T H AR A1 € diddd BT ATel Haad gidl g1 STel YR A 9 & a9y g1 7t &1 ufafifie
WHR A T@ $) e g1 U g6 o8 9Pd & 1P HRd &t 71 § U e a4 18T ¢l

IUYE TN FI UGH A1Y YD ¢ U BT IR Iarze|

W: SGRATS! il &Y gdted Siftie-9-3iftre i fraet wragr Jom @ 12
1. URFIR® TRIgf

2. VI e

3. SNy g
4. 3Mffer ST

Correct Answer :-

. SMYFF Rgm

21) 5t off Jurer A fRftrs snfdfe aaws, anfife e, fafs urars aE), fRfts Swpfoat oiw sfeat
FI Aot $ 39 GH ot fafdear sed €1 i Rfearst o 3 o 919 ot 9 @ YR | 95
TeTeRvl 3R B 78 81 wepar1 WRa F giar & @y @i g unl &) A ard @l ved 81 uRa i
BRI UINTY, 3[ET-3(eHT W U, 3ET-3(ET GRS 3¥ GRE I 3 Gwpia ¢@ & ferd! g1

HraTRore FAYTe 3R IreFifa: 31 & wite e & Rigia ¥ oauR ot wad fve g 8 a8 Rigr e
et g1 T B figr w8 & R onfier 0 | wRawt SR gl 71 Siw avaet @ WA | ST R
T B Urar 71 3foer ° U9 Aws! Sarerv 7 o snfde U | 9 e A onfife U ek e ®
T | T s fvan wimar ot arfs dned ok wfed & il IR USIUeR $1ad 8 I% | SHifre
fafaerar &1 voifa w oiom &9 aal w ik svar g, o Fafafea §: s s sk srar g &
T 3rgt TR TeE @) b T u A 9 €1 afe @t o s Al AR urR e E A e A
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[T fafaerar & war =T gie §) Srar 81 T e ager ot /i &t Ry 9 ¥ 0 wd #
et wier 3t 7 IR WReR 3t St ufafar gidt 31 afe et wger 1 w7 o a8t e & e
WTaT 8 df S99 IoHIfd 99 a9t g

YRd & U JUf & Jarfae St Sifa eyt g+t 0t 30 SR 0 B $1 & YR IR 9R Tig! d
gier mar o7 sl @ gar =8 § o et waer § it srawur f | afe v diaw & 91y v R
STfer T 9ot AR [AsRid g8 O 39 919 WR SyTRa § o et safd &1 o fovw oty & gon 81 Sifisit
TG & UG S HROT 3R URA # 3 aTelt TRHRI 31 Igrard! Hfoal a5 agiaq oifte & aiftre i
3y Rrem &1 wragr I8M @it 39 sramar Hifgar A W wu A SnRewar am 1 e fhar g9
9 9141 A U9 5T o A SIRe®dr e BT IR $ (¢aT SHP TRUIH 39 ¢@+ & fia 38 81 78
= 919 ¥ UaT1 g ¢ b o 08 &g Ad1 IHT B A A § W St o1ty & T8 1 9ISl $ 8% & &Y
T H AIERY 1 € Aihdd BT e Adad gidl & 1 TS YR A IS & dHT 8% ot &1 ufaffie
WHR & 3T B fraan 31 T9RT 59 $8 Tod § 1% yRa Odl 797 § v diead 99 W)

FU TR B UGHR A8 YR T U FT S« qa1gel
w=: Wi A v # o B &1 e fear 82
1. Y §1d

2. Tqesdl

3. SNl

4, TRl

Correct Answer -

22) <t oft st o At enffe g, enfife aaeral, fafim wrard Tug), Rt dwefaal sz snfoal
! Hiee @) 39 guTe @ fafdedr sgad €1 afg Rfqudarsi ae 3w @) a9 &) o 9 YRd | SR
JETER0T 3R BIS TeY B FPanl HRa § givrar F amrr it g1 ool & ar= ard @ 8 €1 URa o
ORI HTHTE, S-S W U, 3CT-3ET TR 3R TRE TRE &I WP ia @ &I forerdt g1

g v 3w et sl & wite Rer & Rigia ¥ sar st wad fbe gar € o8 Rier e
Trat 81 7o o) fier 383 & ol onfife & u & wrast st gt 81 onfife avaet | wue & =i
I §1 T 81 sfaer & 89 Ads! Ierevr & Rrad snfife wu A wum 11e 3 anfife T & A6k @ )
e o | e gwferd fovam wimar Ut anfes Tvme ofiR Sife & ol WR THIRIeR S1aW 8 9 | arifore
fafrerar o1 I W giomm & aral R iR srar g, St e §: it sg sa R R war et &
T 3ot TR UgE &) fhe U § A9 €1 afe o g 3y ) ARy g e @ Y e A
AT (AU &) o= U GG 51 Sa § | o1 et S S /i $f e 9 o U B 7
et e ot 7R IR R 3t St ufaftrar gkt 31 afe fowt wger 31 7 o a8t afte & amr
a1 @ 9 SHR e gae g9 21

YRE & W JU & Farfae St Srfa crayr g+t 0 30 SR 9aTs & $1 & YR W 9R Iig! &
sier mar 47| Rt @ gar E B o et ware § Fft syawur f ) afe v fien F a1y oo =@
STfer T Ut AT [AHTId g5 W 39 919 R STyTRa § 5 et safda &1 o foew oty & gon 81 Sifish
BT & UUTT S HRUT AR URA # 3 aTelt TRBRI 31 IgRard! Hfeaf 3t adiaa oifie & aifte i
Y Rram 1 wragr I8M @1 39 sramar Hifgar A W wHe A SrRewar am 1 e fhan 39
g gTal A e gu @l # SnEwar aM &1 9@ R Y T 590 uivom o9 ¢ of fra 8 €1 98
T 919 ¥ UdT gad & 5 9% 18 899 A91 SR % 9 o F N SR R F S ¥ wwem R af
Il # TSGR} 41 8 dihda BT 3Rell Haeld gidl &1 TS HIRA A WHIS & aH g% 91 &1 ufafiiea
WPR § 3T 7 et 71 39T 50 $8 T9d § 1% yRa Od 797 § v diead 99 w8

JULT TR B UGHR A8 U T U= $T I« aa15el
U=: gfe frlt Igera &1 wivt &1 Wl a8 d A U1 A1 @ A S eI R It 82
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1. UYyy
2. 44

3. g9d
4. IEEH

Correct Answer :~

23) ol oft vt A At enfdfes aads, enfife wgera, faftm ward Tue), faftr dwefaal sitv sfoal
o1 divet @ 39 guTe @t fafaedr sgad €1 afg fRfquarsit o 3= @) @rg @t s | YRd | Jeaw
JETERT 3R IS 781 Bl qheTl HRd | gf-am & TRt Wl @1 «f &f 7 ard @ 8d &1 URd &
BRI HTUTE, S-S W T, AET-3MET TIRNH 3R TRE TRE B WP a o@ &I foreret g1

TR fayTer SfiR Ao SR & it fera & Rigia ¥ FaR St 99 fve gar ¢ o8t R s
T 8 | Ao &1 Rier w81 & R snfie w0 @ avedt oot gt 81 e avaet | Ture o S =
TG 1 uTeT 81 sfaer ¥ U @S| Iarevur ¢ o snfife wu | "ud e 7 anfife w0 & #avik e =
e T BT saferd farar Sivar Ut aifes SHTHH 3R UIfekT & Hidl IR USSR STaH & TP | STHING
fafaerar &1 Teifer R afvome i ol w ik s g, o Fefafea d: msu s R Rk e g %
AT g TArETRIS Uga & fra w0 § o 81 afd @ 309 3 &) fAlRy 9= &va & & 09 |
[T fafauar o) T U iR 81 Sirar 81 T el THed B Al 3 fhy 9 ¥ 9% 14 g
et wHer 31 AR IR IRER $I St ufafsar gid 31 afe foe ager 31 7 1 98t adie § A/
T & O SO e gad g9dt 2

YR & Ui Tt & garfae & S srawyr s+t Bt 3UF SR G0 &1 $1 & STYR R IR T9E1
dier T 41| el B uar 7€ & o et W § $eft arawyr ot afe g di9q F 91y v
Wi a1 Ut AT [As i g8 W $9 919 R SuUTiG § o et safda &1 o foes sinfar & ganm 81 Sifish
BT S WUTT S HROT 3R URA § 3 a7ell TRBRI 31 JeRard! -Hfedt 5t agiaa it I fte @i
yfe Rram 1 Bragr I8 @l 39 sraar Hifgar A f Tu # arRewar ham 1 e fHan 39
|g g1l A Ues g @l # SREwal M &1 9TH@R ) [Tl 590 uivond 39 ¢u- of fra @ 8198
9 §Td § UaT el @ 6 &8 0 &g Ad1 SUR B 9rHA 3 § o St onfa & Y €1 gwre & g @t @t
T & AR 31 €1 Al dd ST S Hadd gidl & 1 TS HRd § Y91 & wHT 8% & &1 ufafaftie
PR T 3G ) Freren 81 SURIT 9 $8 Wdd & & URd Tl 7197 & & aidad 99 w7 8

ST TR B UgHy 12 U T U7 T I« qasC

U= gfe @i 3ra9 3g &) fARy AR @vd € o o @) | uS §rn 82
1. 38T Tl

2. e Tuwar

3, TSI fafderar

4. TR AT

Correct Answer :-

. THTioTes fafgear

24) Tt o warer A fafira snfdfe aads, aifife Tger, fafta wrars awgl, fafirs depfoal v sfeat
Pt Aot 7 39 Tu @t ffdear sga §1 afg Rfdearst o 3 & 919 9t 9 @ yRa @ IgR
TETER0l 3R BIS el 8 FPar) YR A gfHar & ey it 4T ywl & 9= 9T @ e 81 URa o
BOIRT YTYTY, SIERT-3EHT W UTH, EAT-3EHT YIRS 3R e d¥E @ Gpid ¢@ &I fiadt g1
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TR fAUTeH 3R Ieifa: S1fd= & ot faer & Rigia & SgaR o 9w five giar € a8t fier e
e 8 | Al 31 Rier a1 & R enfie v A avadt Bt gt @1 oo vt & wwe A S v
T g1 Tt 81 sfaer o ¥ 5s! Igrevur ¢ ford snfife wu @ wud 11e 7 snfifs S ud sueiR e w
T a1 T gaferd fobar wimar ot aifes HHTeA 3R 2t & Hidl TR UPIU®R S1aH 8 TP | TS
fafaerar &1 IoFife R oiome d9 sl w Rk e 8, o Pefafa §: s sv s ik swar g %
T 3rgft e ugE @) R T u # a9 €1 afe i 3o 3y ) fafke wea e @ o e |
[T fafear ®) w=r o giRea 8) Sirar 81 Iedar e Tqer Y Al &1 fpy 9 ¥ 9 $ea §)
et e Bt AT IR WRER St Sut ufafear gl 81 afe fedt axers o1 77 3 W6t aiie | 7
STaT ® o SHR I Faw aee 2

YR & U T & ganfae o) i gt 9=t Bt 3P SR THE $ B1d F YR W IR WEl A
dier war 41| el B uar 7€) § fr et warer # St sawr o8t afe g dian F 31y v 1/
ST ar 9ot sogwt fasia g3 o 39 910 W enetia B o ol aafa o1 o= fovwr wnfar & gam 81 eiisht
UG S YUTT S HROT IR URG F 3 a7elt TRBRI 31 IgRar! Hferl 3 agiaa it & iftre i
3y & $T BTaer I3 @ 3HF rarar Mifear 3 o U # SREwar am &1 B fear 39
9 a1al A U5 §U ol & SIRRe®ar haM BT THR SR [6aT1 $HP TRV 39 ¢@+ & a g 81 98
39 91 § UaT gadl € 6 o 38 & A1 IUT B A M € o St ot & 181 &1 THe & g g &y
1§ Treier} 31 € didhd o1 3Fel Haad gidT 8| 3iTe HIRd H THTS & TTHI g% aif o1 ufafaifia
PR # ¢ P fadr 21 =l g0 &g ¥od & 1% YRd 6t A1a § vs diedd a5 el el

IUe TR FI UgH A2 YD ¢ U BT IR Iage|

TR HHTYE SR YR & Hidl W IPIRUeR & Y 7oy P SR U U1EH Hd1 872
1. IS §

2. A

3. fus e
4, TG PYT

Correct Answer :-

. JIPYTE

25) =it oft et © fafir enfdes aads, enfifer waera, fafim wrars g, fafiny wwpfoal ot wfoal
P Aol B! 37 wHT @ fafdear wea €1 afe Rfaearsy o 3w 9 a1d 9 918 @ URT F JgR
IQTERYT 3R BIS g1 Bl belTl URd & ghrar & v Wit geor yf o w91 @l ved €1 Wk o
BRI HTHTY, 3ET-3ET W UT, S-S WS ST TRE IRe &1 TWpfa ou of firedt 81

| fAUTe SR AerHifa: SIfdA & B faer & Riga & SR ot wad e giar § a6t Rig
ural 81 A & Rier w1 & o anfife v & wyast s gt 31 onflfe avaet | wue ° S =
e g urar 71 gfoera o i Awet Seerur § v anfde U R Iud e 7 onfde T U sTeiR e R
- fobaT | T saferd favar Sirar ur anfes WaTes 3R ifek & Hidl UR THBIIRISGR $IAH §1 Wb | HIHTID
fafaerar &1 ToFife = oiRoms &9 ardf w Rk s 8, o Pefafea §: s gu s w ik swar g %
w1 3ot e ugE ) R T § A9 €1 afe o 3o 3y Y fafke aree we € o 4 A

gt fafderar @) w=r ur gitea 81 ST 81 Iear e gen & |l F fPT ave ¥ 9 Fa g
et WHer™ @t AT IR WRER S Sut ufafear gl 81 afg feet Txers &1 7 ST W6t aiie | q=
STaT @ o SHR IS Hae ae e 21

YRd & U T & ganfae o) Sifa saain 9+t Bt 3uF SaR TH & H1d & MMUR W IR Tl o
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T H TGRS 8 Aihds BT 3R Haad sidl & | 3o HIRd A THIS & T4 8% 97 &1 ufaf=iiie
WHR ¥ 3@ ) e 1 TART 549 $8 Tod § & yRa O a9A & e diead a9 w1

TUYE TR H1 UgHR - IR 7Y U F1 I« qargel

T el 3t gt R & ol enfife wu & @ s gan 82
1. HdaH

2. TRED!

3. Ri=ms
4, fawrg

Correct Answer :-

26) et oft wwrer A Rt onffes aads, aftfe Tgerat, faftm ymard TuE), fafts dwpfal siv snfoal
P digeh ®1 38 v 3t fafauar sgd §)1 afy Rfauarst ara 3w &t a9 @t 919 @ YRa | dgR
IETER0T SR B T 51 FpaTl URa A g & @t weft ger ol o 7 are @i ved 81 WRd |
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e faursH 3R e S1fde & wie e & Rigd & 3guR st g fve gar € 98! Rigr @
T 21 e B Rigr 89 F R onffe w1 @ et F31 gt 21 o et @ wHe § S e
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fafaerar &1 voifa w oo §i9 aaf w R svar g, s Fefifea §: s s s Rk srar g &
AR SOt ArATfoTe Uea i 5 0 8 a4 €1 afe @i Srme 3y o fAfRrg ar wea € e o
raTfore fafderar &) var o= gied 8 omar 81 IeEar et agern & @i @ 5 ave @ i wva 81
et THer 9 7 W WeR ot St afafhan 1t 81 afe et wgera o wiv &) wd afF & 7
STaT ® A 3R TSI g9 g9 21

YRA & U Ui & Halas o Siid sTawdT T+t At IHS SR GHIS S S & SATYR TR TR T
aier war 41| el @t gar = & o et ware # $eft arawr 8t Afe awa die F @y v o
St a1 gof srgwn el g8 oY 59 919 W enutfva @ fr faredt aufd o1 oo fvw onfar & gan g1 ifsht
TPHA & UHTG S BRI R YRA H 3 dTell TRHRI $1 IgRAT! AHfaal &1 aeted 3ifte & e an
Ay R&T $T Braer IeM @ | 3HF Jarar Hifear 7 off TS # SrEwdr Bar 1 & fearl 39
[ 961 3 DS gU o # SIMeedl BaM ST TR 3R 3911 39S IR 3F dE S M R ¥ 1e
T 91 & UdT gerdl @ 3 5% 38 T AT SHR X TTH oM € o St Sinfay & 18 1 que b g 9 &y
T | AISIGRT 1 81 Alhda BT e Adad 8idT g | 3ol HIRd A THS & AHI 8% aF &1 Ufai=ieed
TIHR A 3T 7 frwar 31 59l 59 o7 I § 5 WRa 8 arA ¥ U didda a7 w1 7

U TR P UeHR I IR T U= FT I@R qa18C]
URA: YR T | Bt Tpfa faadt 82

1. 1S &

2. TGN

3. Uohd

4, TRG-RG Bl

Correct Answer :-

+ TRE-RG B
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27) it it wwrer A Rt enfdfe aads, afife agerl, faftm wrars TuE), fafts dwpfaal sitv snfoal
Pt HiggT B 39 TH B! fAfyuar vea &1 afe Rfaearst ad 3w 1 91d $t 918 @ YR F JgaR
TETERVT 3R HIE TET 81 qpaTl WRa F girar & @ T @1 «f o 9 ard @ I 81 URa |
BRI UINTY, SfET-3(eHT W UTH, T-3E T WIS 3R e aig 3 Spid ¢u o frerd! g1

Fraires v 3R erifa: S & wite e & Reia ¥ sar St g fbe &ar € o8 Rier e
T 2 | Ao 1 fver e & ol onffer w0 § avadt wRet gt 81 oo araet & T § S =i
UTC g UTeT 81 3faer™ # U Hasi Sameevl § o sfde ©u ) 19U e A e &0 8 $H9R e W
A a1 T suferd fma e ot anfs waneE ok oIfed & widl W USIUeR S1aH 8 9% | e
fafaerar &1 Iefa W oRoms d9 aal R AR s g, s Fufafaa g s s s m R s=ars &
AT 3U- HTHTRTS UgdH &f fhd 0 § Ad & | afe @11 319+ 31y &1 ARy 4 & § 9f 09 |
graTfore fafaerar &) uar o= giea 8 smar g1 IeHa et ager & Al @ R ave 9 i wRd 81
e wier 91 7 W) WRER $1 St ufafear gkt 31 afe et e 31 v 1 a8t o fe & e
1A € ) 39N I qad 99l 81

YRE & U= dUf & Farfae ot Srfer ot g+t <t SO SR 90T B ol & YR W OR Iigt &
aier mar 41| it @Y gar 8 @ fF et ware § it srawr B *fea g diaw & 9y v ot
witfer ar auf srawn fAeRa g3 & 59 a1 W smenfa @ 1 freht safda o1 o0 fow onfa & gan 81 eiisht
TP S UHTT b PRI 3R HRA § 3 aTell TWHRI D1 IeRaAS) feral 5 adiaa e T 3ifire wi
yf® Rren 71 wraer Io™ @ 3TF rarar Hifsar 7 ot e # srrEwar ham &1 e fean g7
|9 9141 A fUss g al # SIewdr BaM &1 0@ R R [T 530 TR 39 ¢u- @ fid 8 8198
wmﬁmm%ﬁfﬂﬁﬁaﬁuﬂmammﬂmﬁm%ﬁﬁmﬂmﬁ&?ﬁ%l U & g3 I BY
T H ArSGRY 41 8 didds &7 SRIell Haad gidl 1 36 HIRd # GHIS & eNTHI 8% a7 &1 ufafiia
WPR A T T e 21 3R 9 TE 9od & & YRa I8t A § U diwas a9 T 81

IUYE TR B TGP - TR T YR FT I« aargel

TR: URA & U JAf & Garfad -9t et g+t Atz
1. ST GRIT

2. UTftfes sgaw

3, SffeaRT

4. SITfQ) Sqa=AT

Correct Answer :-

o ST AR

28) it oft wwrer & it enffer aads, anfife Tgeral, faftm wmars Tug), faftrs dwpfaal sitv sfoal
Pt HiogT BT 30 WA B! fafyear vea &1 afe RAfaearsi ard 3w &1 a1d F 918 @ YRa F JgaR
TETERVT 3R HIE T8I 81 qpaTl WRa § girar & T T g+l o A ard @ I 81 URa |
ORI HTUTE, SET-3ERT W U, ATT-3MTT TS 3R T8 e o Gepla 3@ ! firerdt g1

[ v 3 werifa: S & wite Rer & Regia ¥ saar St wed fre ar € o8 Riere
T 2 | A 1 RieT e & R anffer w0 A avast S gt 21 e Rt | T § S =
T &) urar 21 3faer § 1R el Sarevur § R anfife w v @ 3w e A onfife U § $HER [T W)
T | T sfer) fan e ot anfes |y ok oifdd & wdl W USIUaR S1aH 8 9% | |rTire
fafaerar &1 woifa W aivoms & araf w ik svar g, s Pefafea 8 ssu s w kR swar g &
AT 3O AT Uge & fd w0 § Ad € 1 afe @1 319+ 31T &1 Ay 7194 & § of 809 |
arATRIe fafdudr &1 o= urr giRed g Sirar 81 oan fe agerg &t @i 1 b ave I U wed g
et wer Y 7T W WRER $ St ufaftrar gk 81 afe el wuer 9 uin & w8 a8F | wrn
T 2 A SR e TEe gt 21
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YR & UTHA T & Galaw® ol i sTawT Tt St SHS SR THIS S S & SATYR TR TR T d
aier war 41| el &t var € § o et ware & $eft arawr &t Afd gy die F Wy v I
STt a1 ot sqawut fasRRa g8 oY 59 a0 R enuifva 3 1% fonsdt sufea o1 o i onfy & gan 81 oSt
FEAd & UHTT S HRUT AR URA H 3 aTelt IRBRI BT JgRATS! ol ot agiaa it | it i
Yy RgT $T Braer I8 @1 30 arar Hifear 7 off TS # SAREwar BaM 1 1 fearl 39
[ a1l A UsS g ) # SRewar bam o1 99 R B faarl 599 uRony o 3@ #) frd @ 81 98
T 919 © U e @ o 08 4 AT SR 3% UTEE oM € off S oy & 8 81 9w S e I B
FAT A WIHERT 31 € didda BT Sradl Haad 81dT 8 | 316l HIRT A HIS & GHT 8% a1 &1 ufafafire
PR A 3T 7 fraar 31 59l 50 o I § 5 WRa T8 arA & ' A a9 w7

ST TR F UgHR 12 TR ¢ W= T SR TS|

T: WRA § giar & @t [t g« St Je ard ant 9 gl
1.9

2. foryep

3. 39
4.1{6’?‘16'

Correct Answer :-

29) Tt o wurer A fafir anfde aas, nfife Taeray, faftrs yrars Twgl, faftrs dwpfod) shv sfoal
B At BT 39 wH B fafaeer vad ¥ afe fafaearsit ot 3 &t a9 3t 9 | URa | g
TETER 3R BIg e g1 Apar WRa # g & arr el g uwl & aree ard @l ved 81 WRa
BRI HTHTE, 3[ET-3eRT W UTH, 3TT-3M6HT TS 3i¥ 9RE 9 o Gepid ¢@q @t firerdt 21

RIS fAUTSH 3R IeHife: S1dE & wite e & Rga & gar st 9ad five g ¢ a6t Rier @
T 21 e B Rigr T8 F R anffe w1 @ aedt F a1 21 o avest @ wne A S e
I B UTar 81 3foer § TN Ads! Sarevvl 8 forad snfdfe U | 9 e 3 e 0 3wk e )
T | T e fva e Ut arfs |y ok wifed & Sl W USIUSR $TaH g1 T& | GrTre
fafaerar &1 Toifa w oo &9 9l w® Tk sar g, s Feffea §: s s s w Rk a2 &
TR 39t ATATRoS UgdT &1 {5 U # A § 1 afe 9T 3rgA 3y @ fafRry A o § o o o
[T fafaua @) v uren giRea §) Srar 81 Ie-ar i aer Y il &t a9 ¥ 0 FRd §)
fpeft THamE &1 i R WHR o1 Sl ufafsar gt 31 afe et wyera 9t w4 &) w8l add & A
STaT ® o SHY TSI W g9 gl

YRA & U Tl & HAlae ol Aiid oTawT T+t St SHS SR GHIS S S & STYR TR TR T A
et war 41| {5t Bt var 9 7 f geamdt ware # it saawr 8 Afes aw e F @1y oe
wifer ar gof srawut el g3 off 59 a1a W snetiva & 6 et safa o o fsw onfy o gam 81 siish
ETHT & UHTT & PRI AR URA H 3 GTell IRGR] BT IGRATS! e B actad e F s @
ryfe Rigm o1 wraer I8 @l 39E sarar Mifear 7 o wue # SrrEwar Bam 1 e fearl g7
T4 9161 3 S gU o # SIMe el M $1 TR $R 311 39S TR 3E dE S M R ¥ ue
T 91 A v Tadt @ 7 w3 3 & A IR FR g oM § ot =it wnfa & 1 ¥ v F R i @t
HATH WIEHERY 31 € didas BT SrHd Hadd 81dT 1 SHTel HIRT A THS & GHI 8% a1 &1 ufafafere
AEHR A 3T 7 fraar 31 59T 9 o5 @ § 5 WRa T8 arA U Ao a7 w1 7

JU T B UGHT H1E D ¢ U $T SR a5l
TR: URA et AR A 9T 9 381 82

1. Ue IS

2. T Al
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3. U& 3dax
4. U yHda

Correct Answer :-

30) fo=dt oft et & faftr onfdfe aads, enfife Tgerat, faftm yrars e, faftr dwpfoal oz sfomt
P HogT B 37 wH @1 fafduar vea €1 afe Rfaedars arc 3w 9 a1d 9 918 @ URa F JgaR
IR0 3R HIE T B Fopar| wRa A g & amam waft g owf o aea ard | Ted ¥ uRa §
ORI HTHTE, 3ET-3ET W T, -3 GRS 3R TRE TRE o Wepia @ &1 freret g1

AR faUTS 3R Ioiifer: Sifd % Hite faer & Riga & SR s gad fthe g ¢ a8 Rigr e
e B 1 Tl @Y e 38 F Rl onfife w0 et s 8 B1 enffe et | v § e e
oo &) urer 21 sfer & ¥9 des) Serevur € R onffe w7 | ¥uw e 3 onffe U & HEER e R
A a1 TaT saferd frar wimar o1 arfes TameE o Ufed & Sl W USHUSR S g1 T | ArHTre
fafrerar &1 erifer w ufvom i Tl w ik wrar @, o FofRa §: ss g s w Rk srar 2 %
T 3ot FraTore TeE o) fhw T u § 99 €1 afe @ o Ul AR arA e € St e H
[T fafaear &) war e i §) omar 81 IoHar e ager ot 7 @1 5y ave ¥ 0 aRd §
it Te™ ¥1 7 R WRER @t St ufafear g1t 81 afe feedt agera o1 vt &1 a8 adie &
STaT @ A THR IS Faw g 2

YRA & WA FUf & garfas ot I1fd srawat g+t At IUS SR THIS & 1 & YR IR IR T3gi o
aier mar 1| flt @ uar 7€ 8 5 yresmdt waTer & St srawr & A Iug dfiaq & 91y ve oW
STfer a1 avf AR s R g8 W 59 919 W Snea § 6 et safda o1 o i oty & gan 81 sivish
UG S UG S HROT R URA F 3 aTelt IWHRI $1 Igrarc! foal 9t adiaq oifiie & iftre i
ryyf~e RI&T BT Braer 36 @1 39 ardr Aifsar 3 ¥ U # SRREwdr BaM $ e fearl 59
9 91l 3 oS gT A A SIFRewar M BT 9 R @) (60T 390G TR 99 ¢E & e 1 aw
T 91 A Ua Tt € 6w 08 & T IHR SR O Ml € S St e & 1) €1 weel F g g &y
1 H AR 1 € Al dd BI Sel Hadd BT & | TS HIRA A JHS & aHI 8% @l &1 ufafeifie
PR H 3T F rarar 81 39T 549 &8 9od & 5 yRa 98 AraA # U diedd 99 w8l

SUUe TR HI UgHT A g T U= P Ik qadisel
W fafqerarsif aral o1 & fgTer & YIRG &1 R /1 72
1. gfear

2. 3 gd

3. 9HN

4. S8R

Correct Answer :-

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:

The most bittersweet thing
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About the experience of reading

Is the ending

You don’t know whether to be happy
For getting that sense of closure

Or to be sad for reaching the

End of yet another adventure

The word which rhymes with whether
1, leather
2. bother
3. mother

4, father

Correct Answer =

* leather

2) Read the poem carefully and answer the question given below:
The most bittersweet thing
About the experience of reading
Is the ending
You don’t know whether to be happy
For getting that sense of closure
Or to be sad for reaching the
End of yet another adventure
At the end of a book , the speaker experiences:
1. terror
2. delight
3. happiness

4, sadness

Correct Answer :-

« sadness

3) Read the poem carefully and answer the question given below:
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The most bittersweet thing
About the experience of reading
Is the ending
You don‘t know whether to be happy
For getting that sense of closure
Or to be sad for reaching the

End of yet another adventure

When the speaker says she feels bittersweet about reading, it means she:
1. has mixed feelings about the experience of reading

2. hates reading

3. loves the experience of reading

4. finds reading very boring

Correct Answer :-

+ loves the experience of reading

4) Read the poem carefully and answer the question given below:
The most bittersweet thing

About the experience of reading

Is the ending

You don’t know whether to be happy

For getting that sense of closure

Or to be sad for reaching the

End of yet another adventure

Give synonym of the word adventure.
1. inertia

2. latency

3. certainty

4. escapade

Correct Answer :-

+ escapade
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5) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always
did. Why did he change, she wondered? One thing Mia certainly knew from all the books that she
read was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books ‘To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”. She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked
up to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed
silent.

Amir considered her unwelcome arrival, and asked her angrily “What do you want Mia? Can't you
go elsewhere and just not bother me?”

Why did Mia approach Amir?

1. She believes everyone has a story

2. She wanted him to hoist her on his shoulders and run
3. She wanted to know why Amir had changed

4, He was a bully and she wanted to tell him that

Correct Answer :-

+ She wanted to know why Amir had changed

6) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always
did. Why did he change, she wondered? One thing Mia certainly knew from all the books that she
read was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books ‘To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”". She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked
up to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed
silent.

Amir considered her unwelcome arrival, and asked her angrily “What do you want Mia? Can’t you
go elsewhere and just not bother me?”

What does Mia realize by recalling, ‘You can never really understand a person fully until you
climb into his skin and walk around in it.’
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1. Amir was a bully
2. Amir was a friend
3. Amir was rude

4, Amir had a story

Correct Answer :~

* Amir had a story

7) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always
did. Why did he change, she wondered? One thing Mia certainly knew from all the books that she
read was that everyone had a story. Everyone had their story. Even bullies!

Mia recalled a line from one of her favourite books ‘To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”. She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked
up to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed
silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can't you
go elsewhere and just not bother me?”

What did Mia remember with nostalgia?

1. A favorite book “To kill a mocking bird’

2. How Amir was fond of her

3. How Amir used to hoist her up on his shoulders

4, Amir the bully

Correct Answer =

+ How Amir used to hoist her up on his shoulders

8) Read the passage carefully and answer the question given below:

Amir was not always a bully. He used to be fond of little Mia and used to play with her, but not
anymore. Mia remembered with a nostalgic smile how he used to sometimes hoist her up on his
shoulders and run, and she would squeal in delight and urge him to run even faster. He always
did. Why did he change, she wondered? One thing Mia certainly knew from all the books that she
read was that everyone had a story. Everyone had their story. Even bullies!
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Mia recalled a line from one of her favourite books *To kill a Mocking Bird’; “You can never really
understand a person fully until you climb into his skin and walk around in it”. She knew then that
she needed to know Amir better to really understand why he changed. She stood up and walked
up to the tree. After a moment of thoughtful hesitation, she sat down near Amir. She stayed
silent.

Amir considered her unwelcome arrival, and asked her angrily "What do you want Mia? Can’t you
go elsewhere and just not bother me?”

In the passage, who is the bully?
1. Everyone who has a story

2. Mocking Bird

3. Amir

4. Mia

Correct Answer :-

« Amir

9) Fill in the blank with the correct option in the given sentence:

The jury recommended clemen-- in reporting.

1. -ts
2. --ce
3. sy
4. --cy

Correct Answer :-

10) Fill in the blank with the correct option in the given sentence:

Cinemaviewingisa______ pastime among city dwellers.
1. popularly

2. popularity

3. popularized

4, popular

Correct Answer :-
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+ popular

11) Which of the following options best combines the two given sentences?
All of us started quite early. We missed the first local train.

1. As we started quite early, we missed the first local train.

2. Though we started quite early, but we missed the first local train.

3. Although we started quite early, we missed the first local train.

4, Whenever we started quite early, we missed the first local train.

Correct Answer :-

« Although we started quite early, we missed the first local train.

12) Choose appropriate articles for the given sentence:

Vasudha informed HOD that she would be coming hour later than usual.

1. no article required, an
2. an, the
3. the, an

4. 3, no article required

Correct Answer :-
» the, an

13) Choose the appropriate option that rewrites the given sentence in its active voice.
A lot of rubbish has been thrown on the streets.

1. They had thrown a lot of rubbish on the streets.

2. People are throwing a lot of rubbish on the streets.

3. People have thrown a lot of rubbish on the streets.

4. We have been throwing a lot of rubbish on the streets.

Correct Answer :-

» People have thrown a lot of rubbish on the streets.

14) Choose the appropriate tenses to fill in the blanks in the given sentence :

People who the evidence at the trial at the outcome.
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1, were hearing, was surprised
2. had heard, were surprised
3. heard, are surprise

4, are hearing, are surprising

Correct Answer :-

+ had heard, were surprised

15) Choose the appropriate antonym for the highlighted word in the given sentence.

How could he desert his wife and child?
1. rescue
2. protect
3. defend

4, accept

Correct Answer :-

» protect

16) Choose the appropriate pronouns for the given sentence:

Ranveer saw in the mirror whenever got dressed.

1. himself, he

2. them, he

3. myself, |

4. herself, they
Correct Answer -

¢ himself, he

17) Choose the appropriate prepositions for the given sentence:

The thief ran a cave that lead him a waterfall that fell the river.

1. into, to, into

2. from, for, onto
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3. from, in, on

4, for, into, across

Correct Answer :-

« into, to, into

18) Choose the appropriate conjunction for the given sentence.

Do you like tea coffee?

1. but
2. yet
3.or
4. if

Correct Answer :-

19) Choose the appropriate synonym for the highlighted word in the following sentence.

He could not achieve success because of his cavalier attitude.
1, haughty
2. diligent
3. amiable

4, humble

Correct Answer :-

20) Choose an appropriate modal for the given sentence:

We will not eat until the guests are here. They not have had their breakfast.
1. should
2. might

3. shall
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4, can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:

These days the villagers have spotted the fallen hero drink like a fish at the bar.
1. be like a fish in water

2. to drink heavily

3. enjoy a drink or two

4. cause a lot of disturbance

Correct Answer :-
« to drink heavily
22) Choose the option that best explains the highlighted expression:

The vice president of the company gave his subordinates a piece of his mind when the sales
figures nosedived.

1. pitched in
2. reprimanded
3. advised

4, accused

Correct Answer :-
» reprimanded

23) Choose the option that best transforms the sentence into its Indirect form:

‘Call the first witness,’ said the judge.

1. The judge told them to call their first witness.

2. The judge commanded them to call the first witness.
3. The judge said them to call the first witness

4. The judge called the first witness.

Correct Answer :-

» The judge commanded them to call the first witness.
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24) Choose the option that substitutes the given phrase appropriately.

A person hurt or killed in an accident
1. Casualty

2. Martyr

3. Patient

4. Injured

Correct Answer :-

» Casualty

25) Read the sentence carefully and choose the option that has an error in it:

Someone who has ever tried to pick up spilled mercury will agree that this element is hard to
handle.

1. will agree that this element
2. is hard to handle.
3. Someone who has ever tried

4. to pick up spilled mercury

Correct Answer :-
» Someone who has ever tried

26) Change the given sentence to Indirect speech.

The king said, “Is there no one who can venture an answer here in the court?”

1. The king asked whether there was no one who could venture an answer there in the court.
2. The king asked whether there was no one who can venture an answer here in the court.

3. The king asked whether there is no one who can venture an answer here in the court.

4. The king said that was there no one who could venture an answer there in the court.

Correct Answer :-

» The king asked whether there was no one who could venture an answer there in the court.

27) Fill in the blank with the correct optionin the given sentence:
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If a river flows above its banks, we say that the river is --flowing.
1. super--

2. sub--

3. under--

4. over--

Correct Answer :-

* over--

28) Fill in the blank with the most appropriate preposition in the given sentence.

A thorough search of the aircraft was carried out the airport.
1. in

2. during

3. at

4, above

Correct Answer :-

29) Choose the most appropriate determiner in the given sentence.

John hasn’t seen evidence to convince the police of the crime.

1. any

2. all

3. enough

4. a

Correct Answer :-

+ enough

30) Choose the right tag:

I wrote to my uncle yesterday, ?
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1. didn't I
2.didI
3. haven't I

4,do 1

Correct Answer :=

« didn'tI

Topic:- Social Science (SSC)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This
was quoted by: / "T® UG OUf U | TH IR0l Tfafafy gidt 8, Sit U qrAiee araravor §
T Tt 71" T8 TP GIRT Igyd T T o

1. William Kilpatrick / faferas fratfes
2. John Dewey / S Sidt

3. John V. Michael / S dt. HIgdal

4. Stevenson / ®Id=A

Correct Answer :-

» William Kilpatrick / faferrd fsaifes

2) Constructivism as new philosophical approach for curriculum designing focuses on: [ UTSUHH

feomsfn & fore T griff® eRen % wu & SvaamEe TR T Pigd HIar gl
1. Intrinsic motivation of the subject/ fawg &t siiafke sifyoRon

2. Delayed punitive mechanism / facifoa <t goret

3. Extrinsic motivation of the learner / ﬁl&l’[’-ﬁ P EIR] S{fHTROT

4. Immediate reinforcements / dehlcl ﬁ%ﬂﬁlﬂ

Correct Answer :-

« Intrinsic motivation of the subject/ fawg &1 siafke srftoRon

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing
students an authentic, real-world context for learning? / 17 AT 3AftAH, 3fa:fwa & v Afpy,
BE-FE R S R e Sfa wwar 2, PR ol 3t W & R v wmfre, arafae giar o
e yer fovar wmar 82

1. Experimental / PIEIIBED
2. Curriculum Based / UT6U®HH TR
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3. Project Based / URTSHT TR TR
4. Rote Learning / Y&d SIETH

Correct Answer :-

+ Project Based / RIS TR ST

4) Which among the following is an example for institutional credit? / fFafaf@a # 4 s
TR WG ¥ I T 36701 22

1. Moneylenders / HIgPR
2. Primary Agricultural Credit Societies / WT&W BSIEIGR

3. Traders / SATART
4, Landlords / @ﬂl'al?

Correct Answer :-

» Primary Agricultural Credit Societies / PIgitcy E!Tfﬁl g gt

g)ﬁ v%;rich is not a quality of an evaluation tool? / 5 ¥ & &1 U gedi® IUHRV &1 TH IUiad]

1. Validity / deaT

2. Practicability / ST
3. Objectivity / fsaerar

4. Subjectivity / FIaTURDAT

Correct Answer :-

« Subjectivity / Ul
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Match the following

1. Peona Pact A, 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
3. Simon Commission C.1932
4. Gandhi Irwin Pact D.1927

[ FeTRTET & e i

1, g TAESar A 1925
2, T Fad Hae O | B, 1931
3, TsHN FHR C. 1932
4, sieh-XiEw Fsiar | D, 1927

1. 1-A,2-B,3-C4-D
2. 1-C,2-A,3-D,4-B
3. 1-C,2-A,3-B,4-D
4. 1-D,2-C,3-B.4-A
Correct Answer :~-
e 1-C,2-A,3-D,4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of

the following? / 31 &1 gl ¥ Uaclt SHeafeR 3R &faw Jawty 93 fom # I o1 Hgard! 82
1. Lava/drdr
2. Locolith / dopiferd

3. Plutonic rock / CIA& TgH
4, Dyke and Sill / 8T8 3R fi@

Correct Answer :-
« Dyke and Sill/ ST8% 3R Ra

8) The method which provides a certain degree of reality and concreteness to a learning

situa%ion is known as: / ag faftr St arftnmw fRUfY #t arafadar i WY@ YeE #dl 8, 39 = &gt
EIGINH

1. Lecture-Discussion / TrRIH-I=

2. Field trips / & wied

3. Dramatization / FTCHII BUR
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4. Demonstration / TSR

Correct Answer :-

« Field trips / & Tie

9) Who among the following started the Home Rule Movement in India? / YRd A gH &

igra fFrafafaa o 3 feae grRT IRE fovar mar 91
1. Annie Besant / THI S
2. B.R.Ambedkar / &1, 3[R, 3{dSH

3. Jawaharlal Nehru / SIdlg¥ ol :IENG

4. Subhas Chandra Bose!ﬂlﬂﬂﬂﬁm

Correct Answer -

» Annie Besant / T dde

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? / EaE|

wRIs Ui Wid U & Ad1s & et URaR A areg® W A7
1, Meerabai / "ﬂ?lﬁ'l'&‘:
2. Chaitanya / ERE)

3. Tukaram / P RMH
4. Andal / 3[Ga

Correct Answer :-

« Meerabai / 'lﬂTIEﬂé

11) Who was the first surveyor of archaeological Survey of India during British rule? /

fofe=r I & SR YR IRIa@ TdEI01 ST UgaT Hae v Bi- Y12
1. Alexander Cunningham / 3ol e} BIgH

2. James prince / S U

3. James Fergusson / SR W’{t\q:l

4. Dayanand Sahni / GITHG qrgHt

Correct Answer :-

+ Alexander Cunningham / TSR HieY
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12) Who founded the Swaraj Party in 19232 / 1923 T ¥aRTSl TS| Bl TITTT f5a= 912

1. Motilal Nehru and C. R. Das / Fldlt AT 7%= 3R I, 3R, T

2. Gandhiji and Jawahar Lal Nehru / HIDIIREES SIdigX did %63

3. Subhash Chandra Bose / HY I% CIR|

4. Sarojini Naidu / IRISH! AIIg
e

« Motilal Nehru and C. R. Das / Al AT ﬁ’fﬂa Sﬁ?Fﬂ 3. a9

13) Who is the exponent of Jurisprudential Inquiry Model? / faR=I= Td¢ft S Afsa &

TfuTEs I 87

1. Bill Gordon / fa@ e+

2. Richer Suchman / RER a8+
3. James Shaver / S ]I}

4. Hilda Taba / fgesT drel

Correct Answer :-

+ James Shaver / O QR

14) Who was first elected to the British House of Commons? fﬁﬁwm 3P BAT P

e e uga f5 g A2

1. Jawahar Lal Nehru / STATER @1 A&
2. Mahatma Gandhi / IIBW:ITTIT‘iﬁ

3. M. G. Ranade / Q'FfTrﬂ IATS

4, Dadabhai Naroji / GTGTHTS ARIoiT

Correct Answer :=-

« Dadabhai Naroji / GTGTHTS ARIeit

15) Capital of Ancient kingdom of Avanti was: / 3t & U FTHTSg BT IS oAt
1. Vallabhi / decit

2. Pataliputra / OTCeTg
3. Vidisa / TafGam
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4. Uijain / 350

Correct Answer :-

. Ujjain / oo

16) For what action in Freedom Movement is Usha Mchta known? / Saa=dl \?'I'IE]?FI' Hfey
BT & forg IuT Agdr ST STl 82

1. Participating in Round Table Conference / THaHe TRIeH H T o & faw

2. Running a secret Radio during Quit India Movement / HIRd @ISl SfielaH & &R U I Sl
EGIC]

3. Captain in Azad Hind Fauz / 3T fgg %S § W 894 & o
4. Captain in Indian National Army / HRdRI 781 1 F e

Correct Answer :-

« Running a secret Radio during Quit India Movement / YRd SISl TG & R TP 1w f&al

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? /

AR 31 Ul Afger wmue dic fidl A fow 9w & e asrE ash?
1. Mughal / HITel
2. Adilshahis of Bijapur / SIISITqR & ST cRIG!

3. Afghan / 3T+

4. Nizamshahi of Hyderabad / §GRI8TG & [AoTHITGT
Correct Answer :-

« Mughal / HTeT

18) The coin Rupiya was first issued which ruler? / FUdT RraehT g Ugd [y I A
IR} faar Ut

1. Humayun / ETITQ;

2. Babur / §l6lX

3. Sher Shah / RR Q18
4, Akbar / 3{hdX

Correct Answer :-

« Sher Shah / X M8
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19) The cardinal objective of setting up a Social Science laboratory in the school is to: /

e & armfore fasm wRT=meT Rt H9 B1 IHe 359 §:

1. Preserve and transmit the art and artifacts to the future generations / &<l 3R mﬁ
TRI&d AT 3R Higsy o1 difeal ao ugar

2. Create an artificial environment for recreational activities of students / BT B! AARSI®

foparemardl & 1T U S EH qraraRur a1

3. Extend additional space for group activities and project works fﬂ%m AR ufsmT
1l & ferg Stffed QI &1

4, Translate the theoretical postulates in to concrete experiences / Jgifas ifuRomsf &1 31
3fgHal # S(dE T

Correct Answer :-

« Translate the theoretical postulates in to concrete experiences / ﬁarﬁ'la? SUYRUTST BT 319
3yl § 3fgarg BT

20) Two or more people learn or attempting to learn something together is known as: / arar

TS AT T 1Y $5 WEd § a1 W= ST TN Hd 8, 39 (1 $Hgl 91dl g
1. Learning by observation / 3facies gRI 3{fH

2. Learning by doing / fo5areere ffams

3. Collaborative learning / Giifed® 38T

4, Team Teaching / Gag Rr&mor

Correct Answer :-

« Collaborative learning / SHfe® 3MfTH

21) Which one of the following is not included as a function of Summative Evaluation? /

FPrafifad & @ a1 grmee Yoo & te o & w0 § i T8 82
1, Promoting / WIedTe

2. Selecting / TG

3. Diagnosing / f9&M

4, Crediting / 99 &1

Correct Answer :-

. Diagnosing / gH
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22) Which of the following is not a basic principle of Project method? / Frufaf@a o & =r
ufeaiern faft &1 ve gu Rigia 781 82

1. Validity / deT
2. Activity / TIfafafd
3. Utility / ST

4, Purpose / 3=

Correct Answer :-

« Validity / J&dT

23) Which of the following is the process of pinpointing the learning difficulty of a learner of
a learned material and to suggest remedial measures? / fafafaad @ wﬁ@gﬁaﬁ & TH
Rrgnff ot W 1 IS B1HE var T MR ITARTHS IR HT Y1 S i ufehar g2

1. Projective technique / PREIGERICY

2. Norm-referenced testing / HIH® Haftfa mteror
3. Diagnostic testing / arf® Tiemn

4. Criterion-referenced testing / AFGS Sefife fafer

Correct Answer :-

« Diagnostic testing / e adiemr

24) Which of following steps is not involved in Inquiry Method? / W—Wﬁﬁlﬁﬂﬁﬂm
TRT I T 87

1. Encounter with the problem / THIT T JTHAT HAT

2. Formulating an explanation / T TSI 0T TR SR

3. Data collection and verification / I gUg 3R AT

4. Classification and consensus / TR0 3R Fqwfa
correctA“swer - T — —

« Classification and consensus / FHRUT 3R TITHAfY

25) Which among the following is not a technique for ensuring reliability of a tool? /

Frafafaa 3 & s fayesitaa o1 gHfa 531 o ao-ie T8 82
1. Odd-even method / T9 faww fafer
2. Split-half method / faveard fafy ((Ruee-giw AYs)
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3. Test-retest method / TRI&TOT G- URI&T0T fafey
4. Criterion-referenced method / ATGS Heid fafd (mﬁuq-ﬁqﬁ?% ﬁll_s')

Correct Answer -

« Criterion-referenced method / HFG.S Taiid fAfT (FEeRo-Ripits 7YS)

26) Assessing social relationship among members in a social group is termed as:

/ Th QTHITS THE § Tl & e Arfore et & smead &1 3 wer rar 8:
1. Projective technique / W&t dd-idm

2. Case study / ¥ &l

3. Sociometry / THTSIIHT

4. Observation / S{d@IH=

Correct Answer :-

« Sociometry / THTSITHTT

27) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 HFURad

THd TG IUTG (SieTdh) H I T AR fora=t ufa=ra ur?
1. 43%
2.31%
3.29%

4. 18%

Correct Answer :-

s 29%

28) Gandhian Plan was advocated by WAL G e | 3 |
Jqdq % g1 fopar Ty AT

1. M. N. Roy / AFASATY I

2. Jayaprakash Narayan / STIUHIR] TRTIU

3. Narayan Agarwal / TR0 AT

4. Jawaharlal Nehru / STATgRATd 16

Correct Answer :-

» Narayan Agarwal / TRIYUT {Ydic]
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29) National Forest Commission was established in the year . !?TEW?FT ST &1 TATYAT
G Hgs I

1. 2003
2. 2005
3.2002

4. 2004

Correct Answer :-

« 2003

30) In which city was the first Automated Teller Machine (ATM) installed? / UYH

AT RS Ta” A=A (TaaTferd o T=it+) (Teiuw) fre <rex & wurfia & g i
1. Chennai / I9%

2. Delhi / faeeit

3. Calcutta / HEHl

4, Mumbai / Hﬁé’

Correct Answer :-

+ Mumbai / Hﬁg

31) Which of the following factor is not the geography factors influencing population distribution? /

Frafafaa & § $9-91 SRS T8 favr 1 quifad B3 arar Yid SRS T8 82
1. Soil / H&T

2. Water / I

3. Climate / Sleidrg
4, Industrialization / 3emfieur

Correct Answer :-

+ Industrialization / SIGicR|

32) FAO stands for /TEEANHTIYUfEY__ Bl

1. Food Aid Organisation / B8 US T eaR SAERA

2. Food and Agricultural Organisation / P& © W Gﬂ":ﬁl'é@lﬁﬁ

3. Federation for Agricultural Output / THevTH B TfiheR 3113 cqc

4. Federation for Agricultural Off take / TaRH BIR TiheR 3F ¢h
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Correct Answer :-

+ Food and Agricultural Organisation / B8 U8 WideeR THIZORMA

33) politics is based on the idea that religion is the principal basis of social community. /

_ Irorifa s R w snenfya B B o areiiie aHera o1 vHE R B
1. Regional / &34

2. Communal / GiYET®

3. Local / RIMIT

4. Social / GTHTTR

Correct Answer :-

+ Communal / FUCIR®

34) Who said that, ‘As far as the nature of legislature is concerned it is such that there are
restrictions only so far as procedure is concerned. But in substance there are no restrictions, no
limitations on the sovereignty of the legislature or parliament.” /ﬁmﬁ Wﬁi 'GIBTW ICEIEES
P uPpla &1 HaY g, A ulady Faa uferar & g A §, afea arafaewar & faufeT ar v #it
HYYAT R PIs wfady 78 g, B Hrart 7 g1-

1. Acharya Kripalani / 3R m

2. Purnima Banerjee / qﬁ’fq'[ cEmi

3. N.V.Gadgil / T1.d1. TSR
4. Durgabai Deshmukh / GTTETS GRIEE

Correct Answer :-

« N.V.Gadgil / T dI.ITSHTE

35) Who can confer civil and military awards on individuals for their services and achievements? /

Jarsit 3R Iuatsl F fore aafemal &) ARR® iR V=1 REPR B U H THdl 82
1. President / JTgUfd

2. Prime Minister / TeTTHAT

3. Cabinet Minister / BSC AT

4. Chief Justice / T <RATHRT

Correct Answer :-
» President / Tl'g'qﬁ[
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36) Who was the first social scientist to make a systematic study of bureaucracy and described it as

rational and the most efficient form of organisation? / ﬁﬂ?ﬂﬁ BT AU YT B a1 3%
T THIIG 3R WS T ITH P T U T Tl Ugel ATHTD dqri=e HiF Az

1. Karl Marx / Te ATSY
2. F. W. Taylor / U, 8&Y, CTR

3. F. W. Riggs / U0h. S, g
4. Max Weber / B R

Correct Answer :-

e Max Weber / T IR

37) Who was the first Chairman of Planning Commission of independent India? / ¥4 HRd cg

IS STANT & Uge A& PIT A?

1, Morarji Desai /Iﬂ?ﬂﬁﬁm

2. Lal Bahadur Shastri / STel 98TgR Rl

3. Pandit Jawaharlal Nehru / Uf$d SaTgRard Ag®
4. Dr. Rajendra Prasad / B1. o= TG

Correct Answer :-

« Pandit Jawaharlal Nehru / UfSd STaTgR@le 48

38) Who is the founder of Bhartiya Jana Sangh? / YR S HY & 'ﬂ'arrwﬁq%"
1. Gopal Krishna Gokhale / TUTd Cul T

2. Shivaram Rajguru / ﬁmmw

3. Shyam Prasad Mukherjee / WWW

4. Sukhdev Thapar / @G YT

Correct Answer :-
» Shyam Prasad Mukherjee / R0TH FTG H@Sil

39) Who will officiate as President till the new President is elected in case the office falls vacant and

the Vice-President is not available? / Wﬁm%ﬁﬁﬂﬁﬁ 3R mﬁ%mqﬁ’rﬁﬁ
oI fRufa & =g Tyufa & Faifa e 0@ Tguia & U d o9 1 S

1, President Secretary / ?Tgﬂ'%ﬂﬁla
2. Prime Minister / YTTHA
3. Executive Secretary / HBR T
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4, Chief Justice / H@m‘éﬁﬂ

Correct Answer :-

« Chief Justice / T RN

40) The monetary assistance provided by the government for encouraging the production in an

economy . / S a1 § IS DI UIeHTed B & ot TRPR g1 &1 TS Hifgsd
BEeCH gl

1. Tariffs / URIew (RW)

2. Subsidy / TSTIGTIT (AfoY)
3. Quotas / BITT

4. Embargo / AR UfdaY

Correct Answer :-

. Subsidy / JTSRIGTIAI (AToaS1)

41) When was the National Rural Livelihood Mission launched? / "’T@'q o AT fre o
3= T mar ur?

1. 2001
2. 2010
3. 2002

4, 2011

Correct Answer :=

42) “Explain the concept of Forests” — this question helps us to know the achievement of which of the

following objectives? / "Il B AU F1 IS B3 1" — g U4 gH Frafaf@a # A fFasexy
P Iuafed ST & Heg HIaT 82

1. Skill / DI
2. Creating / oI AT
3. Analysis / fazeryor

4, Understanding / JHH

Correct Answer :-

¢ Understanding / JHI
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43) The Golden Age of the Guptas is said to be the reign of which ruler among the following? /

Frafafea ¥ 3 g IRTe & aEeTd B Tl BT vl g ST STl 82

1. Skandagupta f’m—‘l‘ﬂ
2. Chandragupta Il / D=t I
3. Chandragupta I / Tt |

4. Kumaragupta / PHRIW

Correct Answer :-

« Chandragupta Il / &7t I

44) Who was the founder of the Holkar Dynasty? / 8/d®R JSaR & HRITIP B U?
1. Bana Misra / STOT {3

2. Malhar Rao [/ HeeR JId

3. Baji Rao / TSt Id

4. Madhav Peshwa / HTYd U=mEr

Correct Answer :-
+ Malhar Rao [ HegR Xd

45) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India
and Pakistan is located near which among the following? / 110 fradie ddt arafa® Ar9s iR
TS (Tedee), S URA 3R TifwaE & & wifed ge1 ve1 &, Frafifaa § 4 feas Prec Ra

1, Shakshgam / RMM&ITH

2. Siachen Glacier / Ryafes it
3. Sir Creek / X hl

4. Srinagar / TR

Correct Answer :-

« Siachen Glacier / RraTf fRER

46) Which of the following organisations brings out independent reports on the violation of human rights

all over the world? / FrEfIfET & & Hi9-a1 W6+ O gf~ar & arafReRY & Soweey W Woa
ol arar 82

1. UNESCO / g%}
2. Amnesty International KQ'F.]ROF STRERIETY
3. International Humanitarian Law / \’rl?R_{T@'q HHIT B
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4, UNDP / gAYl
Correct Answer :-

« Amnesty International / T SeHYHd

47) Which of the following is not a type of Urban Local Government? /mﬁﬁﬁq?ﬂﬁ
THR B T WG WS 781 82

1. Zilla Parishad / foref uf¥wg

2. Notified Area Committee / @rfﬁ'ﬁﬁlﬁ & gfafa
3. Cantonment Board / BTd- §I8

4. Town Area Committee / PIdl & afefa

Correct Answer :-

« Zilla Parishad / foren uftue

48) External criticism is applied in: / ST M@EAT__ ® &N &1 wrdl g1
1. Experimental research / PIiinG 3T

2. Quasi experimental research / 3{¢f TS SEUH

3. Historical research / UfcIgTRIep SI{HY

4, Phenomenological research / eI $FHU

S - L ol

« Historical research / TfAgTRI® SH

49) What is not true about Hasan Gangu Bahmani? / Mﬂﬂﬁ'ﬂ‘ﬂ% ax # @r T T8l

®?

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole
of Deccan up to the river Krishna with its capital at Gulbarga. / 39hT I 3Rd IR Y
ST 1 WISt ab ot T, o Teremf & o=t Totei & Ty oo et ab T
G TfEferd ol

2. He was a Turkish officer of Devagiri. / d SaiIRI & TP gl SABR] A

3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. / ERFTTFI\W:T‘ CREE]
U o RIS U

4, He founded the empire in 1437./ 37811 1437 H AHTI P RITTAT B! |

Correct Answer :-
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« He founded the empire in 1437. / 3781 1437 T U 1 RITIT B |

50) Which among the following organization is the best example of an agreement between

Oligopolists? / FrafafEd § 9 S19-91 e Seufier (Gﬁ'ﬁl"'m'\"ﬂ\q) F = TP
BT T ST IGT6RT 372

1. GATT / SiTUdicl
2. OPEC / iUt
3. WTO / S&egeraft
4. WEF / SsUh
Correct Answer :-

« OPEC / 3NUiS

51) Which one of the following ocean currents does not occur in the Atlantic Ocean? /

e & @ - HeRITR YR sredifed AR | 6l gidl 82
1. Peru current / U= YRT

2. Canary current / B-IR] URT

3. Gulf stream / TTeth 10

4. Brazil current / SITSTe YRT

Correct Answer :-

« Peru current / RS YRT

52) Tn which State of India is the Ranthambore Tiger Reserve located? / TUTQN-FITE'IETI'\T

feord yRa & P I A fRE &2
1. Uttar Pradesh / 9TR UG

2. Madhya Pradesh / 9&3 TaRT

3. Himachal Pradesh / fgTad Uew

4. Rajasthan / XTSTR[T

Correct Answer :-

+ Rajasthan / ISR

53) CANCELLED
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Which is associated with Sufi Saints? / DI TT W Il J Jalerd 32
1, Sangha / g

2. Mandapa / Heur

3. Synagogue / IR

4. Kanjah / &gl

Correct Answer :-

« Kanjah / B3I

54) When is 'National Education Day' celebrated in educational institutions at all Ievels across the

country? /&= mﬁmﬂﬁﬁwﬁﬁﬁ?mﬁ 'T@'qm&"m' WWW%?
1. 15" September / 15 FITIR

2. 121 October/ 12 3{ETER

3. 141 November / 14 daR

4. 11" November / 11 Td&R

Correct Answer :-
« 11" November / 11 TdaR

55) Which among the following is a wildlife trade monitoring network? / Fafaf@a # @ w9 ar
TP I%id ATIR R Aeas 32

1. TRAFFIC / ¢fthes
2. UN-HABITAT / Ju--gdlce

3. PETA / Uel

4, DISS /T8

Correct Answer :-
« TRAFFIC / ¢fhep

56) Which year British transferred the capital of India from Calcutta to Delhi? / fPa ad | fafexrs
YR &1 AU Fasm 4 e wurmaia & &t 2

1. 1912
2. 1930

3.1911
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4. 1800

Correct Answer :-

« 1911

57) The pointer or arrow of the magnetized needle of a compass indicates which among the

following? / U% [GRIT® (HIR) B Jafrd Y8 BT G a1 9k fHafafad 3 3 e
g a2

1. Geomagnetic North Pole / Qﬂﬁaﬂq SRl dd
2. Geographic North Pole / e ST gd
3. Magnetic North Pole / b1 JTRI ¢d

4. Magnetic South Pole / Gaob1d GI&Ult ¢fd

Correct Answer :-

« Magnetic North Pole / G 1g 3Tl Yd

58) Which type of weathering is caused by Ice Crystal growth? / aai &t '\‘ﬁ'@ (CUER
fopeea 1Y) & fapra & SRl frd UBR &1 3Ua gidr g2

1. Cavernous Weathering / Eepna et
2. Biological Weathering / o eed
3. Chemical Weathering / TSR 30&R

4, Physical Weathering / ifae e

Correct Answer :-
« Physical Weathering / Hifde suerm

59) Bessemer process has been used in which of the following industries? / TR ufehar &1

Iugh Fafafea & | fow e o far mar g2
I.Fenilizers/m

2. Aluminum / Q@mﬁm
3. Steel / I

4, Coal /Wﬁﬂ

Correct Answer :-

+ Steel /I
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60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the

following national park/bird sanctuaries? / msﬁﬁm aFl, TP quura wardt el Fafafea g 9
fFa TP Se/ueh srvaRvg o1 fFrafi smige 82

1. Vedanthangal bird sanctuary / JaTTe Ul SRy

2. Keoladeo national park / aeiigd IS JH
3. Ranganathittu bird sanctuary / & Hllaa\g Y&l syuRy

4. Sultanpur bird sanctuary / GeagR G&fl SIHIRTY

Correct Answer :-

» Keoladeo national park / aeicd P I
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gy — PROFESSIONAL EXAMINATION BOARD
Bbgmﬂotion Middle School Teacher Eligibility Test - 2018
1st Mar 2019 9:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) The full form of SEN is . /| SEN®I QUi & 21

1. Special emotional negotiation / 'F[a"f{lf'[ AR FARERH

2. Social education needs / HIXIT TGP g™

3. Special educational needs / WA TIHIT g

4. Special and exceptional needs / WY 3R TR Algd

Correct Answer :-

« Special educational needs / T TP g

2) The need for child-centered education has increased mainly because: / ara-iza fien @ smazgear HEE: Posrud a7 it %:
1. Parents have no time for their children. / ATAI-TUdT & I1G MW$WWﬁ%l

2. Parents are less qualified. / Hra1-far &9 gig %I

3. Teachers have better qualification. / ﬁlT&Fﬁ ol aﬁﬂ? Bl et %’I

4. Teachers are more equipped to deal with overall development. / Riefw Hﬂﬂfﬁm‘&?ﬁm ¥ @ﬁﬂﬁ%l
e ————— RSy ..

+ Teachers are more equipped to deal with overall development. / ners Wﬁm%ﬁm e @'%Iﬂ%[

3) People who are categorized on the basis of economic condition are known as belonging to a particular ./ o1 @il &t snfdfe
R & amR vx wifga fvar wimen @ 5= o fasiw 2 waft = & ST AT 21

1. Ethnic group / s ™

2. Religion / ¢

3. Class / @

4, Caste / Ifd

Correct Answer :-

+ Class /@

4) Perception of a particular method of teaching is different among learners because: / Rreror it g o wegfar &t emom fRienfdai & 9
i 8 &ifes -

1. they do not want to learn. / o b :I_Eﬂc il'lﬁ_a % |

2. they don’t like the topic. / G%ﬁwaﬁwa '_'l_Eﬁ%l

3. perception is dependent on the environment learners are accustomed to. / e frenfda} & vafavor ﬁ‘h%, o el 21
4. some of them do not like the teacher. / Gﬁ@gﬁﬁ'm&lﬁ ﬁqﬂa ﬁaﬂﬁ%l

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / YTRUIT ﬁT&ﬂW F ygfRu R Pl %, fSraas aral %[

5) What is the primary change that occurs during puberty? 1 AYae & SR 1A aran v tRada s @2
1. Psychological maturity / T TRumar

2. Social maturity / HTHIR® gfueral

3. Cognitive maturity / HJHIHS aRg@dr
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4, Sexual maturity / I TRU&Hd1

Correct Answer :-

« Sexual maturity 1 A ufeamar

6) At what age does the newborn recognize the mother’s voice? / ﬁmwﬂ‘ﬂmﬁwlﬁaﬁ ATATH B "TS?F‘FI'[%?

L. At birth / S H

2. At three months / T HEIH TR
3. At six months / ©: HEIM UX

4, At nine months / I HEH TR

Correct Answer ;-

+ Atbirth /S

7) Who was a development theorist of the mid-twentieth century who is best known for his

development? / S AT YaTed! & 7 § TS Ao RigideR i 41w aa & Afae o™

ST ST 87

1. Lawrence Kohlberg / @IRE Hlgaatf

2. Vygotsky / mﬁqﬂ

3. Piaget / o

4. Erikson / 3ReE-

Correct Answer :-

+ Lawrence Kohlberg / ﬂﬁﬂﬂﬂ?ﬁﬂ‘f
8) Who propased the “Law of Effect”? / fra™ ‘qyra @1 fora uferarfea fan?
1. Sternberg / et
2. Fromm / BTH
3. Thorndike / UFET3e
4, Bandura / ﬁU@T

Correct Answer :-

+ Thorndike / HIHSTE®H

specific and detailed theory of children’s moral

¥ o RARTE ok e Ria 3 g

9) Who developed the first intelligence test? / Tgell m Tdteror (@) fram fasfa fear

1. Binet and Vernon / fHie 3R a7

2. Binet and Simon / f&71e 3R R

3. Goddard and Terman / TNSTS SfR THA

4, Goddard and Wechsler / TSI 3R dTHeR

Correct Answer :-

+ Binet and Simon / féHe 3R Ry

10) Preprimary education in India carried out through Anganwadi Centres falls under the

&1 5T arent ga-urufies e & fafa o 71

1. Ministry of Social Justice and Empowerment / GTHIfS& =010 3R iR darey
2. Ministry of Health and Family Welfare / ¥d[%Y 3R UfaR Hearr Hare

3. Ministry of Women and Child Development / Tfgar SR e s daaa

4. Ministry of Human Resource Development / HIFd ST [EEaBEPINE|

Correct Answer :-

./ HRA ¥ AFTETS) FEf & HierH |

Page- 124



« Ministry of Women and Child Development / Ffgall 3R &Tel faay wzmer™

11) Critical thinking is an aspect of: imﬁﬁ‘lﬁqﬂww ﬂ'sﬁ%.
1. Blas / 9&MTd

2. Reasoning / RE2

3. Belief / [agTa

4, Emotion / HIGT

Correct Answer :-

+ Reasoning / e

12) The judgement of the quality of teaching depends on: / ﬁrwaﬁwﬁmaﬂﬁ@ﬁmwﬁm‘?m%
1. Developing a relationship / Heei ol fFsfa s w

2. Attainment of information / SIFEFTE! &1 WY TR

3. Discipline / ST TR

4. Overall development of student / BE & oY [ W

Correct Answer :-

« Overall development of student / BHE S T [dem W

13) The abbreviated term ADHD denotes: / H3T XTsg ADHD (TSITash) e o gxifan &:
1. Attention Deficit Hypersensitivity Disorder / #41 HHTG sfcraeTefie faer

2. Attention Deficit Hyperactivity Disorder / ®15 3{HTd Tftpuar @R

3. Active Deficit Hyperactivity Disorder / ftba spura Ffepgar AeR

4. Aggression Deficit Hyperactivity Disorder/ STeRIHaRT T Highddl fdpR

Correct Answer -

+ Attention Deficit Hyperactivity Disorder / &I 3{HId EIGBRIAG LIRS

14) Which one of the following is not an internal factor of attention? / Frafefee & & = am (ITUT) PTTF Siaie RS A8 27
1. Interest / &

2. Intensity / el

3. Mind set / Jd YRUT (A58 ¥e)

4. Motives / DRUIT

Correct Answer :-

« Intensity / disar

15) Which of the following factors did Kohlberg focus on in his theory of morality? / Pigea v Afwar & Rigia & P sret
H A forxy v earr B forame

1. Family influences / TRaR UYd
2. Cognitive development / SRIFT® [AHTH

3. Culture / &P

4. Gender differences / f6T 1§

Correct Answer ;-
+ Cognitive development / SIS EERE]

16) Which of the following is not an objective of Continuous and Comprehensive Evaluation? ;ﬁaﬁr@aﬁﬁwwwww

FTIET T 87
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1. Plan teaching-learning situations. / FRIGTUT- e fRufad &6t Gt daR &3 |

2. Communicate the child’s progress to different stakeholders. / T B Wil 1 it ReauRes! &1 & |

3. Map changes in the child’s learning and development. / §/& & AT R faema & afkadHi &1 ames &9 |

4. Inculcate fear in the minds of pupils, so that they are able to perform better. / forenfifal & = & g U1 e, anfeh 3 SR TaRE FY g3 |

Correct Answer ;-

+ Inculcate fear in the minds of pupils, so that they are able to perform better. | Teenfifdi & v 7 vy T F1, e d Sgas UeSH- B ad |

17) Which of the following is not a risk factor for drug use that is directly attributed to parents? /

Frafaf@a & Q@ $19 w1 g7 Iuah & e ifem sre 78 @ Rrad e arar-Rar vag w0 @ Saeert see e
1. Childhood negligence / ITeraRIT ATURATR!

2. Abuse / GHAER

3. Peer rejection / TEHH] RGBT

4. Genetic inheritance / STARTP faRTErd

Correct Answer :-

« Peer rejection / Wﬁfm

18) A child realizes that a four-legged animal that neighs cannot fit into her existing schema of ‘dog’. What grocess will she undertake to fit

this new information into her schemas? fﬁaﬁﬂﬁmaﬂ% fFar ﬁ?ww,ﬁﬁﬁ? L 'ﬁ'%ﬁ@&ﬂmﬁm
T8 B AP a1 71 39 TS TRl 5 39 WTHR H e $va & R a5 o= i wltsar sroememe

1. Disequilibration / S{HQFH
2. Accommodation / THRITG
3. Assimilation / ST

4. Homeostasis / FHFRTd

Correct Answer :-

+ Accommodation / THAN

19) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the Kannada exam he wrote yesterday. What is this

phenomenon known asvfwﬁﬂﬁmaﬂqﬂ&n#ﬁrqmﬁﬁﬂﬁ% a&ﬁfﬁwmmmmﬁl@ﬂﬁmqﬁaﬂﬂ?
PRV HIS TaT 8 | § "1 B {71 | W=7 et 82

1. Retroactive interference / q@ﬂ@ Sadle
2. Retrograde interference / WA Siadly
3. Anterograde interference / SRR (&Y
4. Proactive interference / &F,THH@ Y

Correct Answer :-

« Proactive interference / Gl‘jl?ﬂ@ SaY

20) According to Vygotsky, child’s language and thought develop . | A & R, F= St urar 3 faar
frofia s 1

1. independently of each other, then merge / T EQEI? UG T G | Y 7 G g oIl &
2. independently of each other / T ﬁ:? ESRES

3. universally across the culture / et ﬂ@ﬁlﬁfq? A &

4. together as child grows / T= % @ & @y

Correct Answer :-

+ independently of each other, then merge / U m Y e g a1 | gy H gfmfera RG] ?

21)
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Parents who have a lot of rules but support their children to follow the rules, are adhering to ____. / it Aran-fiar sga aR P = €
A 33 =51 F) Fraw) &1 urem $a & Rrg gemaa w3 € FT HTEU YA &1

1. Uninvolved Parenting / 3@ UTe-UTo0p

2. Permissive Parenting / GlT:ﬁa_tﬁ TIE-GTSoT

3. Authoritative Parenting / SMAHIRG UTeH-gr (‘-‘rﬁﬁﬁ%ﬁﬁ ﬁ%%r;

4. Authoritarian Parenting / SfferBRErd] rer- g (a{%mi%’f‘zm aiﬁ"'l)

Correct Answer :-

«+ Authoritative Parenting / MYFIRE gre=-argu (epdifvefes m

22) is the desire to act and move towards a goal. / B B 3R TP 94T Bt 3R 751 P g1 81
1. Perseverance / €@l

2. Valour / 9Ig9

3. Motivation / SRUTI

4. Grit/ 9

Correct Answer :-

+ Motivation / ST

23) Which of the following theorists emphasizes the importance of categorization in the learning process? / Frafafem Rrsioer § 3 319
fpTe & it & eifevn & TeE WER 3 &2

1. Kohler / g
2. Bandura / §g30
3. Bruner /@ X
4. Paviov [ PERIGS

Correct Answer :-

« Bruner /@%

24) Problem-based learning in science encourages learners’ scientific habits of mind. Which of these optlons best describes some of the

guidelines for problem-based learning?/ fagma & wwar-amenfya e, Rranfifat =1 w1 #1 I enedl F) WiRnfgd S g1 A A HA A0
e grwa-snuva Rigia $Rem & oo Ranfadzi o sha avfa svar &z

1. Reading, writing, listening/ UgAT, TR, AT

2. Thinking up ideas, using multimedia, making variables/ TedHifear &1 SuanT m, TR T faari ot qHAT
3. Asking questions, constructing a hypothesis, repeated trials/ WY U@, UFH UG- BT R0 S, TR-GR TRIA0 HE1
4, Discussions, a fixed number of trials, cooperative learning/ T4, 33T Tem & udien, WEHRT fam

Correct Answer :-

» - Asking questions, constructing a hypothesis, repeated trials/ WY U1, T URehed ol B0 H1, SR-8R U140 ST

./ ey fagfy (Wl aife srder) & araa & fare wged fear oA arean

25) The apparatus used for measuring the span of attention is
IR 21

1. Tachistoscope / EEREaL|
2. Microscope / TIHIEH Y
3. Telescope ré?hmﬂu

4. Epidiascope raﬁ%umaﬁﬂ

Correct Answer ;-

« Tachistoscope / CIARC BT

26) Id, ego, superego is put forth by: / Tg9H, 3§, WTE (Jug) Fra # 3 frads grr wufta 58 e
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1. Maslow / FTEGl
2. Pavlov / Bgdild
3. Jung /71

4, Freud / 1A S

Correct Answer ;-

+ Freud /PIES

27) The Expectancy Theory of motivation states that: / YU % Rysia & Fgar & fF:

1. People are motivated to do things due to external rewards, [ TUHR § @ifda o o1 & foe iR Sar &1

2. There is a hierarchy of needs in each individual. / TEIE &fa & Tl &1 UF USTHH Bl 8

3. There is a desire in a person to become what he is capable of becoming. / fHt = # a8 a7 31 31 8Kt & S 98 T J WaW &1
4, Motivation depends on the desirability of the outcome. / 31O aftom it g=91 W Mk Fa 8

Correct Answer :-

+ Motivation depends on the desirability of the outcome. / SfESRTT TRoMA &t 3931 R R & 2

28) CANCELLED

Who among these psychologists have developed a theory of personality based on 2 dimensions: introvertion and extrovertion? [ 1 ﬂﬁmﬁ%ﬁ HE

2 T siefat ofie afgefelt & R W it o1 ve Rigia el fea g:2
1. Sigmund Freud/ RIS WEg
2. Carl Jung/ Tl 7T
3. Erich From/ UR& o
4. Hans Eysenck/ 89 358 ®

Correct Answer :-

+ Hans Eysenck/%’_ﬂ B

29) Teaching in an inclusive classroom is a challenge for teachers and demands certain

Riaret & forg ves T § ofik sod Pfim wu R P AT B
1. Habits / Wdfd

2, Talent / WfdwT

3. Expertise / G&dl
4, Practice / 31719
Correct Answer ;-

« Expertise / G&cT

. | gaTasht wan A ugr,

30) _ is found to be effective at achieving conceptual change. /
Y aranives ofvads e S W g arar T 21

1. Reading textual materials/ UT3 S{THTR {0 HUTTelt

2. Labs / FRTRITEl

3. Discovery learning / FS¥@adl 2fenm

4, Detecting an anomaly / [EHIGEARGIESUIE

Correct Answer :-

+ Detecting an anomaly / TRITIRT ST el @

Topic:- General Hindi (L1GH)

1) 9 Star! &t T g, o Ugl e agl 9 a
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T T ST WY T4, § Y& SSW Wl a9

ST B FeeTTd BT, 3T 9w a8 Tal ot

I FEd & T8 TG, S gH B 1Y, FEl 7

o i Tt 7d 3 gSY, 99 9o ¢ guteg e

W IO $o e 79, 5 @) o oo R @

Pam e, I T, Fo 79 i e o fin

TF T YEGE F el B, gHE wia I g o

o Pirgwf ot gl #, wo< geer R ad

7 o PRIt 9T W, & srwear B R 98

T A R, srar e, oft oR TR gaer e ge

B9 gO §a 3t g, T 3 aoh sr T@

ST ST SR TR 4T, 141G ¥ ) Tt

TH WY 49 4 ol WY, 7 S0 TR §9g 99

Iy TET B UgHT A U AT a1at W 1 Sk qarsg|
TR B ST @) T Ew W B T o v 87
1, S o 98T €

2. ITHAA F A

3. YE-3E &1 IR $1§ 04T Tl vgarg|

4. AR H AT @A 2

Correct Answer :-

« ITdF A T

2) T ATl TG, I gl P 961 9
Tl BT TS Iy T, §H YE SSTd wel vl

ST TP Fewrd B, offg o @ 7ot anft

WA PEd B € 1T, 3R A P AT, el vt

foret oY 9ot 7 A @), o0 Ta & g 9

T R I O RIG TR, I B o PO R T
I B, T AT G, FO 69 S b o Y
TF T GU-§E & el 9, FH IS Wia ¥ R

T firewt 9it g #, W= gems W o

& o Pt ST w, & srwedr 1 R IR

0 T ¥R, Sroar e, oft °R o8 gaeY aae
T GHA G TS UgT, HTON 5 Il B T

ST ST SR TR 41, MaTE & Fh areh

TH @Y 48 & offe wd, g orve aw dig 9

Lo TEIT=T 1 Ugery e YD S 918 S P 3wk Ia1se|
U B $ IR e FA g &2

1. 5 e & &R Ea €

2. 571 -4 e B

3. S g W A @A B

4. S RN oW U A Ve B

Correct Answer :-

. MR FAHAETA T

3) o dar ot o1 g, o el B agl 9d
T BT SITerH €Y T, §4 Y 3814 Wel uel
ST TR Fearr o, <ifg a7 a8 ot ot
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WA HEd €1 T8 TG, 3N gH P 1Y, FeT 94

o ofiT T 7a 3 YO, 79 gO € sarg e

S I O RIG T9, S B A0 T o T

P s, FaE T, Fo # R frr po e

BE TR GE-5T B Yel 3, 5A @ Wia & R g

79 Pt 3t gfvar &, o qees uR 9@

T U P SR W, © SRIE T 1 U a9

& A1 R, ST 2fe, of 4 o ey @ O
FH GU G TS 7T, WTON 3 aroh B T

ST ST SR TR 4, SM1aTE T ¥ 9T

79 wd | 3 oflv w1, 59 o TR s T

Iria iR B gy i O W e W 1 S 9arggl
T: A AT EE o 3@ g & de S diw @
1 - §

2. TP AR A AT

3. GAT I W@

4, TR B TE

Correct Answer ;-

. BHHT IR T AT

4) T ot &) T g, oS 981 Bl 98 g

T T SITETH HIY T, 9 Y ISTd el 7a

Y TR Seard i, oy aes 9g 7@ ot
HIHEA 75 I, oY g B 1Y, FEl A

et oiie Tt 7 A @), o e § gufog ae

T I T 1Y T, 5B A $O fon I
41 a1 B, 31 a1 G, PO £ X ey o e

TF TR -3 & Yl 7Y, 59 Tw g § e ad

7 Prenii @t g B, wow geret w9

7 g Frret @ o, & srewerdr e HR 99

TH | TR, SuuT e, ot 2R R g uge
T T S TS T, WO &1 arell g 79t

ST ST SR TR T, SMTa1g & S aret

w0 e 3 A ol T, 59 o TR s T

I Ui Bl U A g W aTe W 1 St garsyl
U A A SN Ere 9 S ST yre wEY urar s
1. 3(41q ]

2, I UId B

3. HHS AT

4. QA @1

Correct Answer :-

. yHg @l

5) BH AT ot T g, ST Ul B 961 90
TR T SITEAH | e, B9 Y ISTa ogl 7a
3T THY I T2, off aene @ 9a anft
A T € T8 Y, 3 g6 el o1, el 9
1 3R 79 7a 3 Y, 99 99 § gue 9
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T SHST $o o 99, W A s pe Ry ad
3 ara el g aTa O, TO ad iR il po AT

TP PR YE-5E S el 7Y, §H TH Wi @ g
1 firgeit @t gfa #, o= gere wr T

TH TF Rt @R W, & STt @ YR T

FH | R, sroar 3fee, ot R TR geeT wa ge
T EOS § T T, o 5t arft R T

S ST SHI] URTAT T, SHTATE I8 o) ATt

79 T 49 3 oflR T, 59 o A s 9d
Irdad Ui B UgH A O@ A T WEH $1 I a8y
T & U TR o 3R wre @ wr areed 32
L5 S N

2. FEU W e g™

3. 351 3 A

4, 9 $ Sedl

Correct Answer :-

« BEYWR e am

6) TH rarl ot o gell, ot Ogl o agi wd

TR T STRH |IY =T, B Y IS0 oiel 7

ST T Searrd S, 3T a7 ag 7o ot

T TE € 78 T, S gH I Y, e wd

o ot 9 79 A 0@, 70 Ten § gl I

T 3HGT $O fE 99, I @ e oo R aw

g I wet, & 9T T, Po e ok v po die

TF P YE-E S e B, s UE ya @ g

7 Rrewil ot gfva ¥, wo geret wr @

79 0o et 3w, & srTwerr B HR 9

T T AR, AT W, St 1R R geeT ga g%

T EHa gaa e 7T, ol t arh g I

I ST SR URTAT 4T, TG T8 $ ard

70 e 4 A offR v, 7 o AR Al T

Iudad Ui &) U A U@ W arel WS &1 Sk garsg]
e Sftam & vl o g1 wiftd & wad 82
1. Faw e $ma R Twg A off aniaik a1

2. Fad viF 1Y ORI & TP B & |

3. Had wid MY g6 dl & S Ead g

4, 39 gofi

Correct Answer :-

- Sudwaeh

7) T ol ot o1 g, o 951 B a5l 9d
T T ATEAH WIS T, T F ST We T

Y THY ITTH T, off aiee g ad anfht
A T € 7F I, 3R TH 1Y, FEI 9

o 3R 73 wa U qoY, a9 Ta € e aa

W ¥ SHST $O T 94, I Y o oo e
YIEFE, I G, FO A IR FoAY
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B P YE-GE D el ), TP yE A g e

74 firgwi ot g #, wow geros ur o@

79 o eIt 9 o, & srmedr B R 9

T A IR, S0 R, S uY IR g @ g

FH SO g AT e, TR o anht e T

& ST SR URTAT T, STATG T8 Th arat

TH T 38 & 3T T, g o0 TR a9 TR

Ffa Ui B Uewy R g e arel vE o I ARt
73 M F 70 A & a1g S 91D A R e 87
L

2. Far

3.9

4, 3B

Correct Answer :-

o SN

8) 9 far ot = e, o gl Fe wel v

T BT AT I T, §H Y ST wlgl qa

ST TR SeeT T, T aree ag =t ot

Wa Ed € 75 Y, 3 gH B oY, el v

o 3 Tt 7 U YSY, 99 o § gafeg 9o

W ¥ 3HE1 $o R 99, @ o oo R’
Paw e, AT, Fo iR e poTin
TF T GE-g:E & Yol o, 59 TP Ui § e as

7 Pt 35t gfvar &, o= qeew R =@

T UF Pl S O, & sriean 1 HR TR

TH A 3w, SrqaT T, ot 1R S goe] W 16
T ST S oo e, o o awht e T

S ST SR TN 1, AT T FH ae

w0 e 49 A offe wad, 59 o awi s Tt
FUYT T B U A YR W AT W 1 SwR 9aise |
U SHaH Fel R P g g @2

W e T

2. 3HBIRE

3. G PIaw

4, ey P

Correct Answer :-

. JE B e

9) TH StaT! &t T g, AT Tl e 981 99
I T SHTCH |IY Tl 49 YT IS o6] 90
ST FTHT FeeTTd B, iy 97w ag 74 ot
WA FEd € 8 Y, oY g R Sy, T T

v it T 7a 3 UE), a9 Ta € gaR 9
T ¥ SHS1 $0 R 99, W o oo R ad
3 a1 e, & ara G, T 89 ok fry po g
TP P GE-g:W F Yel o, 50 TP Ua ¥ g ae
7 firgwi @5t gian §, Wo= geme wR a9
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TH T It SRR, © BT 1 R T

TH A TR, Sraar 3ee, ot 3R o gaex Gage
T G SO ST T, WTON &1 qrel 8 aa

3T ST 31 TR 4T, TS T 6 A

T T | 4 off Tad, 59 oo g dis U
IUY T B UEHT A gD S AT WS 1 Sk gasg |
7 o A o e e A

1 offg A

2, HgOH $1 e

3. q@l B e

4. QB TR

Correct Answer :-

. SigF e

10) &9 Sarl &t o g, e vgl Ha ggf Ta
T T TR I T, B9 YT ST Wl Tt

MY FTHT Ieurry o, <ifg a7 =g 74 ot

e FEd € 76 Y, Y gH 9 g, el = a

o ok T wa 3 U, 7w Te € 3afn o
SR BT FO I 99, W F U g R ad
g &, & @ G, po g ik ey po A
TF T YE-§T ¥ el B, 57 T W19 ¥ g 7t
7o Prad it g &, Wo< qees uR 9a

T 0o Frret @ R, & sreeedT B UR 9

T A feq, oo 3T, s M gaaR @O gP
TU S I TS T, Wil B 9l gR T a

SIE ST SH1¥ URTAT T, SHTATE 3§ b ardt

T T 9 A oY Y, B o T A T
IUYER T B UEEHR Y O S AT WL BT IR FA |
W 59 U &1 Sfa wife gage?

1, Tl

2, PIHTHE

3. Teil-amH

4, flari &t gl

Correct Answer :-

.« 2larl Bl g&dl

11) B9 a1 @ F1 §l, 1o T§1 el agl g
TR T SATAH HIY =T, T Y IS oiel 7

Y TR ety S, i AT ag wa anft
WA TEA 61 Y6 T, SiY TH P S, FEl a9

ot 3T 9@ 79 A UB), 79 ga § gk e
ST THBT O G T, 5 B AT $O U T
YaE L, A A G, FO v R v pm A
TP P YE-g:E ¥ Yol 7Y, TH TP U ¥ g ae
T firmil &t gfoan &, Wow geret ur 9@

T Uw (Il SR, @ Srh et a1 U T

W A I, SUHT A, ot uR IR gaws ea 9F
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T §Hd §Hd 3(TS TET, WUl @1 are gR a9

S ST S} TRTAT T, HTETE I8 T aret

70 e 3 A oflR ¥, 79 o AR s T

I TN B UEHT A U A a7 W &1 I g |
W Sl oY et ara w1 war T g

1. Azl

2, THTH

3. ST B T

4. 7l

Correct Answer :-

« W

12) B9 S O R gRedl, e UEl o a8l ad
I T SATAH HIY =T, T Y ISTd oel 7

ST FE FeetTd B, 3ifg avee ag el ot

A TEA € 7€ T, SR GH B ST, PET I

e AR et T B YO, T e § gai T

W IHS 5O e 99, @) e g R @
< e e, G g, T EH ok R pu e
TF P YE-g:E F Yel 7Y, A TF HE ¥ g T

7 firgeit ot g §, Wo= geror Wi ad

T Uw (I S OR, @ STBET 31 U TS

B A R, oA W, SR S gaeT @9 g
T gaa F0 e g, il A g aR Ta

ST ST ST TRTYT T, SHTATG ¥ wh aret

o0 T 49 & ol T, T ST R Wi a9

IUYe U B UgwE SR O o AT WEH &1 9o aase|
W W St g & o et firawi ov oft @ gera 87
1, ¥

2. TG

3, TERA

4, WG WR

Correct Answer -

. WTie MR

13) TH A BT FIERI, TS T§1 ol 91w
T T ATAH WY =, B YF ST ol aat
AT THY Fearrd o+, aff g a-iaw a8 9a onht
AI TR & 7E Y, oY gH Y oy, FET A

T 3T 9@ A O U9, T9 Ta & e ae
T THDI GO 1R1T 99, S BT S0 O g Tt
VIR, I, FO A IR AR FTAY
TF F GE-gW & Yol 7Y, 70 v | fw T
7 firermil aft g #, To=< gemy wr T@

T U@ (R ST R, @ sRTheT B U 9

T O I3, SUHTH AR, ©f 1R IR g e 9
FH GH SHd SIS e, HTOi &1 arofl B I
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B Bl 81 STe aXedt | WHIS § Sl R U 8 T 81 e § U dnsl Iame € Rl afide ©u 9§49 e 3 1iie © U § $HeR I W 6T
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Topic:- General Sanskrit(L2GS)

Y 3rcAfe 3f eregeuey fwfad: -
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AR Torelell ‘feoel i oA fasariea | srean: oo fdeawa
faereryg SNy fhad | AR  UNT Slfelbldl -HFag AT 3ol
fIeTelcTaAT IR | T 3T AH GeaUEAA BAAAA | T4 ARG,
dded '{Ioﬂg:llUli, deded? T USAdATAT ﬂ?ﬁé%ﬂmﬁ'lﬁ T U3 STAG
TSTENTAT 3787l | 3TSFoICRiTaT: AT 3T SHATHG TsTell=l Jea 37ag: |
e ergeeR-Uehle [ arfderddd fehedree 3rEaATh 3o FaTde>dHAd |
der ATSEAAHAET TR Gl A=Al 3787dc | 319 T HAgdeid,
TSCAfeTaatd] T Tc: | heglded ANAET 5I7d (Ao |

g QO FHAET: gfaror a¢ favreid | 3 3nTitaria gelearte s
dded | 37 JAART: 3aR WA dligfAffid TerveaaAted | T o
gfacd AT ATAGAT Fd | 3 Ay FAAY ACATA FATA FATTA
Hied - Paa-FareT:, oligecaser:, UUsAEl gaA, YNIdelgad, IFdgiA,
SHATHATEGIGH, Ted-HeATAAH SIS | oAdldy ALY Tegufderass,
GHgdelH, [dARTAdTH, 3cANETad, Idlegededd, TeIdilel  3felehliol
aSCeATe TAATe Ao | [GeeloR 3eiehiiel Segmatel 31T afed | a9y
il dfed AGr 3¢TTH, dRAGIRHA (Sf0sAT A1), dTelheRT 3ATH,
FeIaAT 3eATH, Toereledras o 3id |

‘30T C T & HE: ?
p, TR
,, T
3_3l?~5|'#1'3-'ﬂ7=|'3

5 T

Correct Answer ;-

, doge:
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20)

Correct Answer :-

R GE

21)

Seliehl fScar refafeseey e qgHcal Fadd -

Heilold HAeddeddd fSidfead gigaadr aRve)
alclcAs AERYAACT ARTHG ROT Jued ||
eI Tcloleh ofellctholdh daT:Telel el
A JHAFcIeh Hldel dU] HY HFhUTEH]
HaTse gRTeeel T FHeldehvs ° HFdiel
MuEET gRafSedr fasad ?ﬁqmagmﬁ. I

HcHAST: 3cIET GATT: F: ?

e ]
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URTSE fdcal YeAHT YR AT -
ARGET o=l ‘feell’ 3fd e faoaiea | 3ream: aven faeaer
faememryg @9y fohad | IR J TS ifelplar HEAS SRS el
faemercar arl | QU 3T AT Seauedd U | qd STRE AT,
ddeT ASTYAVN, dGolecl T ToTTaATATAT HIoa AT T I3 $THT
TSTHTAT 387d | MSTAIGRMNAT: AR 3T SHATHT STl UGH 37eg: |
AeaacaRgeeR-UhleaRIiderdad fohedled 37EATH e Faldw-gHersld |
deT ATCEILMAAEATT $TAT U ATel6Al 387dd | 3T U HHGdeAH,
Tegufddadd I T: | healded AMAATT STHT ferda |

54 G IHAMT: ST ¢ US| 3 3O Lo FAmETer
aded | 319 FHART: 3uR W digfafdd gervegaaAtea | v W
Sfadd TeAN AT Hd | 3T T TN JEATA FAGAS SATT
afed - Poaa-FaFsT:, digEdFsT:, UUSAEl gad, UIdegi#, IFdgad,
STHANESGH, Tod-Hoatdldd], §cdiic | dledy TAEY Iseufdsidss,
TOgaeld, [daAeTerdetd, 3cANTHAAH, Tdlegddadd Todllel  3lehiiel
geeedllel TAGMNT deled | foeelleor smieifel Segmetar 3T afea | Ay
URAEIfe dfed Al 36dTddH, ARdGaRA (30sAT 31T), el 36dTeIH,
Fe AT e, Aewedd T i |

fF STIH Segurysd sfa H2ad ?
1. iao'?"h

Correct Answer :-

. Teeeir

22)
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IRTAC IfScar URTEd YGHN AT -

& e qaedn el 3qafa | 3y faeee serd Tead| 3l forema:
gl AR GIET IRHEAT dog: dRRT fdefear: safed) @aiy
gite: STl ¥EA 3fed gvcar Ufaion @eRd Fdled| owa:, o
Teded YAaANS: fafhiicd| gder: HUAE Foead e Ery feg
TR |

3cdHT: BTAT: YTcTepTel YA Ueh Ua 3fcdsafodl o e dcar
GeduTdel $hdied| dae] SOTH FHedl Tl haled | dasedd ST eicar
forae, ST Hafed] Tagaeal o BMET: TTUS TS| IIEH:
¥ T HATON oRTled | HeAeg YAEA 3TAT: YIUS: afd| TERIvT:
ISHePT 3T 3THET: dafd| dar IeaT: J&T0N SR 33-ed |
HATET-FHATA W FEAThIel: $1ald | el Sfell: FIPRIEAHA: I[6

o

ufdfadded| vdfess T facanfde: Fsway fisfedl aar g3
AT DA del aed Jahrel: Ifeaul: sfafdl der JIRea uf:
safcl| I waTy fee] 3eersh: TEid| Al ATAIOT, IR0l 3udeia,
Alfel T 3TeTRRUT HTTBIGAlel TTod | Tl STell: FaUlod|

TRTde TIPRITATHST: UL 59 [qdfad: -

23)
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IRTdE Iidedl TeaE T Y&HN FIIad -
ARAET ToreTeil ‘ool sfa amar fasaried | 3w v faeaey
fqemeny oRIY fhAd | HRA TN Flfelral -HFEs HAI: 3elec
fermeraar Far | QU AT ATH GeguEAH, Shdd | d SIRAAT,
AT TSYATON, deedocl T YolAaAATA HIedNA6AH T a0l sTH
TSTHIAT 3787dd | 3MSTICeNAT: AT 3T SHTHT IJSTeledl UGH 37eg: |
ARG -UhleT G TR fohedlee 3TEATH G2l TATde>IHIsTd |
deT UCCTAHATINY 3TAT GO ToTelell 3737dd | 39 Ud TG,
TSeufdsiadd I Tl: | healdeT ATATT STAT fermaa |

S QU IHAT: SfAOT d¢ favreid | 37 3Ol gefelaniel FreATley
aded | 319 IHART: 3uR W digfafdd gerve@aaAted | v e
Siacid =ANT ATAGAT Bl | 3 Uiy FAY JCAT FACAT AT
Aied - PJa-FoFeT:, dlgedFs:, UUsalLl i, TIdecd#H, IFagia,
STHAATEGH, Tod-Hoatdldd], cdifc | ddidy TAEY Isguiasides,

THGdaH, [AIeIerdadd, 3cheidad, Idlegddad Udllel  3odehlial
geeedliel TAGNA deled | foeelle sielfel 3edmeTal 3T @fed | ay
JRAGIel Afcd FGI 36AeId, ARAeaRe (SUSAT 31T), dIeiheRT 3614,
Fafaar 3T, faerpieare @ $fd |

IHATAT: FEAA A ST Aot ?

Correct Answer ;-

-1E

24)
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RT3 giScal T gl JaATd -

w2 e qaedn T 3gafd | 3y faeee 3erd Tead| 3l fomam:
et ARRIT | I 3V Tog: AN faeear: safed| w@aify
gfte: S| gde 3fd evcar uf@ior deRd Fdfedl ada:, o
Teded FA=AE: fafhticd| Uae: HHAC FIeUdA e an fag]
TR |

ScclAT: BHET: Gl GAGATT Uieh T 3fcasafed| o effer ear
Godddel hdfed| dae] SIIH $edl Toild Fafed | dacieal ST €gicdl
fop>ae, ST Hafed| Tdeaedl o BMET: TUS USled|  TIEH:
T T HAMOT ofdlled | HAATog FALA 3AT: I<IUs: sTafd| faRIved:
ASHRTR AT IHeT: Hdfd| dal UealT: J&T0N ST HHIed |
FATET-THATT Teh HEATRIS: AT | el SToll: FIPRITATAS: 6
ufdfdaded| vaieas §ad fAeznfde: fiseEy disfed) Jar 33
TS ITBId dal avd U gl #ald] dar fRiea ai:
sfafd| IE Fary ey segR: TR dar JrEfor, Ao, sude,
Felliel & 3TeeThRUT HesTiadlel €Ted | dal Siel: FUied|

AT vTRr: e safd |
L 9daqur:

Correct Answer :-

. Foqof:

25)
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eellehl GfScar renfAfésesy Ueaed qgacal A -

Hellold HRAdeddsl Sdfead gigedr aRsa#|
TdlcAs] TRIAAET ARTHAG RO Juc |

hEITcTeleh oTollcthelsh daf:Tarel q"?t:[—Tera:'r

TS gTegd T FeldehUs T agci-dla‘i%'f
aMUEAT TRATSEAT faerad IdTergsSTATT: |
INYTASAOT: &: ?
_ ofrerde:
, SORTE:
; EFSUT:
. \IH:
Correct Answer :-
EEEUI!

26) .
eeliehl afScar renfAfésesy ATy e FEI -

A TaeIrT aee: aATed eanfaast Ry: |
AT eagar A HaTon Araaidi
e ded R gfg: AfPd: wIsha: |
YSd IF dclod oF ad: GGl I

HH: IOT: ThA: ?
. T
2 E@?&:

3 Uo<[H:
, T3

Correct Answer ;-
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eellhl gfScar SNfATESerT 9eaed gHca aAd -

AT faearaAl So¢: Aed canaaar Ry:|
AT gagar AT HaTon Aadeidl
3egH: @ed 4 i AP qrha: |
Y5d IT dcdod dF od: TG

33 5T & T 2

Correct Answer :-

| SfecaH

® gy - A |

3. e |
. ISTATTT:

Correct Answer :-

T

2

29)
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aRTSE UfScar URAET YEHcH JIId -
ARAET o=l Eeel’ 3fa o= fagariea | s/ean aven fGeae
femeny oY fhad | #RA TN el -HFas Al el
faerreldar 7ol | QU 3T ATH SegTeUH, Scddd, | Yd AREeT,
ddYd TSIYAVN, deelocl ° JoAGLMNATAT HIAdLNATAH o T30 $THd
TSTTAT 38T | ST AR 3T FHATHT STl UGH 37eg: |
HeaacalRergeeR-UehlsaRIfderdad fohediee 3rEATH 2l Falde-gHelsld |
deT ACTAHATINYT 3TAT G AT 337dd | 3T U9 HHGAAH,
TSEUTAHTAH T T: | Foeal I ARATT 5FAT A |

S QU IHAET: SfaOT a¢ favrerd | 3T 3wTOTarier gefelnier Tty
aded | 319 I 3uR W sigfafdd gorve@aaAtea | vh e
A TN AT Fd | 3T Y TAY JEATA FAENS FATTA
wfed - Faa-Fasen:, digedren, UUSAEl GIH, YUAAGIH, IFdgIA,
STAATESGH, Ted-Hoatdldd] cdiic | ddidy TAEY Iseuicsides,
TOgaeld, [deAeTerdaid, 3cANTaAd, Tdlogaldadd, To[dliel  3felehliel
geeedlfel FAEN dcfed | Geollele} 3feTehifel Sl 3T |fed | Ay
g afea ol 3eaes, sTRagarRe (30sa1 9i), drelheRT 3T,
FTaaT 3eATeH, faeede T 3 |

o AT 3T fgeell IR AfET ?

dTeTeRe T 3EATTH,

1
, Torers FeamEs,
,, ST 3EAHH
,, T eI,

Correct Answer ;-

, TSIl SaATAH

30)
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Yellehl Gfcar srenfaféscea yeaed geacal Faad -

Hellold ARG fSidfead gigadr aRves
TdTcAS IRIAATT ANHAGT W07 Y9 ||
Feclifciereh oTeTectheldy J&T:T2rel RIEIe
AR FHFIh HIcTel dU P HSHUTH]
qaTsal gRavesd T FHoldedhvd T w
e aRafSedr faerad aidrergsTHioT: |

heldel S h: Ucqd: ?
Fddd

1. 2

y L
G S

4_%’

Correct Answer :-

\

.

Topic:- Social Science (S5C)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This was quoted by: [ "@® gfegrern ‘{ﬂf TR G W
Xt &, it wa wrfores araraor o ggdt &1 g% 5 wRT Igyd Rar war an:

1. William Kilpatrick / faferas fremife
2. John Dewey / il gidl

3. John V. Michael / & dl. A&

4. Stevenson / Wia=gm

Correct Answer :-

+ William Kilpatrick / faferas et

2) Constructivism as new philosophical approach for curriculum designing focuses on: [ TTodEH f@.ﬁl‘lﬁﬁ'ﬂ F l%rq H’meﬁ’ﬁf E@E’m HFUH
HREAER R T Hied BRa g1

1. Intrinsic motivation of the subject/ &% &1 idies fHHRON
2. Delayed punitive mechanism / fadifaa der@s woedi

3. Extrinsic motivation of the learner / fRr&if &t amar sifidron
4. Immediate reinforcements / T@bTE e IPHIUI

Correct Answer :-

« Intrinsic motivation of the subject/ /g BT fia AHURT

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing students an authentic, real-world context for
Ieam{igfg;[ ! m‘lg,m Hftama, sia:fa 2 ofik wftew, em-fE R sftrm W o= $fa v 8, S on ot dem ¥ fag v v, arafae givm o e
e T &2

1. Experimental / IS
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2, Curriculum Based / UTSIhH MTETRA
3. Project Based / UREGTHI U ST

4, Rote Learning / T¢d S{FeNTH

Correct Answer :-

« Project Based / URSHT 0= 3nenfa

4) Which among the following is an example for institutional credit? / PORIfEa & & 1 a1 Iwma ArE F R & Iemu gz

1. Moneylenders / HIgehI¥

2. Primary Agricultural Credit Societies / UTfH@ S g wftifaat

3. Traders / SITORL
4. Landlords / STHIGR

Correct Answer ;-

+ Primary Agricultural Credit Societies / WTUfHe ¥ w1@ wiffaar

5) Which is not a quality of an evaluation tool? / Fru # & =01 U eaie= UG @51 e UG Tl 82

1. Validity / Qe

2. Practicability / sa1agTRadl
3. Objectivity / s

4. Subjectivity / SHFTORE I

Correct Answer :-

« Subjectivity / SAfFTORET

6) :
Match the following :

1. Pocna Pact A, 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
3. Simon Commission €/1932
4. Gandhi Irwin Pact D.1927

| MR & A &0

L. = wAsia

A. 1925

2. g Tad fEw od

B.1931

3. OEAE SHRE

C.1932

4, Tidr-stfaw gestar

D. 1927

1. 1-A,2-B,3-C,4-D
2. 1-C,2-A,3-D 4-B
3.1-C.2-A,3-B4-D
4.1-D;2-C,3-B.4-A
Correct Answer :-

« [-C2-A3-D4-B

7) Thin vertical and horizonta%? magnetic intrusions in the eountry rocks are known as which of the following? / 32 &t TgHI # waeht Hwfr ok A=

T
1. Lava /@Ml
2. Locolith / Sraifery

3. Plutonic rock / TEI & T8
4, Dyke and Sill / 3T5% 3R &
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Correct Answer :-

« Dyke and Sill/ S5 3R fa@

8) The method which provides a certain degree of reality and concreteness to a learning situation is known as: / T8 faftr it srftrm fRufa =Y
AATAE a1 R R WS Sl 8, 34 FreT Tt oar &

1. Lecture-Discussion / STEH-ad]
2. Field trips / &5 qefe1
3. Dramatization / e FUR
4. Demonstration / &=
. l:‘.t;rré.ct An;we.t.' H

+ Field trips / &9 qdfes

9) Who among the following started the Home Rule Movement in India? / URd H 811 & e Frafbfaa § @ feas gro IR fesar
4T 412

1. Annie Besant / T S

2. B.R. Ambedkar / of. 3R, 3{S8HT

3. Jawaharlal Nehru Iwmﬁiﬂ‘?

4. Subhas Chandra Bose fﬁ'ﬁl’ﬂﬁ?m
l:;:.nrrect An;wer - o : o

+ Annie Besant/ Tt e

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? 1 TR HfRT T @ Gﬁm%’mﬂﬁmﬁ
ATeg® vEd 92

1. Meerabai / HIRTSTS
2. Chaitanya /a4

3. Tukaram / P RH
4. Andal / 3iG¢

Correct Answer :-

« Meccerabai / m

11) Who was the first surveyor of archaeological Survey of India during British rule? R TA F e ﬂ-ﬂ??ﬂ'qmﬁ&miﬁ
g1 HaEUIEal HI U1

1. Alexander Cunningham / JdFey HiEy
2, James prince /o T

3. James Fergusson / SI%d TI0EH

4. Dayanand Sahni / TOTHG et

Correct Answer ;-

- Alexander Cunningham / 3EFISY FHigT

12) Who founded the Swaraj Party in 1923? / 1923 ¥ Y371 UTSf @1 R0 ffma #b
1. Motilal Nehru and C. R. Das / Hid! @ldl 78 3R . 3R, g9

2. Gandhiji and Jawahar Lal Nehru / TTiEffoft 3R STameR ara A8

3. Subhash Chandra Bose / HH gy &9

4. Sarojini Naidu / TR aag

Correct Answer :-
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+ Motilal Nehru and C. R. Das / Ald @16 7% 3R I, 3R, g™

13) Who is the exponent of Jurisprudential Inquiry Model? / fafimme wddt g Afsa & uﬁnmaﬁq%?
1. Bill Gordon / f&@ &

2. Richer Suchman / fra¥ geu+

3. James Shaver / 7 Y&

4. Hilda Taba/ [@esT aman

Correct Answer :-

« James Shaver /578 R

14) Who was first elected to the British House of Commons? / ffe=1 8139 3ifts ®iw= & forg Wﬁﬂ?ﬁﬁ?ﬁﬁw yr?
1. Jawahar Lal Nehru / 491§+ €lel 313_5

2, Mahatma Gandhi / HelH] ish

3. M. G. Ranade / THSL. TFTE

4, Dadabhai Naroji / m élw

Correct Answer ;-

+ Dadabhai Naroji / GG % ENE

15) Capital of Ancient kingdom of Avanti was: / 39l P HT=II- TATHTT S IToTeT=T 4
1. Vallabhi / Feaift

2. Pataliputra / mﬂa

3. Vidisa / fafcEm

4. Ujjain / 3501

Correct Answer :-

+ Ujjain / oA

16) For what action in Freedom Movement is Usha Mehta known? / Taaaat Sigre A 5 1d & R ot fgar @t st ??
1. Participating in Round Table Conference / 7Tl e # 7T o7 & fore

2. Running a secret Radio during Quit India Movement / HWRT BIgT HGTaH & SR TS W 91 Iar

3. Captain in Azad Hind Fauz / 3TWTg fég W19 # &= 17 & g

4, Captain in Indian National Army / WIREHG P 11 H P&

Correct Answer :-

« -Running a secret Radio during Quit India Movement / HRd BIS! il & SR Us @ Yadl gar

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? / maﬁ uﬁauﬁmwmiﬂﬁ#
forg a2 & faame @erE adt

1. Mughal / Tl

2. Adilshahis of Bijapur / SISTOR & Sffearsma!

3. Afghan / 3T

4. Nizamshahi of Hyderabad / %Wﬂiﬁﬁmﬂfﬁ
Correct Answer ;-

» Mughal / e

18) The coin Rupiya was first issued which ruler? / Tuar R gad ugd v s 3 o far are
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1. Humayun / §HTY,
2. Babur / 9TelY

3. Sher Shah / SR T8
4. Akbar / 3THER

Correct Answer ;-

« Sher Shah /SR IME

19) The eardinal objective of setting up a Social Scienee laboratory in the school is to: / fremera # wrafire g warmmar wifia o &1
T I &

1. Preserve and transmit the art and artifacts to the future generations / ¢l 3N Rreaepferd! &) wvfEa s 3R wisy Y difed oo Ugarl
2. Create an artificial environment for recreational activities of students / BTl @1 TR farwandi & e us $im ardmaw g

3. Extend additional space for group activities and project works / Wig forareandl 3R ufdier &l & ferw sifafted e

4, Translate the theoretical postulates in to concrete experiences / e sftryRoms F1 oM Syl H 3fdIg AT

Correct Answer :-

« Translate the theoretical postulates in to conerete experiences / Jeifas sifiremonsii &1 3 Syl H 3EIE BT

20) Two or more people learn or attempting to learn something together is known as: /&t a1 ¥ ﬁnwmwﬁaﬁ%miﬂﬁﬁﬂm
33 ¢, T o e W §:

1. Leaning by observation / 3@ gRI St
2. Learning by doing / I St

3. Collaborative learning / THR® HATH

4, Team Teaching / Geid 1407

Correct Answer :-

« Collaborative learning / HH[g S

21) Which one of the following is not included as a funetion of Summative Evaluation? / Fafaf@s # @ s dimers Teaie- % te o1 F TUH
it 7Y 87

1. Promoting / e
2, Selecting / =T

3. Diagnosing GG
4. Crediting / 99 &1

Correct Answer :-

« Diagnosing /FgH

22) Which of the following is not a basic principle of Project method? / FrafeRea 7 & oo ufwiiern fafl &1 v 7o fyeia 76 82
1. Validity / 3¢dT

2, Activity / TTiafafer

3. Utility / S99Ian

4. Purpose / E’ﬁ’!’q

Correct Answer :-

« Validity / 3%l

23) Which of the following is the process of pinpointing the learning difficulty of a learner of a learned material and to suggest remedial

g;asms?fﬁaﬁnﬁaﬂﬁmaﬂt&ﬁm%wﬁmﬁﬁ?ﬁ@ﬁaﬂMWHﬁmmﬁaﬁ?mmﬁrwﬁ%ﬁaﬂm

Page- 164



1. Projective technique / W&l d&=ile

2. Norm-referenced testing / HTH@ eid gdiaor
3. Diagnostic testing / 31 TRIg0T

4. Criterion-referenced testing / AFGS dafd fafer

Correct Answer ;-

« Diagnostic testing / g1 100

24) Which of following steps is not involved in Inquiry Method? f W-mﬁﬁﬁﬁ?mwmﬂﬁ%?
1. Encounter with the problem / FHX &1 HHAT HIAT

2. Formulating an explanation / Ut Eﬂ'ﬁﬁﬂ'ﬂl ﬁtﬂ? @Al

3. Data collection and verification / ﬁ?lﬂ:ﬂ‘:l's’ 3 T

4. Classification and consensus / F7ffe¥0T 3R Tamifa

Correct Answer :-

« Classification and consensus / 0T 3R gdgmfa

25) Which among the following is not a technique for ensuring reliability of a tool? J Frafefea & @ s ﬁ:maﬁgﬁ@a T B avAlD
TR

1. Odd-even method / 97 fawd fafd

2. Split-half method / fvard ey (Rree-gie #yus)

3. Test-retest method / TRI&UT TT:-W&I'UI EIE]

4. Criterion-referenced method / ATES Haiiid fafd (FReiam-Nwits Tus)

Correct Answer ;-

+ Criterion-referenced method / THES Eﬁiﬁ fafy (ﬁﬂg?ﬁ'qq-ﬂ'qﬁﬁ ﬁ%)

26) Assessing social relationship among members in a social group is termed as:

1 U ArATToS THE # Yol & dte arfore T4t & sfwer ol = s o §:
1. Projective technique / WA aa-iep

2. Case study / 4 Wal

3. Sociometry / GHGIAfY

4. Observation / S[ATI®

Correct Answer :-

« Sociometry / FAMIHfT

27) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 ¥ YRd ¥ Yol ¥ IaIE (S Idh & Iehr 1 IR fha
U1z

1. 43%
2. 31%
3.29%
4. 18%
Correct Answer :-

+ 29%

28) Gandhian Plan was advocated by . ;Tmﬂaﬁrqiw FTHAE % g1 o T T
1. M. N. Roy / A4 I
2, Jayaprakash Narayan / STHUH TR AR
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3. Narayan Agarwal / TRFUT 3{TdTe]
4, Jawaharlal Nehru / STTgRald g

Correct Answer :-

« Narayan Agarwal / "TIRTH0] 3Tl

29) National Forest Commission was established in the year .a"(Tﬁ'hiFl ST $ =TT 9 ﬁ§§ 4t
1. 2003
2.2005
3.2002

4, 2004

Correct Answer ;-

« 2003

30) In :%';"gﬂﬁ’ was the first Automated Teller Machine (ATM) installed? / WYH STEIAEE ox Wi (g Tore w3i) (edten) fFra e &
w=ifig ?

1. Chennai / 9%

2. Delhi / et

3. Calcutta / Heldhdl
4. Mumbai / Jd§

Correct Answer :-

« Mumbai / 5F%

31) Which of the following factor is not the geography factors influencing population distribution? / Frafafas & $19-91 RS swHe e ot
wuTfad S aTer YId FRS A6l 82

1. Soil /7[&T

2. Water / Ul

3. Climate / Sefarg

4, Industrialization / IR

Correct Answer :-

« Industrialization / SETeER0

32) FAO stands for TR BT w__ g

1. Food Aid Organisation / 58 us Q’iﬁw G-ﬁ"T’lE@NH

2. Food and Agricultural Organisation / 08 s Qﬁaﬁr\’ &Tﬂﬁm
3. Federation for Agricultural Output /mﬁﬁﬁ E’!ﬂw gy
4. Federation for Agricultural Off take /mﬁ HR 'Q"ﬂw 31 T

Correct Answer :-

» Food and Agricultural Organisation / 78 U8 TideER \HT'%IE@TEH

33) politics is based on the idea that religion is the principal basis of social community. / T Ll fera = snunfea % for et
wraTfoTe TS ST WHE YT g1

1. Regional / &dg

2. Communal / AUETRAE
3. Local / ®IFIg

4. Social / Ao

Correct Answer :-

+ Communal / HIHGIES
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34) Who said that, ‘As far as the nature of legislature is concerned it is such that there are restrictions only so far as procedure is concerned. But in
substance there are no restrictions, no limitations on the sovereignty of the legislature or parliament.’ / w8l Wﬁﬁmiﬁuﬁﬂﬂ

T 2, a1 Hfe e Wi B Tl # €, Al areafaear A Ui o He & SwYA ® B ufaay e 8, Hi Aug T -
1. Acharya Kripalani / SiTaTd GUal

2. Purnima Banerjee / Q0T a=Teif

3. N.V.Gadgil / T TSR@

4. Durgabai Deshmukh / G7TaTS GRITE

Correct Answer :-

+ N.V.Gadgil / TAALITSRE

35) Who can confer civil and military awards on individuals for their services and achievements? / ﬂﬂ'laﬁ aﬁv Guaﬁuﬁavﬁqmﬁlﬁfaﬂmhﬁ aﬁw
FY (RER S YGH B AHAT 82

1. President / PRI

2. Prime Minister / HETTHAT
3. Cabinet Minister / Flare =i
4. Chief Justice / G el

Correct Answer ;-

+ President / QTECIFC'I

36) Who was the first social scientist to make a systematic study of bureaucracy and deseribed it as rational and the most efficient form of organisation? /
BT ARG AT TR T IR T TP SR TS HT e PRI Y I aret

1. Karl Marx / el HIER
2. F. W. Taylor / U, €59, ¢eRR

3.F. W. Riggs / U, S&cg, g
4, Max Weber / Hag da

Correct Answer 5=

+ Max Weber / a0 38

37) Who was the first Chairman of Planning Commission of independent India? / Tqad YR ¥ G111 (AT & Ugd Iremes o &7
1. Morarji Decsai }’M ETy 's‘
2. Lal Bohadur Shastri ;’me

3. Pandit Jawaharlal Nehru / Uf&d SidIgTad Age
4, Dr. Rajendra Prasad PRI i

Correct Answer -

+ Pandit Jawaharlal Nehru / TfSd SIamgard S8

38) Who is the founder of Bhartiya Jana Sangh? / RS T-HY & HRITUS S §?
1. Gopal Krishna Gokhale / TITd 01 7@t

2. Shivaram Rajguru / fRTawTH Io s

3. Shyam Prasad Mukherjee / S0TH UHTE TEwil

4. Sukhdev Thapar / @5d YR

Correct Answer :-

+ Shyam Prasad Mukherjee / THTH WIS &SI

39) Who will officiate as President till the new President is elected in case the office falls vacant and the Vice-President is not available? / Wﬂﬁm
¥ fraa 9 ofik STl & Suasy 1 81 3 R & g wrpufar & Fraffia 69 o wpuf & sud sl e

1. President Secretary / ?IZ'Jﬁ EIEE]
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2. Prime Minister / TeTHA
3. Executive Secretary ,:'Tﬂlﬁﬂﬁ e
4, Chief Justice / & TG

Corre.l:t Answer :-

+ Chief Justice / H&H i

40) The monetary assistance provided by the government for encouraging the production in an economy -/ rferaw # IargA B wieed
w1 & R wReR grRIdl Ts Afdw we@ar 21

1. Tariffs / Ugledh (&fw)

2. Subsidy / TSR (el

3. Quotas / Fiel
4, Embargo / SHUR yieEy

Correct Answer :-

+ Subsidy / TeregTaal (afsadh

41) When was the National Rural Livelihood Mission launched? HTE}EI TTEOT TSR AR a3 faT 7aT T
1. 2001
2,2010
3.2002

4,2011

Correct Answer :-

« 2011

42) “Explain the concept of Forests™ — this question helps us to know the achicvement of which of the following objectives? / g1 BT ATURT F TS
HY1" - g vy g Tt ¥ @ fow siza @ Suafs =R ¥ Agg TRarg?

1. Skill / BRI

2. Creating / oI @Al
3. Analysis / [EEGRN

4, Understanding / T9
. C.t;rre"ct An;we.t.' -

+ Understanding / HHZ

43) The Golden Age of the Guptas is said to be the reign of which ruler among the following? / Frafefga ¥ & f5a are & IR H!
Tt w1 Faef g1 el WraT B2

1. Skandagupta / THEW

2. Chandragupta Il / T-RIT Il
3. Chandragupta | / I-27 |
4. Kumaragupta / PHRI
Correct Answer :-

+ Chandragupta Il / T I

44) Who was the founder of the Holkar Dynasty? / lae Ieidel & TwITU® BI 4?
1. Bana Misra / aToT fisr

2, Malhar Rao / HeglR ¥4

3. Baji Rao /il W@

4, Madhav Peshwa / HI9d TgmEl
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Correct Answer :-

+ Malhar Rac [/ HegK Id

45) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India and Pakistan is located near which among the following?

/ 110 freirefies didt arafa® ards difsrm wrg= (gelldiue), St wRd o) wifbwar & die sifew ger<er ¢, Fafifa & 3 feue Frec Ra &
1. Shakshgam / SIT&GTH

2. Siachen Glacier / Rraifer iR

3. Sir Creek / R PBI®

4, Srinagar / R

 Correct Answer :-

« Siachen Glacier / FaTieA TRER

46) Which of the following organisations brings out independent reports on the violation of human rights all over the world? (Frafafea d & ﬁﬂ-m GiEGE]

T g & aafieRl % Swi W wda Rt arr g
1. UNESCO / TA%ah!

2. Amnesty International / U] E'aﬁmaa

3. International Humanitarian Law / aiﬂ'mgﬁu ﬂﬁiﬂuﬂﬂaﬁ

4. UNDP / guASId]

Correct Answer :-

+ Amnesty International / T ELCEER|

47) Which of the following is not a type of Urban Local Government? / ﬁm FR P PF ) THR DI mﬁmﬁnw qﬂ%}'
1. Zilla Parishad / forer ufews

2. Notified Area Committee / SHfEgIfe & wftifa

3. Cantonment Board / B ES

4, Town Area Committee / el & GfiIfe

Correct Answer ;-

« Zilla Parishad / forem ufeeg

48) External criticism is applied in: / 9@ &A1 # W&t wrd) 21
1. Experimental research / WEI{ie S

2. Quasi experimental research / 3t TRA® YA

3. Historical rescarch / Ufagifiia sdum

4. Phenomenological research / ST STHUT

Correct Answer :-

« Historical research / UfdgTRi® afdeH

49) What is not true about Hasan Gangu Bahmani? / &8 T aga- & oy & o wed -1l 87

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole of Deccan up to the river Krishna with its capital
at Gulbarga. / I®1 s SRS ARR Y T &1 @IS b Wt T, Foras qareri & sot Teiem=it & A1 Fo 71 7 G b1 GiRiferd o1l

2, He was a Turkish officer of Devagiri. /3 3afl & Ueb gl siftiprl A
3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. KEWWW,W g F TS 1
4, He founded the empire in 1437. IG?F‘T 1437 T TTHTY BT WG B

Correct Answer :-

« He founded the empire in 1437. IG%pﬁ 1437 7 GTHTT 1 ST B |

Page- 169



50) Which among the following organization is the best example of an agreement between Oligopolists? / FFHTIRad ¥ 4 -1 I8+

(eiRmuRRe) & St e aHeia o1 Jad 31T STER 87

1. GATT / STudiel

2. OPEC / 3fdisit
3. WTO / S&giaf
4. WEF / &3 0%

Correct Answer :-

. OPEC / aiifigdt

51) Which one of the following occan currents does not occur in the Atlantic Ocean? :‘ﬁ'ﬂﬁ‘l@ﬂ' k' Eﬁq-l‘ﬂ HETHNR YRT &IE?ITﬁﬁ

WETR & e €1t 8

1. Peru current / U URT

2. Canary current / BRI 4RI
3. Gulf strcam / T T

4, Brazil current / ﬁlﬁﬁi_'f YT

Correct Answer ;-

+ Peru current / U& YRT

52) In which State of India is the Ranthambore Tiger Reserve located? / TR R frord uRa & few vwa o fRua 34

1. Uttar Pradesh / ITR W&

2. Madhya Pradesh / ¥ Tl

3. Himachal Pradesh / f@wmrer ugwr
4, Rajasthan / I

Correct Answer ;-

+ Rajasthan / IR

53) CANCELLED

Which is associated with Sufi Saints? fﬁqumﬁm%"
1. Sangha / TY

2. Mandapa / HgUT

3. SynagogueiWﬁGI

4. Kanjah / 51

Correct Answer :-

« Kanjah/ &3l

54) When is 'National Education Day’ celebrated in educational institutions at all levels across the country? / 2 wX F goft Wi ww Dfdre gt §

e fegw sa ma@T AT E?
1. 15" September / 15 FRIGRR
2. 12" October/ 12 SfATAT
3. 14" November / 14 TdaR
4, 11" November / 11 7daX
Correct Answer :-

« 11" Navember/ 11 7daY

55) Which among the following is a wildlife trade monitoring network? / FEfif@a ¥ | #19 W1 (@ a-usila AR AR Aead 82
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1. TRAFFIC / 2fther

2. UN-HABITAT / gUA-gslice
3. PETA /U1
4.DIss / f&w

Correct Answer :-

. TRAFFIC / 2fises

56) Which year British transferred the capital of India from Calcutta to Dethi? / f5re a4 & fafewr 3 yRe &t vyt Faww § e wrEka o 4t
1, 1912
2,1930
3,1911

4. 1900

Correct Answer :-

+ 1911

57) The pointer or arrow of the magnetized needle of a compass indicates which among the following? / Wﬁaﬁﬂfﬁ {PHITH) aﬂﬁa%

g o1 yue a1 IR Fafafee § 3 fed e ovare?
1. Geomagnetic North Pole / YFa® 1T ITRI ¢d

2. Geographic North Pole / Hifeiss 3l ¢

3. Magnetic North Pole / 9819 31 4a@

4. Magnetic South Polc / GF 1 GI&0ft ¢d

Correct Answer :-

« Magnetic North Pole / T}Fﬁ’ﬂqeﬂﬁ Yd

58) Which type of weathering is caused by Tee Crystal growth? / T8 38 3t Hafs (3ms¥ firved 1Y) & [aeT & R {59 oK &7 3™ag
garg?

1. Cavernous Weathering / Ty emam
2. Biological Weathering / $fad &

3, Chemical Weathering / TSRS 3U&m
4, Physical Weathering / *fd 3fugm

Correct Answer :-

+ Physical Weathering / *fd 3rdem

59) Bessemer process has been used in which of the following industries? / aﬁ'ﬁ? ﬂfaﬂﬂ' Gill Gﬂ'q.'\'l'l' ﬁ'ﬂﬁl‘f@ﬁ ﬁ ﬁ fé’m G'GﬂTl ﬁ ﬁb‘m 4dr

1. Fertilizers /m

2. Aluminum / Wﬁl’qﬁ
3. Steel / SHId
4. Coal / PTG

Correct Answer :-

+ Steel / 3T

60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the following national park/bird sanctuaries? !Fﬁ'aﬁ"ﬂq

%, T geEvrE ward ueht Prafif@e 3 @ fra nfta sarmaeh snmrog 1 Prfi smige @2
1. Vedanthangal bird sanctuary J JET=iTTe vl IRy
2. Keoladeo national park / $aeiiad P JAM
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3. Ranganathittu bird sanctuary / T e SrHaRva
4, Sultanpur bird sanctuary / W_q&ﬁ'm
cnrmdAn : - e S

+ Keoladeo national park / aﬁﬁﬂﬂ"\’l@'ﬁ?ﬁ]ﬁ
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PROFESSIONAL
¢ orofassionl EXAMINATION BOARD
@bgé%rrndinotion Middle School Teacher
Eligibility Test - 2018
1st Mar 2019 9:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) The full form of SEN is ./ SENSIQI®ET___ Rl

1. Special emotional negotiation / {-I\CI-‘%IG QH\I-‘{HQ’i ﬁ"ﬁﬁl@q
2. Social education needs / HIRIE TIHRH 189

3. Special educational needs / TR TIHRA 1gd
4. Special and exceptional needs / WA 3R TRIRAT Hgd

Correct Answer :-

+ Special educational needs / TE TIH I A1gd

2) The need for child-centered education has increased mainly because: [ qA-Piad Rrem &t
AT H AT Y2Ia: e F1RU1 | 9¢ T/ &:

1. Parents have no time for their children. / ATAT-TOdT o U 3 S & %q qHg :IBQT % [
2. Parents are less qualified. / AT fdr o9 T §
3. Teachers have better qualification. / fRrerepi i aB'FF{ tﬁ"'ﬂ?ﬂ% |

4. Teachers are more equipped to deal with overall development. / fRrefen ET'{UT faera & fere

3fe G Bl

Correct Answer :-

« Teachers are more equipped to deal with overall development. / fT&/% Wﬁm & fam
3 IS B

3) People who are categorized on the basis of economic condition are known as belonging to

a particular fﬁ@ﬁﬂﬁﬁ%%éﬂmﬂmmm%ﬁ
TE R @ e = & S e 2

1. Ethnic group / T qa
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2. Religion / e
3. Class/ an
4. Caste / SIITdl

Correct Answer :-

+ Class/ an

4) Perception of a particular method of teaching is different among learners because: /

fR1er0r 1 ve faRiy vy @Y aon Rrenfiat & i firs @ w4@ife
1. they do not want to learn. /a@@:ﬂq—ﬁpﬁﬂéﬁ%l
2. they don’t like the topic. fa%ﬁwaﬁm%‘l%l

3. perception is dependent on the environment learners are accustomed to. / eRo fRemfa &

iR R R 8, o ot B
4, some of them do not like the teacher. / G_*Iﬁﬁ@ﬁ&@ aﬁm:@ffﬂﬁgl

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / YIRUI Rrenfay &

TfeRor R AR 8, e ol 7

5) What is the primary change that occurs during puberty? / e & SR g are

TR uRad FaT 82
1. Psychological maturity / T aRuwar
2. Social maturity / SIS gy dr

3. Cognitive maturity / TS gRuehdr
4, Sexual maturity / I gRgedr

Correct Answer :-

« Sexual maturity / 1 gRgesd

6) At what age does the newborn recognize the mother’s voice? / & SUH qﬂ\“!l'l?l’ﬁl’-‘l_] ar
D1 AT B UGl 82

1. At birth / S 9
2. At three months / A I@ﬁ R
3. At six months / : 'J:I%:ﬁ R
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4. At nine months / 71 ﬂ’ﬁgﬁ W

Correct Answer :-

« Atbirth/SFH Y

7) Who was a development theorist of the mid-twentieth century who is best known for his
specific and detailed theory of children’s moral development? / Sl ATt & A W Th
fawTa RigiaeR @17 4T ) 9= & Afae foera & s ARy o foga Risia &
fore w7 T 82

1. Lawrence Kohlberg / ¢ Ng Eﬁ’(ﬁﬁ"’f
2. Vygotsky / El'l%"'ﬁ?\‘?fvnf
3. Piaget/ oS

4. Erikson / Eﬁﬁq

Correct Answer ;-

« Lawrence Kohlberg / ﬁﬁﬂfﬁfﬁﬁﬂf

8) Who proposed the “Law of Effect”? / fra= wuTa &1 fFram wfaufea fam?
1. Sternberg / e

2. Fromm / 19

3. Thorndike / ZITT‘TEW
4, Bandura / ET“@QT

Correct Answer ;-

. Thorndike / YTES®H

9) Who developed the first intelligence test? / Wg@'ﬁ?ﬂ geor (a'\‘f) fPua faefa
foan

1. Binet and Vernon / fSFie 3iR o+

2. Binet and Simon / fSFe 3R RH

3. Goddard and Terman / ST 3R HA

4, Goddard and Wechsler / TETS 3R JaweR

Correct Answer :-

+ Binet and Simon ACER 3-?]? R
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10) Preprimary education in India carried out through Anganwadi Centres falls under the

./ YRA H SAFArS! Sl & a1y I < S aral yd-urd i fRram
& fafa St 71
1. Ministry of Social Justice and Empowerment / TS =Ry SIR SifreBTReT Harerg
2. Ministry of Health and Family Welfare / TR 3R URAR om0l HTerd
3. Ministry of Women and Child Development / Tfgen 3R a1a fawr Harera

4. Ministry of Human Resource Development / FTd H1EH o HaTer

Correct Answer :-

« Ministry of Women and Child Development / Il'f%?ﬂ 3R 919 fyera daer
11) Critical thinking is an aspect of: / g1 fia= frH= &1 t& g &:

1. Bias / U&MId

2. Reasoning / ab

3. Belief / faymg

4, Emotion / HIGT

Correct Answer :~

+ Reasoning / dd

12) The judgement of the quality of teaching depends on: / FRrgror ﬂ’ﬁﬁ“ﬁ?ﬂ &1 fAvig
A w ik s s:

1. Developing a relationship / Haell ol fdepd P IR

2. Attainment of information / STHHR] &1 UGl TR

3. Discipline / 3R UR

4, Overall development of student / BE & 9 fap )

Correct Answer :-

« Overall development of student / BE & Y fap W)

13) The abbreviated term ADHD denotes: / Hf&I XTeG ADHD ('E-!Tiﬁ'[ﬁéi') ﬁ'FFI HI gt
&

1. Attention Deficit Hypersensitivity Disorder / &I 3{HId SffraeTRied fdaR
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2. Attention Deficit Hyperactivity Disorder / €T 3{HIq Tfehadm fapR
3. Active Deficit Hyperactivity Disorder / febd 31HTd Tfehae fdpR
4. Aggression Deficit Hyperactivity Disorder/ {TshTH& I UTd HAfehadl fdwpR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder / €I 3{HTd Ffehadl fddpR

14) Which one of the following is not an internal factor of attention? / Frafafea & 3«
ST (AU DT TD AP BRD 81 82

1. Interest / &<
2. Intensity / diigdn

3. Mind set / Ud YRUT (AZS ¥T)
4. Motives / URTT

Correct Answer :-

. Intensity / digdn

15) Which of the following factors did Kohlberg focus on in his theory of morality? /

Flgaatt AU+ Afaepar & Rigia § Fafafes sre! ¥ 9 g R wm= Sfga feane
1. Family influences / URAR UYd
2. Cognitive development / SITHIH® fawra

3. Culture / H@ﬁl

4, Gender differences H%FT 'ﬂE

Correct Answer :-

« Cognitive development / §3HT&® fawmra

16) Which of the following is not an objective of Continuous and Comprehensive

Evaluation? / FAafafd & 3 o1 Wdd Ud o0us Teuid- &7 3e%4 81 82
1. Plan teaching-learning situations. / FRreror_ iRy RUfIDY &1 AierT daR & |

2. Communicate the child’s progress to different stakeholders. / S &1 Ut &) fafie Raure!
EIEGIEIN

3. Map changes in the child’s learning and development. / T2 & T 3R fowr & ufkadHl
T AH{E ST |
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4. Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfdai & 79 4

A U] AT, 1 d SEaR USRi— B gb |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / faenfiai & w= o

Y U] AT, AP d J8R Ue=H HR o |

17) Which of the following is not a risk factor for drug use that is directly attributed to
parents? /

Frafafaa # @ o9 a1 571 ST & fore Sifey $R® A1 & forae fore ardr-fiar wwer
U F ITRGRI SR W12

1. Childhood negligence / STeIARIT ATIRATR]
2. Abuse / Qﬁ'j-aﬁ'l'{

3. Peer rejection / Wﬂ'ﬂﬁ 3[BT

4, Genetic inheritance / 3‘“33'@15 favra

Correct Answer :-

+ Peer rejection / ﬂ%ﬁaﬁm

18) A child realizes that a four-legged animal that neighs cannot fit into her existing schema
of ‘dog’. What process will she undertake to fit this new information into her schemas? / T

= & 714 81T @ fp IR W aran siFa, St & fR=feman €, o & diser emer o
fibe €1 8t HpdT 81 SH T8 TFPRI P! 5H AMTPR H fibe B P g a8 o1 ot ufshan
SUTTI?

1. Disequilibration / SR
2. Accommodation / FHTIS
3. Assimilation / {THHTd

4, Homeostasis / FHRfA

Correct Answer :=-

+ Accommodation / ﬂtsz:hﬁFf

19) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the
Kannada exam he wrote yesterday. What is this phenomenon known as? / waﬁaﬁ STl

P gdien & fore are ford 1A il ereRt & VR 341 39S gRT od e T oS
TIIEHT & PRI BIS AT &1 5H U1 BI 59 ATH | |1 SIdr 82

1. Retroactive interference / t‘[';ﬂ'ﬂ@ SRIY
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2. Retrograde interference / UfCRTIHT A=Y
3. Anterograde interference / SERTHT AR
4. Proactive interference / 3‘@?@ JARY

Correct Answer :-

« Proactive interference / G@T—IH@ JARAY

20) According to Vygotsky, child’s language and thought develop . | aRATEDT
F IR, I I UT9T 3R fa=R faw i ovd B

1. independently of each other, then merge / Th @i‘ T WGa7 gl 91 T U T Jiyfera g
ik

2. independently of each other / Uy @i’ Y WA
3. universally across the culture / It ﬂﬂ?ﬁf&ﬁ R I Y

4. together as child grows / =8 & fd®T™ & a1y

Correct Answer :-

« independently of each other, then merge / Uh g{-ﬁ RESRE E\ION a'l'c{ff MU H ?Iﬁilﬁﬁ_sbl
o

21) Parents who have a lot of rules but support their children to follow the rules, are
adhering to ./ it Aral-fuar 9gq 9 w9919 € Afed o =il B e @1 ure e
»RUTEma e e T STV Hd 2 |

1. Uninvolved Parenting / 3/ &% UreH-uTyor

2. Permissive Parenting / Gﬂﬁlﬁ UTe=-UIyor

3. Authoritative Parenting / 3TIBIRD IaH-gIyor (a{uTﬁ%i%a Eﬁ'ﬁ'ﬂ)

4, Authoritarian Parenting / SffIHRarg! TE-TreoT ( YR R3M aiﬁ"'l)

Correct Answer :-

« Authoritative Parenting / 3TN UTeT-UNur (3rifvefea tRfem)

22) is the desire to act and move towardsagoal. / __ S &
3R T TeT P 3R g B g1 711

1. Perseverance / €@ dl

2. Valour / {led
3, Motivation / OO
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4, Grit/ 99

Correct Answer :-

« Motivation / ORUT

23) Which of the following theorists emphasizes the importance of categorization in the

Iaeﬁar%ning process? [ Fafaf@a RigiaeR # @ &9 ifimw $1 uipar ¥ anffezor & vga W R
?

1. Kohler / Elﬁ%?
2. Bandura / SIgT
3. Bruner /@R

4. Pavlov / EERIG]

Correct Answer :-

« Bruner /a:k

24) Problem-based learning in science encourages learners’ scientific habits of mind.
Which of these options best describes some of the guidelines for problem-based

learning?/ fagm & Twwar-amenia fRien, Rranfiay &1 w91 @1 amfae aneal @) Weed Bt
2159 9§ o9 91 e guw-snuaie Rigia dies & $o ez &1 3fa vl srar g2

1. Reading, writing, listening/ Ug+I, fora, g0

2. Thinking up ideas, using multimedia, making variables/ < 1H11Sd] T SN HRp, TR
R fRI 1 gHgl

3. Asking questions, constructing a hypothesis, repeated trials/ W% &1, e TR &1 AT B3I,
IR-ER URI&0T Al

4. Discussions, a fixed number of trials, cooperative learning/ =af, fRf3a Twem & wtemr, ggart fRremr

Correct Answer :-

« Asking questions, constructing a hypothesis, repeated trials/ %% U&T, Udh URae0T &1 0T T,
TR-ER TRI&0T AT

25) The apparatus used for measuring the span of attention is ./ 3@y fagfa
(FH 3w 3ERM) P AT & e wgew fvar M arar Suswor |

1. Tachistoscope / eIy
2. Microscope / m
3. Telescope / %T'ﬂﬂ?ﬁq

4, Epidiascope / @mﬂ
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Correct Answer :-

« Tachistoscope / ReReY

26) Id, ego, superego is put forth by: / TgdH, (€, WTE (JuaM) a1 ¥ A frad grr wifte
IELRICE

1. Maslow / FTE
2. Pavlov / ﬁaﬁﬁa’

3 Jung/TT
4, Freud / /TS

Correct Answer :-

o Freud / hTIUS

27) The Expectancy Theory of motivation states that: / IR0 & fRygia d sgan (]
fo:

1. People are motivated to do things due to external rewards. / TR&R U Sfdd &1 & & forg Uik
BRI B
2. There is a hierarchy of needs in each individual. / T Sfad & SRe<al &1 U USTIHH gial ¢ |

3. There is a desire in a person to become what he is capable of becoming. / fad =fdd & ag &9 &1
31 8l & O I8 & | Wi g

4. Motivation depends on the desirability of the outcome. / 2IfHURUT URUMH 1 3=81 WR 1R Ham 21

Correct Answer :-

« Motivation depends on the desirability of the outcome. / S1fYDRUT TRUMT Ft gwT R ik Fear 81

28) CANCELLED

Who among these psychologists have developed a theory of personality based on 2 dimensions:
introvertion and extrovertion? / ?ﬁ'ﬂ%mﬁﬁﬂ' # | fraa 2 smammt Gm'li@ Gﬁ?ﬂﬁﬂ@ & ATYR WX
iR &1 U Rgia faefad fear 8:2

1. Sigmund Freud/ e wrae

2. Carl Jung/ a'TIF'f'«TT

3. Erich From/ mtl’ﬂfl

4, Hans Eysenck/ %@[ 311313-|$

Correct Answer :-

« Hans Eysenck/ %ﬁ &ﬂm
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29) Teaching in an inclusive classroom is a challenge for teachers and demands

certain . / GuTasht e ® ugr, Rl & e e g @ ok 39 FAifda
pav k) P AT T 2

1. Habits / wafd
2. Talent / A
3. Expertise / Q&fdl

4. Practice / HWTH

Correct Answer :-

« Expertise / G&fdl

30)  is found to be effective at achieving conceptual change. /
DI IS URadT U B3 A TUTS 91 T g

1. Reading textual materials/ UT3 ST S{ETT TUTc!

2. Labs / TAITRITE

3. Discovery learning / fSH®aRT e

4, Detecting an anomaly / ERUIREIREGIRSHIE]

Correct Answer :-

« Detecting an anomaly / faTie 1 g e

Topic:- General Sanskrit(L1GS)

1) [

%6 VOB A=Y Sfeard -

. TR |

o N, S

Feclragan:

, FHIHARARH |

-
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Correct Answer :-

- PIRNRIARH |

2)

'SIAHT 30 TS (.2
Ry

. ClEN

. gel |

Correct Answer :-

LN .
, JEqET ST A |

e g |

Correct Answer :-
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ATAST e TR & A ?
CEnEE Y
T |
| THT |
¢
, FHSE: |

Correct Answer :-

X

. GHTST: |

R e =aeEa
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T e =EeEd |

| f3rT: ST =aeEa |

, ETeT: ST =aead |

Correct Answer :-

7)

) 0T |

Correct Answer :-

T ST | Y -
l_qaa’%sw
e |
3 furfe > |

Page- 185



1 ARG |

,, VTR, |

[N

[T |

< 2

AN
, AHTTRIGH, I

Correct Answer :-

[ S

, TEelE: |

Correct Answer :-
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12)
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T o ? dehdared HaH=R [ad -

| R |

, CACIBEECRE

, RIHAGHH |

. TR e |

Correct Answer :-

 TRHE HAH |

14)

AR SO Gl Ft ?

15)

T [ - SAHANTH

, ETSHEH |

Page- 188



2. I

5 TTEIRIH |

, HETRH |

Correct Answer :-

HUSHIEH |

1.

2. g ‘

| SicrEre= |

\ HETRTEH |

Correct Answer :-
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T |

Correct Answer :-

A |
| |

Correct Answer :-

19)

=t Aived TTo3(d ‘o0 “Hivel 3eavd [Mih: & ?
. @élal |
e |

3.I l
4':laﬁn'f:‘rl

Correct Answer :-
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Correct Answer :-

.%ﬁgﬁ?zl

ey o v & 2

L?T{l
, T

ad: |

3

EREGE

Correct Answer :-

4.
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ST e ST, SY: -
| S |

ZWUTEH

AU

3

. SHUT |

Correct Answer :-

23)

TG, o ?
=i |

=

, &I |

, & |

S S
et |

Correct Answer :-
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T

Correct Answer :-

= ryqates:” geae fomrear 2
, T AS: |

| Fie: |

. IR Fi: |

Correct Answer :-

26)

HESTIA it T Tz &: 2
BR-CULAREY

2. e . |

) [ i B !ﬁ |
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TG |

Correct Answer :-

27)

‘qideh: T @RI 395 ‘& 3eE Fh [ ?

,, |
2.?ﬂ"tl'l'c.,"IT-lILl
. HEGTEH |
|

Correct Answer :-

28)

PTG 9¢ 94 -

[T
T |

2.

T |
, fo@fa

Correct Answer :-
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) gy o v -
L !q-l:[:

2. | I

3: |

30) CANCELLED

L .‘\.chat_f'\l “\.-
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Topic:- General Hindi(L2GH)

1) TR ia fave & afeh
FIrad! Tl o g,

e ga® X A B
Ul ¥ FO HEdl AT
e TR TP T[T e,
“3d TR afe g3 faum,
30 YR & HUA] BT

¥ off s1 Y e gATar 1
M-SR 98 38T e,
T b WSTdc W R |
i, anfla, B9 oz 82
BT PP IH U ST W
i Eid oX BT &t |
TE par A @i §

T 45 AT B JT |
T} o9 fepeor aidt
Feil SFT Uuf & SR |
g, T S Hd saHSHY
€ WTd W18 | A% |
o T81 Y@ T R aTH,
PATAT I AT IRE |
1, anfid, B9 Gaz 22
IuE TR P Ug@} I IR T 9Y BT IR qagd:
WA= "Uf T FHET B-
1.9

2. Ol

3. fozur
4. 3ot

Correct Answer :-
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2) R Tid fave & afest
FTad! Fgdl W g,

foe geret &R o Bt
IUdl A O Hedl ardr

€ W TP a9 Hieel,
“ad TR afe g3 faura,
U AR & W BT

# oft 571 1 wive T 1
M- % Tet e,

T @ @SIAE W ¢ |
1, anfid, B9 Gz 82
3T P I T+ ST W
St @i TR BT &t |

T par A @i §

[H I3 S 7 /A |

T I o fevor et
Jelt ST ol & TSR |
T, TP & Ha saHSHY
g W g | TR |
ST Y€1 [P BT TR I H,
PAITAYD PTRE |
ST TN B Tedy A9 I 7T UY BT IR dasd:
- Fgi i vor a8 W@ a2
1. BT PRb

2. T-AMH

3. T

4. RIRR

Correct Answer :-

o M-TTTeRR
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Teer gt X O BT
IUSl & $S Hedl it
¢ W TS T W,
"3 TR fe g faura,
U UASR & WY B

# oft w1 Y wira e 1
- 9% I8 e,
TCA P WSTdE W & |
3T P 3 T ST W
o @id I% BT ¢l |
prchi EIERGIGE:]
gt 93 33 3 A |
Tl PP o fvor et
Tl 3T 9of & AP |
fog, g1 & Tid SHSHR
€ SId §g | | |
1 361 Y FI @R T,
TATAA YD PTRE |
Tfia, anfid, 1 gav 82
IUYF TR B UgHR 19 IR T WY BT SO daTgd:
US- 'YP BT TWIA U BT BT [6F UG BT Gas 82
1, 3fta

2, PR

3. g R&M
4, FRaar

Correct Answer :-

Page- 198



€ W TP T e,
"&d A ufe gel v,
3T YR & HUH1 BT
# off w1 B i gATar 1”
M- 9 v R,
Ted & WSTae W § |
i, anfla, B9 Hex 82
BT P I T+ ST W
St Wi UR BT & |
T par i @ia §

gt 35 33 B A |

T Y& o9 fepeor gt
gl 3 gl ¥ B |
forg, Yt & Tita IAsHY
3G T4 ¥g § §APR |
I 761 P T TR T,
PATAT TP STWRE |
i, anfta, ®i9 v 82
SRR U= F UgH? 19 I T U HT IR Ia189:
- Tgd Ui & forg e § 9 wie-an siide sfa g2
1. §galt afest

2. e w1

3. Yob-Yob! Halg

4. B Y 82

Correct Answer :~

. PAYRT?
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3T YR & HUH1 BT
# off w1 Y e gATar 1”
M- 7% T8 s,
T P TSTaE W ¢ |
i, anfta, ®i9 Gz &2
BT PP I T ST W
i Eid o% BT &t |1
UG e A @i &
ot 35 3 & A |
T} o9 fepeor gt
Fell ST gof & THaY |
frg, I@! & Tfia IasHY
€ STd g | | |
1 381 YH BT ER T E,
PAT AT PIWRE |
1fta, onfia, B Her 82
UG T B UGB A9 I MY UY BT IR GAZA:
ULH- Ui & "UTed Yo &SI d¢ U & Ufed § 3T Weg "uree” &1 4 Y grar 82
1. HBIq&

2. 7dt

3. yeft

4. BT TR

Correct Answer -

o HT TN

# oft o1 Y 7 AT 1
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TM-TTHR TE T6 e,

e & TSTaE W ¢ |

i, anfld, B9 Hax &2

3T YF I T ST W

S Eid oX 1T &t |1

T par A @i &

[H I3 S 7 A |

T PP o Fhor aRielt

el ST Ul § TS |

g, I & Ha saSHY

@ ST g | §HR |

IS TE1 PP 1 TR T H,

PAITAYH FTRE |

1, anfta, B Gex &2

SUYE TR BT UgHT Y IR T Uy BT 37X a5
- TR # e fauTaT & o 5 81 82
LGy

2.3

3. @l

4, ¥

Correct Answer :-
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1, anfia, B9 Gaz 82

3T [P I T ST W

St @id uR BT g |

U won i @i §

JH IS IS 7 A |

T Y oI fon ae

Jelit ST gof & TSR |

fg, gt & iia susHx

6 ©ITd TE § TR |

IV TE1 Y 1 &R T H,

P A YA BIWRE |

i, onfia, $19 Hex 32

IUYF UL B UgHR 9 IR T WY BT ST dargd:
- TR H ST e W 5w v @1 33 U 82
1,94

2. %0

3. 98

T oft 51 ) 7fta g 1
M- 9% WE1 e,

T g WeTae W 2 |
fiq, enfla, #19 Gev 82
ST PP 39 g ST W
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W Wi TR BT et |

U@ par e @i §

gt 35 33 7 Al |

T Y[ o9 fheor gt

Tt ST i F TSR |

fog, g & Tia sHSHY

€ WTd §1g | | |

1 391 Y F1 @R I H,

TAT A YD PTRE |

i, anfta, ®i9 Hax &2

SUdad UEIY B UgY i U 7T UY BT Su¥ dargd:
TRHA- TR W 3TY eg afesAl & & ared 82
1. d¢ TR g drell

2. 71dt

3. STt

4. TSHI

Correct Answer :-

o
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Yt IS 3 7 A |

T Y o9 feheor gt

gt 3 gl & BeaR |

frg, ot & i SHSHR

€ STd g | | |

1 ¥E1 YB BT &R T E,

BT AT B BTIRE |

Tita, orfid, ®19 G 82

IUYe Ui B UgHR 1Y U T WY BT SR gaTgd:
- iR W 3T reg e @1 @ o e €2
1. 941

2. Al

3. 95
4. ydd

Correct Answer :-

10) TR id favg & afet
Fradt SEel ST g,

feer g B A BT
Il A FO HEdl STt
T IR T T i,
“ad W afe g3 fawma,
A YR & 9UH| $I

# oft w1 Y ik g 1
M- T et e,
A U@ WSIdE W ¢ |
M, enfid, $19 Gar 22
o1 Y& 39 Tl 31 W
i @i W BT &t |
U pen R @i §

TH I3 3T T AN |
AT Pb o fhvor et
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Jell ST ol & TSR |
fog, I S i sHSHY
IE WId Tg & 99w |
ST Y61 [P BT WR T H,
FATAA I FTRE |
1, anfta, B9 Har &2
IUYR U= BT UgH? 10 U ¢ U HT 30 Ia183:
TR - UE G A @il #
YH! 83 30 & A1
3 Ukl 1 5 T 72
1. YH DT HEd
2. Y-l Halg
3. Ufédl &1 a1
4. af=ator

Correct Answer :-

11) MR e favg & afe=t
Frat SEel ST g,

Tt g1 BRI BT
Il | $T Hedl et
T IR T T i,
“3d R afg g9 faura,
3T YR & 9UH| Pl

# oft w1 Y Tk g 1
M- T et e,
A @ WSTdE W ¢ |
ifta, enfla, ®19 Hax 82
o1 Y& S Tl 3@ W
il @id W BT &t |
U e A @i §

TF ¥5 S T AN |
AT b o fhvor et
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Fil SFT 9uf § SR |

fog, T S i SHSHY

TE WId Tg & 99w |

ST Y61 P BT WR T H,
FATAT I FTRE |

e, o, B HaR 22

IUYR YIS BT UgPH? 10 U 7T WY HT 36 Ia18:
TR - T A B! T WX | Fq1 a1e9d 82
1. 98 3071 @ foreg

2. 98 Tt 7 &t

3. 39! ufaen qof g8

4,98 38 & o7 (IR g%
e
. gg i T @it

# oft w1 @Y wita g 1
- 98 T8 e,
Uled Y& WSl de W e |
e, enfla, $i7 Hex 82
ST [P I T ST@ W
St WS oR B et |
g e AR @i o

TH 33 A B A |
AT Y& o fnvor gt
et 3 of & TR |
fog, gt & Ma IusH
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I T 998 & 9P |
ST G YF PI @R T4,

AT AATH FTWRE |
1, snfi, 19 Har &2

UG T P UGHY A T T Y T A g
R - [P Fd Hd T 32

1, UGl I HaAH WX

2. Wl R BT IS IR

3. gl Bl 1 TR ureR

4. YD H TR

Correct Answer :-
. S e &1 =i uret
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TAT AT YB BTG |

e, onfia, @i Her 82

FUIF U B UGB - YR T WY BT IR qa1g:
U - B! & N SHSHT [FH SR A @ &4 82

1. TUAl & BRUT

2. qob & HRUI

3. §1g & BRI

4. 38 & BRI

Correct Answer :-

. TG P HRU

14) PR ia favg & afeit
et ggel St g,

feet g1 % 1 F1
U A FO HEdl STt
€ IR T TalTd e,
"&d TR afe g faum,
3 YaER & JUH| BT

T oft w71 ) 7fre g 1
M- 9 W61 e,
e & WSTae W § |
31 g 39 T+ ST W
St Wi UR BT |

U par i @ld o
Tt 96 33 & A |
T [P o foror aedt
ot T uof & SR |
frg, gt & i sHgHR
T SId |8 H WS |
S 61 b FI TR T,
FATTA IS HTRE |
1fta, onfla, ®14 Hav 82
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SUYad TR B UgdY A IR 7T WY BT SuY gargd:
UEH- Td S -8 T AT dTedm 82

1. UA3R & Ul & 1

2. Mg H Tl

3. Y1 & Md

4, faon & i

Correct Answer :-

. TUdeR & Ju=l & Tid

ITYF TN B TgHT - T T Y BT I a8 d:
- 78} 980 5U SUG! @ Y T Fad! o 22
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1. TAg H Y8 & g
2. 71 8ol 3 & forg

3. @ @al g & forg
4. Ma T & forw

Correct Answer :~

. T gl B & ol

16) TR Tt Tt GUTFT T Bt AR & ST A GRa™ it AUST § f37 AT § 3R GUIit & AR Wi Rerd
F UL § g o1t B, fhg WWer F gAY @ 98 I/ AR & UTd1| 39 T B A6l I geed | gXar
B g gl §1 SIER SR URY TUT 3T AT IUSP ANT W UY I61C € | S U1 A I S+ ey
B3 1% 98 Be-Weds A1l R B IHA 3R HSHM H HIER $1 WE YT ¥l | 38 s9i g ard of At
o YR =9 A 35T 8, Wal-diaT 8, SHP ¥ W AR T8 Fadat, Fafe SR Bl @H-HHAM S e
T2 gU &1 IR) #Y agivar QU w SR TR i 3@ 371 QRO 3R quTht & dae 9t Tl @ qee A
3ol g8 1% WY v A SR FeARdl F1 Igar A7 B WA Jo1l IUA e Iy o fF 59 T@ W B
TTATCI, TSUTET A8l aF P 3 A Tl (0| SH T THS § Fa-i1 ggATHT g o 715, Hivl-HTa fRrest
aﬁmﬁﬁaﬁm IR} YRS U AR 7@ | 3ia: IS SUG! BT deit I3T & 747 3R FRe™ P U §
T M &

W F AT P faiwan g8 & fF vt & war o SR & arayg g i 3 nfawiy a9 & faymr T8
HaT gfewd GAAT0 A YT T 8 SHfere 98 frgen & wara- «Hl HIE I O R S T S a0 S
A & AT | TedT & HId IR ST 8- <dl g9 Y T aRg I’ I

I T BT UGB A YD T WY BT IR JaAT3:
U=HA- SATER R A i 361 Bl 412

1, YREN &1 SIS o1t 75 oA

2. YRGS gl Tl

3. JRaN ARFEHA Tl

4. X - Il g8 ue! fOex g at 2|

Correct Answer :-

o GRE SfHed Il Ul

17) Wi @ Telt GUTRT R $1 AR & ST T W It FuSt A 57 A1t 8 SR GUTET B AR WY e
31 ZuSt A g9 a1 ¢, forg JRe™ & T¥dEY | 98 39 UR 81 UTdll 39 9T &I AR R et d GIad
Pt FgATH B T 1 SR 3T AR 9UT 3T T SUP INT W UY IS 1 57 U A I S ety
ES 1 98 Bo-Fed: a1l IR 3 ISP R YseH § SeR 91 v YieT W 39 $uf 59 a1 @t ft
% WRST T91 W 54T &, WAl-UTaT 8, SHE g U PRI T8 e, e SR B WH-FAM & a0
U2 U 1 WY A agivar guIht oz TR FeR W TE@ar ATl JRE SR guTh & Hael @Y wal @ geea #
g+t g5 5 IR o= uu SR ggeTl @1 agan A $t T 3371 IF e aiY ot f5 o9 g [ B
TATET, TS 8] 9 TP I o7 A6} FAS | IY T AT H Fa-11 g g af 78, Wiw-ura faRred
aﬁ@‘s"l’ﬁ_ﬁ?ﬂ?ﬁﬁwwmwﬁw1m:mﬁwﬁmﬁ%ﬁwﬁwaﬂ?waﬁ§h@ﬁ
T A &

ey & I 91 a2 g5 § fF Fivd & war o oM & aravg a8 5t & wfawiy a9 & fayme =&
Beal afews GA-AT # [y Svar @ safee ag frgsn & ward- <ol ®I 9t 9 IR S1uS B 3 T
A & wrara H TgdT & WY SR &A1 ¢- <dl g ot ) v AR a1
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SUGHR TR D UGHR A U T UY 1 IR qd1sa:
WL- YR B Tedl [Had ybe gidl 82
1. QUM BT IROT A I

2. fgenpI ey IR A
3. 3UP AUS H ST Y

4. 39 HHfGIETH

Correct Answer -

. frgenslfiu I

18) WY B Telt GUTH XY B AR & S T JRe™ i St # U Wt & 3R GUrht @) AaRa R gRe™
B SISt A g o1l B, fhg YRe™ & saau § 98 S9 AR e UTd1l $9 UeH B Ao [N Yo § gIad
B ggard gt 81 SR SR R TUT 3 AT 3P AN WX U o1 &1 3 AT § SU Sad! ey
B3 1% 98 Be-Feds A1l R I IHAM 3R HsHM # SHTER 31 e YT T8t | 3 sof 59 ara o it
o IR 91 W 35T 8, WT-UidT 8, SHP U U (RIS e, 9aie SR B WH-HHAM & A
T U 1 WY B Igiar JUET 1R IR ToR W T AT RS AR T F Tl ) a=f @ gee #
gal g5 15 WY S SuHE SR geAndt ®1 gear A7 B WA FoTI IEA i Iy o fF Wa Tw W B
TTTCI, TSUTGT A1 dd dP S A -] [0 | SJ T THIH A Fa-i1 ggATT gt o 78, Hi-HTa faRrest
aﬁﬁr"iﬁ?ﬂ? IR} YREM U AR T@A AT Sica: STP SU! B Aei IST o 747 3R FRe™ Pt v §
ST &M S

e & I 91 fagivar g8 8 fo vt & Sar o o & aravg a8 feefht @ wfa=iy &9 # faym 8
Pl gicw TR § fayr BT 8 3afee a8 figsn & are- <o SIS 9 a9 9% F0S Bt S S
& waTe W TEaT B 1Y IR a7 8- “al g9 ot T arRa aR 99 1

IUYe TR B! UgHT 1Y U U UY BT IR qd183:
U=H- YR e ara | faymy wvar a2

1. gfcr=iey 78 o A

2. Wl Bl dleA |

3. ST § ST TR &

4. W Y gear e o
Correct Answer i~

o Tfreny &t o A

19) W @ gelt FUTRH R F AR F =X A R 3t FuSt A 57 ot § o gurh &) 7R WY R
P ST § 79 o1 2, fhg IR F eaT @ 9 SR AR T UTd11 59 9 B do] R Heed A qRard
P} FEATH Bt B1 STER 3R WRY GUT 3T @NT ISP INT W UY I3 & | 5 U1 A I FaN e
&S 5 98 Be-Gem a1l IR B ISP SR YSHH H SRR 31 W Yt 3w 39 $wi 39 g 3t @
% QR ¥ | 54T &, Wiar-gia 8, U 983 W PRI e faddl, Weid TR & @E-$EE S
T2 §U &1 R 3 aghva qurlt w wreR o ft waan 311 GReN iR guiiht & Heul @) Tuf © gee o
ga-t g3 fo IRY 3rue 3uH™ 3R agATHl &1 ggar an @t A ST I 76 a1y o [P &9 9w J Bt
TN, TSUTEIT -6l a9 TP U ° Tg! FAT | W T HHIS | ga-t ag-rH g1 af 15, Wid-ura favred
aﬁﬁ‘r’%&n‘z IR YW TR T9R 7@ 97| Sda: STP SUd! DY Uit IST & 797 3R YR P vt §
AT TS
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IR & Al 3 faudar gg 8 fe st & wan fqu o & drav[g 97 fedt | ufa=ny o d fayry =81
BT dfcn GATTAT0 # fym Hea ¢ safig a8 figen & wara. «off $is 9t 91E aR SUS! B S @ &
qi» & TaT9 | TedT & 6Ty IR 3aT §- <l g i 9 A R g 1

IUYa TR Y UgH< A U T UY B IR FA153:
U=A- GREN & IRT ot a1 fa=ioar &2

1, T8 SUHM 3TR FeTH F ST ATl

2. 98 fpft 1 oft auef Ut & S g

3. 98 oot & miftrey o o farsyrer =1} v e

4. 98 TRI 9 $wf o Tl

Correct Answer :-

« gg fopadt @ mfereney R & fayra =1eY spear |

20) WY P} gelt GUET IR A AR F S A W 1 FuS! F fou e B ok gurht F) AR R e
T ZuSt H g9 W €, g o™ & FwaT | 98 39 UR 7€) UTdll 39 g1 B B ¥ e A GRo™
P TEATH B Bl SHTER 3R URY AT 3T TRT IHSD TR UR WY IBTA & | 37 U1 | I Fa-i1 SATevant
g3 % a8 Be-wes: Aa11 IR & IFaH R WsH™ A SeR 9 uge YireT 3§ 39 swf 51 ara @t &
& gRe™ 91 ¥ 54T &, Wrar-dial 8, 3P dg) WR AR A8 srawdt, Safe SR ® WH-suH & ad
TS gU &1 OR\ #T agRan GURT 0% SF1eR e o I@a1 471 GRerE 3R gURH & ol @t Tuf @ geee
Tl g8 15 IR U9 AUH 3R FEATT F1 9aa A4 @1 Ad 961l SuA TS a1y o fF oa dF W BT
T, TSUTTT Tl 9 dF 34 A T81 e | I/ 1 FHrel A ga-1t ag4Ar! 8 ot 18, Wis-yid favres
ﬁﬁ‘f"‘%ﬂ? IR} YRS TX 9% 7@ 97| Sida: STS vUa) 31 Uit IoT o 797 3R TR 31 SuS §
ST T &

e F T P fawwar gg & fF ot & wan R 91 & aravg 98 it 3 ufomiy a9 & Ry =8
Heal gfep G-I § Iy Svar @ sufee a8 frgen & wara- «off $15 | are 9R SUS! S 3 & §
b & aTd A TeaT b T1Y IR gl 8- <l gf f W aRa IR 9 1

IUYT TR BT TgHR AT T 10 UY $T 3R Id153:
TT- GO B O¥ Yeed! A 4} ag-rHl gt 82
1. QUi I e ¥

2. Il o FREE Dl s | 31 8

3. SUS! H ST v §

4, TRI 1 ST & HRUT

Correct Answer :-

o U &S R ST TSI H M

21) Wi T Telt GUET R B AR F T T Yo o1 sust F Rvw et 3 o gurht o arA W= e
Pt FUSt A I W 7, fhg WRE & TI4U | 9% SW AR T8l Ul §9 e B dd? ¥ geed A GRa
1 g gl 81 STeR 3R WY AT 3T ANT IS AT WX Y IoTd & | 59 g | SN ga-il eanty
B3 1% 98 Be-Feds A1 N I IHAM 3R HSHM H SR 31 7@ YT vt | 3 swaf 59 ara o it
& YR =9 @ 5T 8, Wal-giaT 8, IS A W FARIRT TE Fahat, TafP SR F GH-HAM P A9
TS gU &1 IR Y agiar GUTT 1R S1eR e W T o7 RS SR GUTT & Hael 1 Tui @ gee §
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g1 g3 16 MR U SUHH 3R TGN 1 Tgal a1 B | JoT1 I/ o 91Y ol fb o1 7@ JW DY
TATC, TSUTET el I9 9P I oA Tl (AT | S” T THS § Fa-i1 ggrt g ot 78, Wis-HTa fRredt
aﬁﬂ"f%am? IR YRR W T0R T@A A1 3ia: ITH 3ual B AT IT & 77 3R YRar 3 st §
T Em &

W F AT Fi faRiva g8 & fF vt & war i 9 & arasg 98 i 3 ufosiy o & g T8t
Heal afes garafor § fayme svar 2 sufe 98 fgen & Jard- «off $1E 9 are IR SuS T 31T & S
A & AT | gedr & 91d IR &l g- <dl g9 WY I aRg IR I )

JUL T BT UGH A9 IR T TY BT SR qaTg:

- <7l g6 Wt T AE IR FEG F DIH-A1 W qADT 82
1. STHATIYR

2. %60

3. ST

4. 351

Correct Answer :-

22) R F1 vt GUTET 3R 31 IR F =X A W BT SNUST H BY Al | R gurh F AR IR W
FI FUS A Y 1 2, g W & AT A 98 I UR TE U1 5 9T Bl AP I Jee A JRa™
Pt IR Fiel 31 SHIER SR WRY TUT 3T AT IS TG U WY I &1 59 9T | I ga-11 SATevan=
B8 [ 98 Be-weas Aarl IR 3 ISP SR YsH H SeR 9 v e 3w 39 swf 59 aa ot At
& e =@ 9@ Year 8, Trar-dlar €, 3ud 98 W FREn 76 sradal, seie SR $f OH-$HE & e
TS §U &1 Wi ot agiar Jurht = srmer o o waar 411 GRe ok gunh & deul ot ot ¥ geet &
ga-il g% 1o WY U SrauH 3R agAndt 1 agar aF @1 | 11 I i iy ol fF o 7% W B
FTATT, TSUTST TS 99 9P I = el (| S & JH § ga-11 geAr 8 af 1, Wis-H1d farredt
B dgl A M TR YRS W ToR 3@ a1 3idd: TP Sudl o1 Aelt 33T o 747 3R GRey &1 siudt &
AT TGl

HRe™ ¥ aia @t [z a5 § fF st & wen Ry 99 & aravg 98 5t @ wfasiy @ F Ry T8
Par afew gAf=aio & Ay s § gl ag figsen & gara. <o $1E I a9 9R st &Y e §
b & AT A €edT & WY IR <l 8- “dt g4 o |t 9rg IR {1

IUYF TR BT UgH A U T U BT IR 9d138:

- a1 ST GeTax &1 &1 3 gl 82

1. U4 31T

2. U= o=

3, Y BT

4, ST ST

Correct Answer :-

. U BT
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A Y v Gurh A B AR B e A e v § Ry A @ ok gurh B R R e A
SISt § g9 o1 g, g e & 338U 9§ 98 S¥ HR 76 Tl 39 9Tl 3 ad) I good H grer ot
FEATH B & 1 TATER 3R TRY TUT 3 ANT SHS TRA TR UY 3514 & | 39 ¥AT A I Fa-1 STy g3
ﬁ?agly;[-tfmﬁw WY B IHHM 3T UsHM A TR & wirg Yt €)1 3R wf 39 ara &) ft fs
IS o | TgdT ¢, Wrar-diar 8, 3ud W W R 78 srasdl, 9iafe SRR @) @H-99M & |9 ue
U &1 W &) sgiar gurht W SmeR o o T@ar 471 RN 3R JUTh F Fdd) Y wai ¥ gee A gaet
TS 1o WY 39 SUAT SR ISR T el O+ & 6Id §3T1 9 e a1y o fh 99 9% [ S war,
TSUTTIT 8} 9 TP I I T8) FAeI | I/ 1 FATS § Sa-it aeart 81 Y 18, HIN-HId for1ed) &) 38l /&
2 NN FRET TR TR T@A 11 Siad: IS Sual Bt Ah SoT @ 747 SR TRe™ B 3t § omr e &

IR & AT ot faxiuar g5 € [ siust & war iR oM & aravg ag fedt & ufamny a4 o fayr =8
HYal gfes GATATOr 7 fIYT S @ saiene ag frgaen & war- «off @IS At arE g SIS I 31 & ¢
A & aTg W TeaT $ HIY 3T 3T 3- “al g9 Y W aRa IR I 1

SUIeR TIRITRT B Ugdx A IS T Uy &1 IR Ja13:

W= <R Bt aghar S Far ared 82

1. Riptag

2. U} Pt ST

3. TR} ot Heft

4. TR 1 gl

Correct Answer -

. IRY Pt i

24) WY Bt v GURH R B AR F X T W B Fiust A BT At § o GURh @1 IR IR Grem
) SIUS! 7 g oI B, fhq IRae & xaU 9 9 S9 HR e UTdT| §H HeHT B aed §Y Heou § 9Rar
B AT Bl B 1 SITER SR ARY 9UT 3R AT ISP INT WX UY I3 ¢ | 3H 91 A I Sa-1 SMevanfy
BS [ 98 Be-Bed? A1l 1R & IHAM R HeHM # SR 1 v YfieT 78| 39 $wf g9 ara & it
o GReM 91 A 8T &, WIa-Uldr 8, 3P 98 W FRI= e Srawal, waie witR S WH-$HA & aa
TS U1 WY B I GUET 1R TRIER TeR W T AT RSN R T F T Y T=f @ geea #
gl g% 1 WY S SuH SR gt ®1 gear A @ W FoTI I9A Wi Iy o fF Wa T@ R B
TTATT, TSUTET Al a6 9P I oA -l [0 | SJ T THIS § Fa-i1 agmT g o 718, Hiw-HTa faRrest
ﬁw‘”%m? IR YREH U A9 T@A M| Sia: STP SUG! B Ak IST & 747 3R W P oS §
T &t

e & IR I favar g8 3 F Ut & wen R oM & aravg 98 6N F wfoxiy a7 & Ry 76
HdT Sfep GA-AT H YT $ar 8 gafe a8 fArgsn & 9ara- <3l 1% 9 a1 9R NS S M T g
i & TaTd | TedT & 61y IR 3aT 8- <l g9 i 9 9 R g 1

ITYer TR BT UgHR 1 U T UY BT IR TA183:

- IR BI fra- sHaman

1. gHTT

2, SYR

3. e

4. HIYq

Correct Answer :-
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25) R P Tl GUTR R Ft AR F 3T A W &1 gigs! # 5w wrelt 8 oM Jurht &1 ar= 9= qWew
F1 St F g a1 ¢, fhg IRe™ F TaAY T 98 I AR 781 UTaTl 3 9T B AR ¥ e A GRa
P FEATH B 21 STER 3R WRY 9T 30 @RT IUP IR W UY I314 81 59 U A I Ta-1 ety
§s % 98 Be-wesmy a1l IR 3 IHa iR WSHH H oeR ot 1gE e 36 39 swi 59 aa ot &
% QRE 99 | 54T B, War-gia 8, ST 98 W PRI TE fraddl, Taid TR & -5 & A
T2 5T &1 WY B agfiar guTht 1z sreR e W Ta o7l JRer ok guTh & Hde ) T=f @ gee #
ga-l g 6 R 3= uHM 3R ae-H &1 agar a4 $ T 3311 I 76 iy o fF o9 9B T B
AT, TSUTY 81 79 a6 S o 781 (He | S T [HS A Fa-i1 gt af af 18, Wiv-H1a faRmes
ﬁﬂi’%ﬁ?ﬁﬁﬁﬁﬁ?ﬁﬁﬁlm:m?qﬁaﬁaﬁﬁm%waﬁ?waﬁwﬁ
T T S

W & T o faiwar a5 8 fF sivst & war R oM & amasyg a8 fasdt & vfo=ny o o fayr =8
Al g G0 B AT Pear § gl ag fAgen & ward- «off $IE W a1 aR Ut &Y 1 a0 &
d & Sard | Tedr &A1Y IR ol 8- “dl g Wi T arg IR qHng 1

FuYe TR P UG 1 T T 7Y BT IR Jagd:
T MR YRS R A} FoR 3@ T2

1. GXE 9 ufany o & forg

2. XM 9 Uy g & fog

3. 9P| gdl &3 & fow

4. IFH U 1 dteT U1 3fery

Correct Answer :-

« RGN Y yfaeiy oA & fog

26) Wi T Telt GURR IRT Bt AR & ST ¥ Yo o1 oSt # {57 ot B iR gurht & arA W [res
T FUST A T 1 &, i YREW & 5T | 95 IW AR 781 Urd1| §9 9T @ @) [ Jeed d GRad
ﬁﬁﬁﬁﬂﬂﬂ@?ﬁ%lﬁmﬂ? W TUT 3 TNT IHP AN TR UY I610 & | T g1 A I S+ ey
B3 1% 98 Be-Wed: Va1 AR &1 ISP 3R HsHM T TR $1 7 YT vt | 3 swf g9 ara o At
f& YR B9 A TeaT §, Wa-UHT 2, SHF e W PR 78 e, Jafe SR B @H-HHA $ A
TS U & | MR B agian U uR SIeR e W 7@ AT RSN R T F Hdel ) T=i @@ geedt §
3l g3 15 WA 3R SUHH 3R agAndl F1 agar a7 @1 WA JoTI 39 e a1y o fF 5a 7@ W B
FATEIT, TSUTCIT &l a9 T I A7 T8 FIe | I/ T THre # 3+t gl g af 718, Hio-ura faRTedt
a%wﬁ%émﬁﬁwwmmﬁwmm:w%mﬁaﬁﬁﬁﬁwﬁwaﬁwwaﬁsﬁuﬁﬁ
T T &

T & ARA P fawen gz § 6 vt & oran few F & arasg 9 fedt @ nfasiy a9 & Ry T8
Pl afew gAYy $3a1 € safie ae Migen & Jard- < S5 O 9 aR YS! B 31T & &
P & waTd  Tear & 1Y IR &ar 2- «<al g7 ff Tt arg IR gengi 1>

IUYad TR B UGH] Y U T WY B IR Jagd:

UR- WRY A PI-M I1d I WS Ty @ A

1. QUM & ARA Bt

2. 3TIHH 3R T BT Fgar a4 Bt

3. TGN DI ARA DI
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4, GIGY P IGAH HIA Bl

Correct Answer :-

. 3MTUHH 3R FEATH P FCaT A4 PI

27) R F vl QU IR A AR F S | Wed FI U # 5T e B ok gurht #) Are IR e
I FNUST A gH 41 &, g YRE™ & 53T € 95 S AR 81 UTd1l §9 UeHT Bl da) N Jood | e
Pt FEAnT S F1 SRR SR WY TUT 3T TRT IWS TN U UY I3 &1 TH ST A I Fa+! STty
B3 5 9% we-wems a1 R ot IpaN 3R yeH™ A SR @t ugE YfAeT w8t 39 swf g ard #it <&t
% YRS o9 | TET 8, Wial-UidT 8, SHS dg¥ W R 98 gawdl, Fafe TR S H-FHAH & ard

TS U &1 IR Y aghar Uit ox sreR e W T@ar o1 Re SR gurh & Heel #) wul @@ geedt &
Za g5 5 WY U IUWT R FEAN BT dgar 9 B WG 9371 WA Wis a1y § F o9 9% g B
AT, TSUTT T 79 F 39 A 781 A I§ o qoet § a1t ge=r &) @ 78, Wiw-ud fRed
ﬁﬁ%ﬁm IR YRE TR 9k 7@ AT Siea: STP $udl S Aok 3T o 747 3R e Bt wiust &
3T & &

We F IR F1 faua g8 ¢ @ vt & sen few oH & aravyg a8 foelt & vfasiy o9 & fayrr =&t
Hedl afer gafiafo & fayra e § sufere a8 frgen & ward- <o $1E H arE aR UL B o1 g
T & WaTe ¥ TaT & 1Y TR a1 8-t g oft I 9 IR FAnaa

JUL TR BT UGHY A1 IS Y T BT IR Ta1ga:
- YRS B SNUS! A Tuh) I Ueht 19 ISTHR & 412

1. gHTt

2. SFTER
3, W)Y

4. WEN

Correct Answer :-

. W

28) Wi #I Tall GUTRR R Ft 9% & X F P 31 Ut F Rou o1t 3 ok gurht w1 ar= WY grew
@ girad) 7 g9 e 8, fbg TR & swady A 98 39 AR 81 UTdT1 §9 g1 B Ap) §¥ Yoed A GRar
Pt Feani gl 81 SR 3R AR TUT 3T TR ST TR TR UH I3 &1 59 91 A IV gaH1 St
£ I 98 Be-pe®s a1 IR &1 IHUM MR HepM A SR 91 ugE YfieT 3w 38 $wf g5 ara ot ot
o YR o1 | 5T 8, WAI-UIdT 8, SHP U U (ARTRT AE1 Ferepal, Wi SR B WH-HHAM & A
T BT R WY B Igiar GUET TR 1R ToR W T AT RS AR GUTT F Fael ) a=f @ geea #
ga-t g5 5 WY U SUTH SR TR BT geaT A @ A SoT1 39 Tie ary ot i e 9w T B
TTIC, TSUTET Al a9 dP S A -] (0| SH T TH H Fa-i1 9G4 g ot 718, Hi-HTa faRrest
aﬁa‘fﬁ@?ﬂ? IR YREMH U AR T@A AT Sefa: STP UG} DY Ak IST & 747 3R WRerE Pt oS §
T & &

e & AR P fakivaT gg 8 6 vt & war R oM F arasg 9 el @ ufa=iy a9 & Ry T8
Pl gfew gAA0 A YT T & gafene 98 fgen & 9ara- <3 $IS I aRa TR 0SS a S
A & SiaTd ® TedT & HIY IR SaT 8- «dl g9 WY I aRg IR g1

ST TR B UgHR 19 TS T Uy H1 IR Fa123:
U - W) B Uell TR P 3us) & Y 5y s 82
1.aﬂ1ﬂﬁ€§?ﬁ _
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2. e B FUS F ST I
3, AT
4, WA ARSI Y

Correct Answer :-

. RIPIARFIRY

29) R #1 ydl GURT 3R 1 IR F 53V YR BT FuST A ¥ Ardl @ o gurtt F AR R gren
FI Zudt # g9 W 8, g e F ewaT & 98 39 UR 781 UTdTl 39 9T Bl B ¥ Yo d GRord
P FEATH Bl 21 STER 3R URY TUT 3T TRT IHP INT W WY I3 & | 3 TS A IH Fa-11 ety
B [ 98 Be-Beds A1 R B IHAM 3R HSHM # SR 1 7@ YA €t | 38 swf g9 ara &t it
o YRS T4 | T84T 8, Tal-UiaT 8, ST Te¥ W FR1=N Tl srawdl, Saie SR $ OH-$HH & A
TS U 1 WY B agiar GUTT 1R TR e W T AT [REN SR guTh & T 3 T=i ¥ geea #
zal g5 5 WY SR U SR geAmdt @1 g A @ 9a JoTI I9A i S o fF W9 7w R B
TATC, TSUTET G199 P I oA el (0| IF T JH H Fa-i1 agTHT g1 o 718, Hiw-HTd faRrest
ﬁﬁ%ﬁ”%%ﬂﬁ?@ﬁﬂlm IS SUA! Bt Aeil IoT o AT SR YREr™ B At A
T Em

W & I F fadvar g5 3 ¥ Ut & wen R 9F & aravg 98 =it & wfoxiy a3 & Ry 8
FHar gfep gAHAT § Ry s 8 safee 98 frgen & wara- <o @15 9 aRg IR NS B ST
A & AT | Tedl & |IY IR &aT 8- «dl g9 WY T aRg IR I 1>

UL TR B UG -4 U T Uy BT 3w 9aga:

- TR 37T geTay e Sy a1 &1 & 3 giar 82
1. Fgg e

PRC IS

3. &I HAT

4. S &A1

Correct Answer :-

. Ryg o

30) Wi B el GUTER TRY $t AR F ST T W &1 Fge! § 50 et 8 3R Jurht &1 ar= 9= Wera
F1 FUST A T 1 &, vy IR F FEAY T 98 IW AR T8I Urdll 3 ¥ Bl A5 R e A GRa
P} FEATH B F1 SILR 3R WY TUT 3T WRT IHS IRT WX UY I314 & | 59 g1 A I Fa- ety
Eé%agq;—e-wawﬁﬁaﬁmﬁeﬁ?uwﬁﬁwﬁugaqﬁmﬁﬁlaﬁémfsﬂmaﬁeﬁ
W%ﬂﬁw%wﬂm%m%ﬁwﬁmﬂwﬁmmﬁ?waﬁwﬁmﬁamﬁ
gU &1 WY 3 agfea Quilt @ sreR o oft TEan 311 GReM ok uitt & Heul @) Tuf @ gee o
sﬁgﬁﬁfﬂﬁaﬁmaﬁvmmmﬁ%ﬂﬁwﬁaﬁalwﬁwmﬁﬂﬁiwwqﬁaﬁ
FAT, TSUTT e} a9 P I o Tl Fcmm | I/ a9 Tuet & g+t geanit 8 & 78, Wis-ua faRredt
aﬁﬁ%@ﬂ?ﬁﬁwwmwﬂm|m:mwwﬁaﬁﬁaﬁmﬁwaﬁzmaﬁgﬂu;ﬁﬁ
ST &M S

TRerd & | B fazivar g8 ®  Siut & war fRE oM & arasig a8 et @ ufamiy @9 § fRiyr =78
BT gfewp G0 § RAYTH HdT & SHi 98 FIga & Hare- ol I | aRg 9 SISt I 31T & &
A & waTd | gedr & |IY IR ST g- “dl g9 Y T aRg IR g1

JUIE TR BT UGHT A4 IS T T HT 3R a13:
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T=H- T e &1 Sfa e gt Apar g2

1. GHIH BT U
2. RGN Bl GgGUdl

3. YA B A
4. TR 1 wfermey

Correct Answer :-

. RGN DI FEEI]

Topic:- Social Science (SSC)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This
was quoted by: / "T® uf¥gieHT Ul w0 § te Ieaqef nfafafy gt 8, St v wmiire araravor &
3T et B 1" I T gRT Igyd T T s

1. William Kilpatrick / faferm feaifes
2. John Dewey / Sii9 Stdt

3. John V. Michael / &1 d. AIgeha

4. Stevenson / ¥ia-=-

Correct Answer =

+ William Kilpatrick / faferms fafes

2) Constructivism as new philosophical approach for curriculum designing focuses on: [ UToUshH

fEemsf & firg =1¢ qRif® =@ & wU H weaAEe W T e Hear g
1. Intrinsic motivation of the subject/ faw @t erfalke sifimRon
2. Delayed punitive mechanism / fqciferd ST word!

3. Extrinsic motivation of the learner/ ﬁi&ﬂ?ﬁ 3 dlel SR

4. Immediate reinforcements / dehTc] ﬁEGﬁlmiul

Correct Answer :-

« Intrinsic motivation of the subject/ fauT &1 3fidke S{foRT

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing
students an authentic, real-world context for learning? / @I 9T 3iftRMH, 3ia:fawa g 3ix afpy,
BE-Fe R1a AR R e FHfed Fvar g, s ol $1 Jie & g v umiite, arafas givar &
W wer forar srar 82

1. Experimental / Py
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2. Curriculum Based / UT3dspH TR
3. Project Based / GRS UR 3refed
4. Rote Learning / 3¢ ST

Correct Answer :-

+ Project Based / RIS TR 31eiRa

4) Which among the following is an example for institutional credit? / fAafaf@a # e w1
TRITTT UG & T Uw I2revor 82

1. Moneylenders / HIgPR
2. Primary Agricultural Credit Societies / WQ’T&W BIEIGR)

3. Traders / STURY
4, Landlords / \_ﬂﬂaﬂ'

Correct Answer :-

 Primary Agricultural Credit Societies / s Q’Tﬁff e iR

5) \g’;\ich is not a quality of an evaluation tool? / e d Q@ LG B?ﬂ'lﬂﬂ IUBHT B TH urad1
Tl

1. Validity / Q&faT

2, Practicability / BEIEEFR’_CI’FIT
3. Objectivity / FTarr
4. Subjectivity / fdquREGAl

Correct Answer ;-

+ Subjectivity / AR
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Match the following

1. Peona Pact A, 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
3. Simon Commission C.1932
4. Gandhi Irwin Pact D.1927

[ FeTRTET & e i

1, g TAESar A 1925
2, T Fad Hae O | B, 1931
3, TsHN FHR C. 1932
4, sieh-XiEw Fsiar | D, 1927

1. 1-A,2-B,3-C,4-D
2, 1-C2.A3-DAB
3. 1-C,2-A,3-B,4-D
4. 1-D,2-C,3-B,4-A
Correct Answer :~-
e 1-C,2-A,3-D,4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of

the following? / 31 $1 TgrI & Tae Heafer R dfaw geaty 18 Ay & § a1 sgand €2
1. Lava/dmar
2. Locolith / Apiferd

3. Plutonic rock / WCIAd TgH
4, Dyke and Sill / 8T8 3R fi@

Correct Answer :-
« Dyke and Sill / ST3% 3R Ra

8) The method which provides a certain degree of reality and concreteness to a learning

situa%ion is known as: / ag faftr St st fRUfY #t arafawar iR WY@ Ye™ # ! 8, 39 = @er
EIGINH

1. Lecture-Discussion / rRIH-I=]

2. Field trips / & wieH

3. Dramatization / FTCHII TUR

Page- 220



4. Demonstration / TSR

Correct Answer :-

« Field trips / &F Tde

9) Who among the following started the Home Rule Movement in India? / YRd A gH &

igra frafafaa o 3 feae gRT IRE fovar T 92
1. Annie Besant / THI s
2. B.R.Ambedkar / &1, 3R, 3fdSH

3. Jawaharlal Nehru / SIdIg¥ cflc] :IEN‘\

4. Subhas Chandra Bose / Wﬂ?{@hﬂ

Correct Answer :-

» Annie Besant / T dde

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? / CaE|

wRIs Ui Wid U o Adrs & W6t uRaR A areg® wEd A7
1. Meerabai /"ﬂ?lﬁ'l'&c

2. Chaitanya / ERR]

3. Tukaram / JPRMH
4. Andal / 3[Gd

Correct Answer :-

« Meerabai / 'lﬂ?lﬁlé

11) Who was the first surveyor of archaeological Survey of India during British rule? /

fofe=r =T & SR YR qRIa@ TdEI01 ST Ugam Haeurbd! Bi- Y12
1. Alexander Cunningham / Aol BIgH

2. James prince / S U

3. James Fergusson / SR W’{t\‘:l:l

4. Dayanand Sahni / GOTHG '\‘:ﬂB:ﬂ

Correct Answer -

+ Alexander Cunningham / TSR HieY
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12) Who founded the Swaraj Party in 19232 / 1923 T YaRTSl TS| 1 TITTT f5a= 912
1. Motilal Nehru and C. R. Das / Fldll ATd 7%= 3R I, 3R, T
2. Gandhiji and Jawahar Lal Nehru / Tisfiel 8k SdigX did %6?3
3. Subhash Chandra Bose / gHTY T% CIR|
4. Sarojini Naidu / IRISH! ARG
| Cbrrectkl;swer -
. Motilal Nehru and C. R. Das / Al AT ﬁ’fﬂa Sﬁ?Fﬁ 3. g9

13) Who is the exponent of Jurisprudential Inquiry Model? / faR=I Td¢ft S Afsa &

TfuTE® I 87

1. Bill Gordon / fa@ e

2. Richer Suchman / ER a8+
3. James Shaver / S RIaR

4. Hilda Taba / fgesT drel

Correct Answer :-

+ James Shaver / O QAR

14) Who was first elected to the British House of Commons? fﬁrﬁfarsm AP BT P

fore e uga f5 g I e

1. Jawahar Lal Nehru / STaTeR @1 48
2. Mahatma Gandhi / HBW:ITTH‘E?[

3. M. G. Ranade / Q'FfTrﬁ IAS

4, Dadabhai Naroji / W"-ﬂé élﬂ\_rﬂ

Correct Answer :=-

« Dadabhai Naroji / GTGTHTS =RIeit

15) Capital of Ancient kingdom of Avanti was: / 3t & U JTHTSa BT IS At
1. Vallabhi / deit

2. Pataliputra / OTC e
3. Vidisa / TafGam

Page- 222



4. Uijain / 350

Correct Answer :-

« Ujjain / oo

16) For what action in Freedom Movement is Usha Mchta known? / Saa=dl GI'IE]?FI' Hfey
PRI & g IuT AgdT ST STl 82

1. Participating in Round Table Conference / THaHe ¥RIeH # T o & faw

2. Running a secret Radio during Quit India Movement / HRd BIS! 3ialeH & M U T JSal
EGIE]

3. Captain in Azad Hind Fauz / 3% fgg WIS & W 894 & fag
4. Captain in Indian National Army / HRd IS 1 H Sl

Correct Answer :-

« Running a secret Radio during Quit India Movement / YRd SISl TG & SR TP T feal

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? /

3AEHGTR &1 Wi Afgdr I gig Sl A T a=1 & fAarw dsE ash?
1. Mughal / H7Tci

2. Adilshahis of Bijapur / SISO & ST a=ig!

3. Afghan / 3T+

4. Nizamshahi of Hyderabad / §GRTSTG & [AoTHITE!
Correct Answer :=

« Mughal / HITcT

18) The coin Rupiya was first issued which ruler? / ¥UdT RrabT 9 Ugd [ I A
IR} faar Ut

1. Humayun / ETITQ;

2. Babur / §l6lX

3. Sher Shah / R 98
4, Akbar / 3{haX

Correct Answer :-

« Sher Shah /R M8
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19) The cardinal objective of setting up a Social Science laboratory in the school is to: /

e & armfore fasm waRT=mer =it H9 S1 Ige S8R9 §:

1. Preserve and transmit the art and artifacts to the future generations / &l 3R Rreapfaal a1
IRI&rd AT 3R Higsy o1 difeal ao ugar

2. Create an artificial environment for recreational activities of students / BT &I AARSIH

foparemardl & T U $EH qraraRor a1

3. Extend additional space for group activities and project works fﬂ%m AR ufdsmT
1 & ferg Stfaferd R &1

4, Translate the theoretical postulates in to concrete experiences / Jgifad YRS BT 3
3fgHal # S(de T

Correct Answer :-

» Translate the theoretical postulates in to concrete experiences / ﬁ?ﬁ"lﬁa? SUYRUTST BT 319
3yl § 3fgarg BT

20) Two or more people learn or attempting to learn something together is known as: / arar

AT T T ATY $5 Wad § a1 HHE= ST T Hd 8, 39 (1 $Hgl 91dl 6
1. Learning by observation / 3fadies gRI {fH

2. Learning by doing / frargce Sform

3. Collaborative learning / Giifed 38RTH

4. Team Teaching / Gaig fRr&for

Correct Answer :-
« Collaborative learning / Sfe® 3MTH

21) Which one of the following is not included as a function of Summative Evaluation? /

FPrafifad & @ Fr aee Yo &t o & 0 § i T8 82
1. Promoting / EISIEE

2. Selecting / T

3. Diagnosing / f9gH

4, Crediting / 99 &1

Correct Answer :-

- Diagnosing / gH
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22) Which of the following is not a basic principle of Project method? / Frafef@a o & =r
ufearerr faft &1 oo gu Rigia 78 82

1. Validity / deT

2. Activity / TTfafafy
3. Utility / SUTITAT
4, Purpose / 3=

Correct Answer :-

« Validity / J&aT

23) Which of the following is the process of pinpointing the learning difficulty of a learner of
a learned material and to suggest remedial measures? / fafafaad @ Wi‘ﬁ@ﬁﬁﬂ?ﬂ G
Rrgndf ot W ' IS B1HE var T MR ITARTHS IUT HT Y1 S $t ufehar g2

1. Projective technique / PREIGEEICY

2. Norm-referenced testing / HIP Haftfa mieor
3. Diagnostic testing / arfAe® alemn

4. Criterion-referenced testing / AFGS Sefifa fafer

Correct Answer :-

+ Diagnostic testing / e adiemr

24) Which of following steps is not involved in Inquiry Method? / qg&wﬁfﬁﬁaﬁ#m
TRT I T 87

1. Encounter with the problem / THIT BT JTHAT BT

2. Formulating an explanation / T TISI0T TOR SR

3. Data collection and verification / I U8 3R I

4. Classification and consensus / G20l Gﬁ? agwfd

Correct Answer :-

« Classification and consensus / RO 3R FaGHATA

25) Which among the following is not a technique for ensuring reliability of a tool? /

Frafafaa 4 @« fayaigar 1 e s ot aeiie 98 82
1. Odd-even method / 99 fauy fafdy
2. Split-half method / fqyaT fafd (Ruee-giw Avs)
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3. Test-retest method / TRI&TOT G- URI&T0T fafey
4. Criterion-referenced method / ATGS Teid fafd (mﬁuq-ﬁqﬁ?% ﬁll_s')

Correct Answer -

« Criterion-referenced method / HMG.S T fAfT (FRcRT-Ripits 7YS)

26) Assessing social relationship among members in a social group is termed as:

/ T QTHITS THE § TSl & e Arfore e & snead &1 3 Her rar &:
1. Projective technique / W&t da-id

2. Case study / ¥ &l

3. Sociometry / THTSIHI

4. Observation / S{d@IH=

Correct Answer :-

« Sociometry / THTSITHTT

27) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 FURad

THd T IUTG (SieTdh) T I T R fora=t ufa=ra ur?
1. 43%
2.31%
3.29%

4. 18%

¢ 29%

28) Gandhian Plan was advocated by WAIDIGI Gk e I 0|
BEDE & gRT foram T A

1. M. N. Roy / AFASATY I

2. Jayaprakash Narayan / STIUHIR] TRTIU]

3. Narayan Agarwal / TR0 AT

4. Jawaharlal Nehru / STATgRATd 16

Correct Answer :-

» Narayan Agarwal / TRIYUT {Ydic]
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29) National Forest Commission was established in the year . !TI'EWTF[ ST &1 TATYAT
CL Hgs A

1. 2003
2. 2005
3. 2002
4. 2004
Correct Answer -
« 2003

30) In which city was the first Automated Teller Machine (ATM) installed? / YYH

TSRS Ta” A=A (TaaTferd o T=it+) (Teiuw) fra wres ® wurfa & 1€ i
1. Chennai / IS

2. Delhi / faeet

3. Calcutta / Hebl

4, Mumbai / Hﬁé
Correct Answer :-

» Mumbai / Hﬁg

31) Which of the following factor is not the geography factors influencing population distribution? /

Frafafaa & § $9-91 SRS T8 fAavr 1 guifad B3 arar Yid SRS 78 82
1. Soil /7T

2. Water / i)

3. Climate / Sleidrg
4, Industrialization / 3efieur

Correct Answer :-

¢ Industrialization [ K GIMIER

32) FAO stands for /TEEANHTIYUfEY__ gl

1. Food Aid Organisation / 7S US T eaR AHEORA

2. Food and Agricultural Organisation / [0S = Qﬁlﬁ'{ @rﬂfh'l'ﬁvf@?ﬁ

3. Federation for Agricultural Output / e B Tfihee 3113 cqc

4. Federation for Agricultural Off take / TSR BIY Q‘Jﬁw 3P ¢h
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Correct Answer :-

+ Food and Agricultural Organisation / B8 U8 WideeR HTHIZORMA

33) politics is based on the idea that religion is the principal basis of social community. /

_ rerifa 3w R wR enutia 8 s ot | wHer &1 U@ YR B
1. Regional / &34

2. Communal / SV

3. Local / RIMIT

4. Social / ATHTTR

Correct Answer :-

+ Communal / FUCIR®

34) Who said that, ‘As far as the nature of legislature is concerned it is such that there are
restrictions only so far as procedure is concerned. But in substance there are no restrictions, no
limitations on the sovereignty of the legislature or parliament.’ /ﬁi‘lﬁ Wﬁi 'GIBTW ICEIEED
P uPpfa &1 HaY g, @ ufady Faa ufeear & T A §, afea arafaewar & fawfeT ar v #it
TYYT R HIS ufady 781 8, Fig Hane 78 g1

1. Acharya Kripalani / S m

2. Purnima Banerjee / Qﬁﬁ:ﬂ cEmiE

3. N.V.Gadgil / T1.d1. TSR
4. Durgabai Deshmukh / GTTETS GRIEE

Correct Answer :-

+ N.V.Gadgil / TT.dl.ITSIe

35) Who can confer civil and military awards on individuals for their services and achievements? /

Farait 3R Iuateml F fore aafeaat &) ArR® iR 0 REPR D19 USH B THdT 82
1. President / TI'E'EIﬁT

2. Prime Minister / TTHAT
3. Cabinet Minister / Piee w@at
4. Chief Justice / T <RATHRT

Correct Answer :-

» President / Tl'g'qﬁ[
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36) Who was the first social scientist to make a systematic study of bureaucracy and described it as

rational and the most efficient form of organisation? / ﬁWQI'I'Eﬁ BT AU YT B a1 3%
T THIG 3R WS T ITH P ©U T Tl Ugd ATHTD dqT=e HiF Az

1. Karl Marx / Te ATSY
2. F. W. Taylor / U%. 8&Y, ¢TR

3. F. W. Riggs / U0h. S, g
4. Max Weber / B R

Correct Answer :-

o Max Weber / T IR

37) Who was the first Chairman of Planning Commission of independent India? / ¥4 HRd cg

IS SR & Ugel A& I A?

1, Morarji Desai /Iﬂ?ﬂﬁﬁm

2. Lal Bahadur Shastri / TTel 98TgR Rt

3. Pandit Jawaharlal Nehru / Uf$d SaTgRard Ag®
4. Dr. Rajendra Prasad / B oIS TG

Correct Answer :-

« Pandit Jawaharlal Nehru / UfSd STaTgRale 48

38) Who is the founder of Bhartiya Jana Sangh? / YR S HY & 'ﬂwrwﬁq%"
1. Gopal Krishna Gokhale / TUTd Cul T

2. Shivaram Rajguru / ﬁ'ﬁﬂ'ﬂ:{w

3. Shyam Prasad Mukherjee / WWW

4, Sukhdev Thapar / 13?@1%3 YR

39) Who will officiate as President till the new President is elected in case the office falls vacant and

the Vice-President is not available? / JTFUfd ST P R g4 31 IWTPURT P SUTTsY g1 514
ot fRufar 3 71¢ wrgufa & fraffea e o Tgufa & o d o9 o1l e

1. President Secretary / JIPUfd Afed
2. Prime Minister / YTHA
3. Executive Secretary / PBR Tid
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4, Chief Justice / H@W‘éﬁﬂ

Correct Answer :=-

« Chief Justice / T I

40) The monetary assistance provided by the government for encouraging the production in an

economy ./ S a1 § IS DI UIeHTed B & fold TRPR g1 &1 T Hifssd
WEEar____ gl

1. Tariffs / U<Ie (RW)

2. Subsidy / JASTHERIAT (AeHSl)
3. Quotas / BITT

4. Embargo / TR UfdaY

Correct Answer :-

. Subsidy / JTSRIGTAdI (AToaS1)

41) When was the National Rural Livelihood Mission launched? / "’T@'q o AT fmre o
= fopam T ar?

1. 2001
2. 2010
3. 2002

4, 2011

Correct Answer :-

42) “Explain the concept of Forests” — this question helps us to know the achievement of which of the

following objectives? / "G} B AU 1 ARSI H 1" — g U4 &4 fraferrad 4 fra sea
P Iuaf ST & Heg HIaT 82

1. Skill / I
2. Creating / oI AT
3. Analysis / fazeryor

4., Understanding / JHH

Correct Answer :-

¢ Understanding / IJHL
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43) The Golden Age of the Guptas is said to be the reign of which ruler among the following? /

Frafafaa ¥ 3 g ITe & IaeeTd B ) BT vl QIS8T ST 82
1. Skandagupta / Th I

2. Chandragupta Il / Tt I
3. Chandragupta | / T |

4. Kumaragupta / PHRI

Correct Answer :-

« Chandragupta Il / &7t I

44) Who was the founder of the Holkar Dynasty? / 8d®R ISR & HRITIH HIF U?
1. Bana Misra / STOT {3

2. Malhar Rao /[ HeeR ¥Id

3. Baji Rao / &@Toit Id

4. Madhav Peshwa / HTYd U=mEr

Correct Answer :-
» Malhar Rao /[ HegR X(d

45) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India
and Pakistan is located near which among the following? / 110 frardiey ddt arRafa® A19s iR
TS (TSdee), S URA 3R TifewaE & S wifee ge1 ve1 &, Frafifaa § 3 foas Prec Ra

1, Shakshgam / RM&ATH

2. Siachen Glacier / Ryt @R
3. Sir Creek / X hI

4. Srinagar / TR

Correct Answer :-

« Siachen Glacier / RraTf fRR

46) Which of the following organisations brings out independent reports on the violation of human rights

all over the world? / FrEfAIfET & & Hi9-a1 W16+ O gf~an & amafReRY & Seeey W Woa
o arar 82

1. UNESCO / g%}
2. Amnesty International KQ'F:]ROF STRERIETY
3. International Humanitarian Law / W@’q HHIT B
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4, UNDP / guASIUl
Correct Answer :-

« Amnesty International / T SeHYAd

47) Which of the following is not a type of Urban Local Government? /ﬁaﬁrﬁﬁﬁﬁaﬁw?ﬁw
TSR B T WG W 781 82

1. Zilla Parishad / foref uf¥wg

2. Notified Area Committee / \Hﬁl’ﬂﬁﬁ &t et
3. Cantonment Board / BTd- 818

4. Town Area Committee / I a7 afefa

Correct Answer :-

« Zilla Parishad / foren uftug

48) External criticism is applied in: / STET SM@EAT__ ® @0 &1 wrdl g1
1. Experimental research / PG 3HYH

2. Quasi experimental research / 31¢f TS SEUH

3. Historical research / UfcIgTRIep SI{HYM

4, Phenomenological research / eI $gHU

Correct Aéswer -

« Historical research / TfAgTRI® 44

49) What is not true about Hasan Gangu Bahmani? / mmm% arx # @r T T8l

®?

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole
of Deccan up to the river Krishna with its capital at Gulbarga. / 39hT I 3Rd IR Y
ST 1 WIS} ah ot T, o Teremf & o=t Tote & Ty oo et ab T
G Tfeferd ol

2. He was a Turkish officer of Devagiri. / d ARl & TP gl SAIHR] A

3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. JWTHW,W
U & GRS U

4, He founded the empire in 1437,/ 37811 1437 H AHTI P RITTAT 1 |

Correct Answer :-
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« He founded the empire in 1437. / 3781 1437 T HIHSY &1 RITIT B |

50) Which among the following organization is the best example of an agreement between

Oligopolists? / FrafafEd # 9 S19-91 e Seufier (Gﬁmﬁlﬂ) Fd= TP
T T ST IGTERT 372

1. GATT / Siiecret
2. OPEC / 3t

3. WTO / S&egelaft
4. WEF / SsUh

Correct Answer :-

« OPEC / 3NUiS

51) Which one of the following ocean currents does not occur in the Atlantic Ocean? /

fFafafaT & @ - AeRITR YR sredifed AR | 76! gial 82
1. Peru current / U= YRT

2. Canary current / B-R] URT

3. Gulf stream / TTeth 10

4. Brazil current / SITSTel YRT

Correct Answer :-

« Peru current / RS YRT

52) Tn which State of India is the Ranthambore Tiger Reserve located? / TUTU‘I-ﬁTE'I?{'W

frord yRa & P I A fRE &2
1. Uttar Pradesh / 9TR UG

2. Madhya Pradesh / A0 U&

3. Himachal Pradesh / fgTad Uga

4. Rajasthan / XTSTR[T

Correct Answer :-

+ Rajasthan / ISR

53) CANCELLED
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Which is associated with Sufi Saints? / DI TT gHI Ial J Jalerd 32
1, Sangha / g

2. Mandapa / Heur

3. Synagogue / BB KIS

4. Kanjah / &gl

Correct Answer :-

« Kanjah / B3I

54) When is 'National Education Day' celebrated in educational institutions at all Ievels across the

country? i Wﬁmﬂﬁﬁmﬁﬁdﬂ;mﬁ 'Tf@'qm&"ﬁ?\q' Wm\?ﬁl%‘?
1. 15" September / 15 FIam@R

2. 121" October/ 12 3{FEER

3. 141 November / 14 daR

4. 11" November / 11 TdaR

Correct Answer :-

« 11" November/ 11 TdaR

55) Which among the following is a wildlife trade monitoring network? / Fafaf@a # @ w9 a1
TP I5id TR R Aeas 82

1. TRAFFIC / ¢fthes
2. UN-HABITAT / gGi-gdlice

3. PETA / Uel

4, DISS /T84

Correct Answer :-
« TRAFFIC / Sfhep

56) Which year British transferred the capital of India from Calcutta to Delhi? / fPa ad A fafexr s
YR &1 AU Fasm 4 et wurmaia & &t 2

1. 1912
2. 1930

3.1911
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4. 1800

Correct Answer :-

« 1911

57) The pointer or arrow of the magnetized needle of a compass indicates which among the

following? / U [GRIT® (HIRT) &1 Jafrd g8 BT ga a1 9k fHafafad 3 3 e
g Hrar 82

1. Geomagnetic North Pole / tﬁaﬁu F od
2. Geographic North Pole / e ST gd
3. Magnetic North Pole / b1 TR ¢d

4. Magnetic South Pole / Gaob1d GI&Ult ¢fd

Correct Answer :-

« Magnetic North Pole / J1g 3Tl Yd

58) Which type of weathering is caused by Ice Crystal growth? / i85 ¥4l @1 dgfs (3msw
fopeea 1Y) & fawra & SRl frd UBR ST 3Uaa gidr g2

1. Cavernous Weathering / Eepne et
2. Biological Weathering / <o eed
3. Chemical Weathering / TSI 3{0&R™

4, Physical Weathering / ifae 3me™

Correct Answer :-
« Physical Weathering / Hifde saerm

59) Bessemer process has been used in which of the following industries? / TR ufehar &1

U Fafafe & | fow e o far mar g2
1, Fertilizers/GﬂTCﬁ

2. Aluminum / Qthﬂﬁm
3. Steel / I

4, Coal /ﬁqﬁﬂ

Correct Answer :-

+ Steel /I
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60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the

following national park/bird sanctuaries? / msﬁﬁmr aFl, TP quira warit velt Fafafea g 9
fra TP Se/ueh srvaRvY o fFrRfi smiges 82

1. Vedanthangal bird sanctuary / daITe Ul SRy

2. Keoladeo national park / Saeiiad IS JeH
3. Ranganathittu bird sanctuary / 3 I:{IIQE\Q Ueft Ry

4. Sultanpur bird sanctuary / §ealgR G&fl SHIRTY

Correct Answer :-

» Keoladeo national park / aeicd TP S
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